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01T & 02T

TELUGU (FIRST LANGUAGE)
Ôî\T>·T (ç|�<�̧eT uó²w�)

eÖ~] ç|�Xø� |�çÔáeTT -2024-25

(Model Question Paper - 1)

  ÔásÁ>·Ü: 10     >·]w�÷ eÖsÁTØ\T: 100        d�eTjáT+: 3 >·+. 15 �öö

$<�«sÁT�\Å£� d�Ö#áq\T:

1. ç|�Xø�|�çÔá+ýË eTÖ&�T $uó²>±\T+{²sTT

2. ç|�Xø�|�çÔáeTT #á<�TeÚ¿Ãe&��¿ì 15 �. \T, Èy��T\T s�jáT&��¿ì 3 >·+öö\T d�eTjáT+ �+³T+~.

3. ç|�Xø�\��+{ì¿ì d�eÖ<ó�H�\T d�eÖ<ó�q |�çÔá+ýËHû s�jáÖ*.

4. d�eÖ<ó�H�\T >·T+ç&�+>±, d�Îw�¼+>± s�jáÖ*.

$uó²>·+ - 1

I. ney�V�²q- ç|�Üd�Î+<�q  (32eÖsÁTØ\T)

1. ¿ì+~ |�]ºÔá |�<�«\ýË ÿ¿£ <��� #á~$, �ºÌq ç|�Xø�\Å£� Èy��T\T s�jáT+&�. 8eÖ

V¾²ÔáT\T V¾²Ô�V¾²ÔáT\T d�<�

V¾²ÔáT\TqTHîÕ s�EHî&�\ �³T çÜ$<ó�eTTqH�

¿ì�Ü qqT#ásÁT \T+<�TsÁT d�+

ÔáÔáeTTH� eTiì y�]" <îýÉÎ<�H� $qTeTq|��Ö!

ç|�Xø�\T:

n) s�E <�>·ZsÁ �+&û nqT#ásÁT\T m�� sÁ¿±\T>± �+{²sÁT?

�) V¾²Ô�V¾²ÔáT\ d�Çuó²e+ mý²+{ì~?

�) s�E yûT\TqT ¿ÃsÁ� nqT#ásÁT\HûeT+{²sÁT?

�) �|Õ |�<�«+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

(ýñ<�)

uó�Ö$TýËq �T³T¼ uó�ÖkÍsÁyîT\¢qT

ÔáqTeÚýËq �T³T¼ ÔáÔáïÇyîT\¢

çXøeTeTTýËq �T³T¼ d�sÁÇ+�T Ô�HûqT

$XøÇ<ó�_ós�eT $qTsÁyûeT!

ç|�Xø�\T:

�) uó�ÖkÍsÁ+ m¿£Ø&� |�Ú&�TÔáT+~?

}) ÔáÔáïÇ+ m¿£Ø&� |�Ú&�TÔáT+~?

�TT) n��+{ì¿¡ eTÖ\yîT®q~ @~?

�T¶) �|Õ |�<�«+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.
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2. ¿ì+~ |�]ºÔá >·<�«�� #á~$, �ºÌq ç|�Xø�\Å£� Èy��T\T s�jáT+&�. 8eÖ

ÿ¿£ sÃEq bÍsÄ�\T #î|�Î&�+ nsTTbþjáÖ¿£, sTT+¿± N¿£{ì |�&�ýñ<�T ¿£<�! n� u¤eT�\T yîjáT«eTH��sÁT.

HûqT $eÖq+ u¤eT�, �\T¢ u¤eT�, ¿ìsÁd�H�sTT\T �T&�¦B|�+ u¤eÖ� yûkÍqT. jáTT<�Æ+ sÃE\T, ÔásÁ#áT>±

�¿±Xø+ýË ¿±d�ï ¿ì+<��+º $eÖH�\T m>·TsÁTÔáT+&�>± #áÖd¾q+<�Te\¢HÃ @yîÖ! n~ yûkÍqT. eÖ ç|�sTTyû³T

#î�|Î nsÁT>·T m<�TsÁT>± sÃ&�T¦MT<� ¿ìsÁd�H�sTT\T M~óB|�+ eÚ+~. n|�ÚÎ&û ÿ¿±jáTq ºq��#îÌqÔÃ eºÌ �T&�¦

B|�+ýË ¿ìsÁd�H�sTT\T yûd¾ yîÞøß&�+ #áÖd¾q+<�Te\¢ eTqd�TýË � sÁÖ|�+ yîT~* <��u¤eT� yûkÍqT. �

sÃEýË¢ eÖePÞËß �|<�Ý�|<�Ý sÃ&�¢ýË eÖçÔáyûT ¿£Âs+³T BbÍ\T �+&û$. $T>·Ô� M<�̧T\��{Ë¢ ¿ìsÁd�H�sTT\T

BbÍýñ.

ç|�Xø�\T:

n) bÍsÄ�\T #î|�Î&�+ nsTTbþjáÖ¿£ @+ #ûjáTeTH��sÁT?

�) sÁ#ásTTÔá @@ u¤eT�\T yûXæsÁT?

�) �sÃEýË¢ ¿£Âs+³T BbÍ\T m¿£Ø&� �+&û$?

�) �|Õ >·<�«+ �<ó�sÁ+>± @<îÕq ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

3. s�eÖjáTD+ qT+&� �ºÌq ¿ì+~ y�¿±«\T @jûT ¿±+&�\Å£� #î+~qyÃ y�¿£«sÁÖ|�+ýË s�jáT+&�. 8eÖ

n) y�* d�Tç^eÚ\ bþsÁT rçe+>± kÍ>·TÔáTq�~.

�) eT�>±�� çbÍD+ÔÃ |�³T¼¿Ãy�\� XøÔá$<ó�ý² ç|�jáTÜ�+#�&�T ls�eTT&�T.

�) ços�eT |�{²¼_ó�w¿£+ ¿Ãd�+ njîÖ<ó�« ÔáqqT Ô�qT n\+¿£]+#áTÅ£�+~.

�) çbÍD Ô�«>±�¿ì d¾<�Æ|�&�¦ dÓÔáÅ£� Xø�uó�XøÅ£�H�\T ÔÃ#�sTT.

4. ¿ì+~ n|�]ºÔá >·<�«eTTqT #á~$, �ºÌq ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.  8eÖ

ç|�¿£�ÜýË, |�s�«esÁD+ýË d�eTÔáT\«Ôá ¿=sÁe&�q|�ÚÎ&�T ç|�¿£�Ü yîÕ|�̄ Ô�«\T d�+uó�$kÍïsTT. uó�Ö¿£+|�+,

ÔáTb�ÍqT, esÁ<�\T, d�TH�MT yîTT<�ýÉÕq  yîÕ|�̄ Ô�«\T eÖqeÚ\T �jáT+çÜ+#á&��¿ì kÍ<ó�«+¿±�$. ç|�|�+#áy�«|�ï+>±

$$<ó� <ûXæ\T, nHû¿£ ç|�¿£�Ü yîÕ|�̄ Ô�«\ÔÃ $<ó�Ç+kÍ�¿ì >·Ts�ÔáTH��sTT. rçeyîT®q �d¾ï, çbÍD qcÍ¼\T

ÈsÁT>·TÔáTH��sTT. ¿=�� sÁ¿±\ yîÕ|�̄ Ô�«\qT m<�Ts=Øq&��¿ì eÖqe #îÕÔáq«+ ned�sÁ+. |�Úqs�y�d� |�qT\T,

ç|�<̧�eT º¿ìÔáà, �V�äsÁ+, �³¼\T, eT+<�T\T, sÁ¿£�D #ásÁ«\T, yîTT<�ýÉÕq n+Xæ\ >·T]+º ç|�È\T ÔáÐq+Ôá

ne>±V�²q ¿£*ÐeÚ+&�*.

ç|�Xø�\T:

n) |�s�«esÁD+ýË d�eTÔáT\«Ôá ¿=sÁe&�q|�ÚÎ&�T @$T @sÁÎ&�Ô�sTT?

�) eÖqeÚ\T �jáT+çÜ+#á&��¿ì M\T¿±� yîÕ|�̄ Ô�«\T @$?

�) ç|�¿£�ÜyîÕ|�̄ Ô�«\  e\¢ m³Te+{ì qcÍ¼\T ¿£\T>·TÔ�sTT?

�) �|Õ >·<�«+ �<ó�sÁ+>± @<îÕq ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.
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$uó²>·+ - 2

II. e«¿¡ï¿£sÁD ` d��ÈH�Ôá�¿£Ôá (36 eÖsÁTØ\T)

¿ì+~ ç|�Xø�\Å£� H�\TÂ>Õ<�T y�¿±«\ýË d�eÖ<ó�H�\T s�jáT+&�.                                        3x4R12eÖ

5. »»È*jáTH� y�ý²u²>´µµ bÍsÄÁ«uó²>· ¿£$jî®Tq »�eTsY �©cÍµ >·T]+º s�jáT+&�.

6. »»¿£<̧��¿£µµ ç|�ç¿ìjáT >·T]+º s�jáT+&�.

7. »»uó�sÁÔáT&�Tµµ bÍçÔá d�Çuó²e+ s�jáT+&�.

� ¿ì+~ ç|�Xø�\Å£� 8 qT+&� 10 y�¿±«\ýË d�eÖ<ó�H�\T s�jáT+&�.                                 3x8R24eÖ

8. »»ç|�Ôá«¿£�<îÕy�\Tµµ bÍsÄÁ+ �<ó�sÁ+>± <ó�sÁ�y�«<ó�T� e«¿ìïÔ�Ç�� $Xâ¢w¾+#á+&�.

                                                    (ýñ<�)

»»ç|�¿£�Ü d�+<ûXø+µµ bÍsÄÁ«uó²>· kÍs�+Xæ�� MT kõ+ÔáeÖ³ýË¢ s�jáT+&�.

9. s�eÖjáTD çbÍXøkÍï«�� >·T]+º s�jáT+&�.

                                                      (ýñ<�)

»»�dÔáTeÚ �s��D+µµ >·T]+º s�jáT+&�.

10. jáTT<�Æ\ e\q e#ûÌ qcÍ¼\qT, Xæ+Ü e\q #ûÅ£L¹s ç|�jîÖÈH�\qT |�{ì¼¿£ sÁÖ|�+ýË s�jáT+&�.

                                                   (ýñ<�)

MT bÍsÄÁXæ\ $<�«]�¿ì e¿£ï�ÔáÇ bþ{¡ýË �ý²¢kÍ�sTT �V�QeTÜ eºÌ+~. nÔá�� n_óq+~d�Öï n_óq+<�q

|�çÔá+ s�jáT+&�.
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$uó²>·+ - 3

III. uó²cÍ+Xæ\T (32 eÖsÁTØ\T)

¿ì+~ ç|�Xø�\Å£� d�Öº+ºq $<ó�+>± Èy��T\T s�jáT+&�.                                     9x2R18eÖ

11. d�T<�r qÖÔáq eT<�H�

eT<�H�>·ÔáTsÁ+>· |�PsÁ�eTDìeTjáT d�<�H�!

�|Õ  y�¿£«+ýË >·\ n\+¿±s��� >·T]ï+º y�¿£« sÁÖ|�+ýË s�jáT+&�. 2 eÖ

12. ç|�ÞøjáT|�jîÖ<�eTTýÙ >·T]jáTT uó�+Ð |��sÁ+Ð |¾sÁ+Ð>·T+&�¢ >·T+

(>·TsÁT\|��TTeÚ\T >·T]ï+º >·D$uó�Èq #ûd¾, |�<�«+�|sÁT s�jáT+&�) 2 eÖ

13. n) #á¿£Ø� y�¹¿Ø eT�w¾¿ì uó�Öw�D+

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq nsÁ�+ s�jáT+&�. 2 eÖ

�)  ePw�¼+ eºÌq|�Ú&�T yîÕ<�T«&�� ¿£\y�*.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq ns���� >·T]ï+#á+&�.

n) >·T+&îH=|¾Î �) <�>·TZ �) ÈÇsÁeTT �) �jáÖd�+

14. n) ¿Ã]¿£ HîsÁyûs�\+fñ ¿£w�¼|�&�*.

^Ôá̂ d¾q |�<��¿ì |�s�«jáT|�<�\T s�jáT+&�. 2 eÖ

�) ¿£w�¼J$ ÿÞø�ß e+º |��#ûkÍï&�T.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq |�s�«jáT|�<�\qT >·T]ï+#á+&�.

n) ¿±\T, n+ç|�¾T     �) >=+ÔáT, ¿£+sÄÁ+   �) <ûV�²+, Xø̄ sÁ+     �) #ûsTT, V�²d�ï+

15. n)  ¿£w�¼ d�eTjáÖýË¢  eTqd�T ~³eÚ #ûd�T¿Ãy�*

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq ç|�¿£�Ü |�<�+ s�jáT+&�. 2 eÖ

�) Å£Lº|�P&� H�³«+ ÿ¿£ >=|�Î \*Ôá¿£Þø

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq $¿£�Ü |�<�+ >·T]ï+#á+&�.

n) q³T¼e �) H�³¿£+ �) ¿£<¸�¿£[ �) ÿ&�dÓà

16. n) nd�eTsÁT�\Å£� n~ó¿±sÁ+ ¿£³¼uÉ³¼s�<�T

^Ôá̂ d¾q |�<��¿ì H�H�s��\qT  s�jáT+&�. 2 eÖ

�)  ¿±\+ m|�ÚÎ&�Ö ÿ¹¿ý² �+&�<�T. eÖsÁTÔáT+~

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq H�H�s��\qT >·T]ï+#á+&�.

n) d�eTjáT+, >·TDeTT �) q\T|�Ú, msÁT|�Ú

�) d�eTjáT+, eTsÁD+ �) |�]d¾�Ü, >·TDeTT
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17. n) |�ÚsÃV¾²ÔáT&�T ç|�È\yûT\T ¿Ãs�*.

^Ôá̂ d¾q |�<��¿ì eÚ«ÔáÎÔáï«sÁ�+ s�jáT+&�.

�) bÍ\ d�eTTç<�+ýË neT�Ôá+ |�Ú{ì¼+~.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq  eÚ«ÔáÎÔáï«sÁ�+ >·T]ï+#á+&�. 2 eÖ

n) Je+ÔÃ Å£L&�q~ (çbÍD+) �) eTsÁD²�� bõ+~+|��~/¿£*Ð+|��~ (d�T<ó�)

�) ú{ì� �#áTÌq~ (eT�TÒ) �) uó�Ö$T�|Õ yî\d¾q~ (¹¿�çÔá+)

18. ¿£<̧�\+fñ |¾\¢\T #î$¿Ãd�TÅ£�+{²sÁT.

�|Õ y�¿£«+ýË C²rjáÖ�� >·T]ï+º $&�>± s�jáT+&�. 2  eÖ

19. eTqd�TýËeTT\T¢ - � C²rjáÖ�� @ nsÁ�+ýË / d�+<�sÁÒÛ+ýË �|�jîÖÐkÍïsÃ s�jáT+&�.) 2  eÖ

¿ì+~ ç|�Xø�\Å£� d�Öº+ºq $<ó�+>± Èy��T\T s�jáT+&�. 14x1R14 eÖ

20. |¾\¢\T nÔá«+Ôá �d�¿ìï>± ¿£<̧�\T $+{²sÁT.

^Ôá̂ d¾q |�<��� $&�Bd¾ s�jáT+&�. 1 eÖ

21. <ÃcÍ\T G �q� (d�+~ó |�<��� ¿£*|¾ s�jáT+&�.) 1 eÖ

22. >±+Bó eTV�äÔáT�&�T C²Ü|¾Ôá>± �|sÁT>±+#�sÁT.

^Ôá̂ d¾q |�<�+ @ d�+~ó¿ì #î+~q<Ã >·T]ï+#á+&�. 1 eÖ

n) >·TDd�+~ó �) d�esÁ�BsÁé d�+~ó �) e�~Æ d�+~ó �) nÔáÇ d�+~ó

23. H� �d�V¾²ÔáT&�T \¿�±~ó¿±]

^Ôá̂ d¾q |�<��¿ì $ç>·V�²y�¿£«+ s�jáT+&�. 1 eÖ

24. |�Úd�ï¿±\qT #á~$Ôû C²ãqB|�+ yî\T>·TÔáT+~.

^Ôá̂ d¾q |�<�+ @ d�eÖd�yîÖ >·T]ï+#á+&�. 1 eÖ

n) �|�eÖq �ÔáïsÁ|�<� ¿£sÁ�<ó�sÁjáT+ �) ~Ç>·T d�eÖd�+

�) $Xâw�D |�PsÁÇ|�<� ¿£sÁ�<ó�sÁjáT+ �) sÁÖ|�¿£ d�eÖd�+

25. ¿±|�ÚsÁTw�§\ MT<� �&�Å£� ¿±sÁ« uó�sÁ+�TýÙ

� y�¿±«�¿ì d�ÂsÕq �<ó�T�¿£ e#áH��� >·T]ï+#á+&�. 1 eÖ

n) ¿±|�ÚsÁTw�§\ |�³¢ ¿±sÁ« uó²sÁeTT �&�Å£L&�<�T.

�) ¿±|�ÚsÁTw�§\ MT<� ¿±sÁ«uó²s�\T �&�s�<�T.

�)  ¿±|�ÚsÁTw�§\ m&�\ ¿±sÁ« uó²sÁ+�T\T �&�s�<�T.

�) ¿±|�ÚsÁTw�§\ MT<� ¿±sÁ« uó²sÁ+ �+#áÅ£L&�<�T.
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26. m\¢eT� eÖ³\¿ì _ÔáïsÁbþjáÖqT.

� y�¿±«�¿ì e«Ü¹s¿±sÁ�¿£  y�¿±«�� s�jáT+&�. 1 eÖ

27. ¿ì+~ ç¿ìjáÖ |�<�\ýË e«Ü¹s¿±sÁ�¿£ ç¿ìjáTqT >·T]ï+º s�jáT+&�. 1 eÖ

n) #á<�e¿£ �) #á~$ �) #á<�TeÚÔáÖ �) #á~yîqT

28. Je� ºçÔ�ýÉHÃ� ^d¾+~. Je� ç|�<�̧eT �V�QeTÜ bõ+~+~.

� kÍeÖq« y�¿±«\qT d�+¥¢w�¼ y�¿£«+>± eÖ]Ì s�jáT+&� 1 eÖ

29. y�sÁT |¾\¢y�&�� ¿±bÍ&�sÁT.

d�]jî®Tq ¿£sÁ�Dì y�¿±«�� >·T]ï+#á+&�. 1 eÖ

n) y�]#ûÔá |¾\¢y�&�T ¿±bÍ&��&�¦&�T. n) y�sÁT |¾\¢y�&� #ûÔá ¿±bÍ&��&�¦sÁT.

�) y�sÁT |¾\¢y�&�T ¿±bÍ&��&�¦sÁT. �) y�sÁT |¾\¢y��ÔÃ ¿±bÍ&�eTH��sÁT.

30. �|�ðÔÃ �³\T �&�e<�TÝ.

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ s�jáT+&�. 1 eÖ

31. MTsÁT |�̄ ¿£� s�jáTe#áTÌ.

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ >·T]ï+#á+&�. 1 eÖ

n) �osÁsÁ�¿£+ �) nqTeTÔá«sÁ�¿£+ �) ��w<ó�sÁ�¿£+ �) �XøÌs�«sÁ�¿£+

32. n~ ç|�jáTÜ��dï e#ûÌ~ ¿±<�?

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ s�jáT+&�. 1 eÖ

33. bÍbÍsTT q&�e>·\<�T

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ >·T]ï+#á+&�. 1 eÖ

n) çbÍsÁ�H�sÁ�¿£+ �) kÍeTs��«sÁ�¿£+ �) ��w<ó�sÁ�¿£+ �) �XøÌs�«sÁ�¿£+
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01T & 02T

TELUGU (FIRST LANGUAGE)
Ôî\T>·T (ç|�<�̧eT uó²w�)

eÖ~] ç|�Xø� |�çÔáeTT -2024-25

(Model Question Paper - 2)

  ÔásÁ>·Ü: 10     >·]w�÷ eÖsÁTØ\T: 100        d�eTjáT+: 3 >·+. 15 �öö

$<�«sÁT�\Å£� d�Ö#áq\T:

1. ç|�Xø�|�çÔá+ýË eTÖ&�T $uó²>±\T+{²sTT

2. ç|�Xø�|�çÔáeTT #á<�TeÚ¿Ãe&��¿ì 15 �. \T, Èy��T\T s�jáT&��¿ì 3 >·+öö\T d�eTjáT+ �+³T+~.

3. ç|�Xø�\��+{ì¿ì d�eÖ<ó�H�\T d�eÖ<ó�q |�çÔá+ýËHû s�jáÖ*.

4. d�eÖ<ó�H�\T >·T+ç&�+>±, d�Îw�¼+>± s�jáÖ*.

$uó²>·+ - 1

I. ney�V�²q- ç|�Üd�Î+<�q  (32eÖsÁTØ\T)

1. ¿ì+~ |�]ºÔá |�<�«\ýË ÿ¿£ <��� #á~$, �ºÌq ç|�Xø�\Å£� Èy��T\T s�jáT+&�. 8eÖ

d�Ôá«o\ <ó�sÁ� d�+kÍ�|�H�sÁ�yîT®

jáTT>·jáTT>±\ |�Ú³T¼y=+<�T #áT+ç<�T

d�V�²ÈXø¿ìï >·\T>·T d�+kÍØsÁT *\ýËq

¿±[¿±+�! V�²+d�! ¿±[¿±+�!

ç|�Xø�\T:

n) d�+kÍØsÁT\T @ \¿£�«+ ¿Ãd�+ È��kÍïsÁT?

�) d�V�²ÈXøÅ£�ï\T >·\y�sÁT mesÁT?

�) � |�<�«+ýË� eTÅ£�³+ @~?

�) �|Õ |�<�«+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

(ýñ<�)

<ûXøyîÕXæ\« eTsÁ�d¾~Æ¿ì� eTÖ\

$T\ jîTT¿ì+ÔîÕq >·T+³ ¿±\Ç\T sÁº+º

qjáTeTT �|<�Å£� q]" >ÃsÁTqqT H=d�+Ð

ç|��\" Cñd¾q qsÁ� <ó�sÁ�eTT\T �|sÁT">·T

ç|�Xø�\T:

�) � |�<�«+ýË� eÖ³\T mesÁT me]ÔÃ nH��sÁT?

}) nsÁ�d¾~Æ¿ì eTÖ\yîT®q~ @$T{ì?

�TT) bÍ\Å£�\T yû{ì� �]�+#�*?

�T¶) �|Õ |�<�«+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

eÖ~] ç|�Xø� |�çÔá+
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2. ¿ì+~ |�]ºÔá >·<�«�� #á~$, �ºÌq ç|�Xø�\Å£� Èy��T\T s�jáT+&�. 8eÖ

m�$T~ M<�̧T\ÔÃ Å£L&�q eÖ �|³ýË Ô=+uóÉÕ nsTT<�T XæÔá+eT+~ #ûHûÔá Å£�³T+u²\y�¹s. e�Üï|��

#ûd�TÅ£�Hûy�sÁÖ ç|�ÜM~̧ýËqÖ nsTT<�sÁT #=|�ÚÎq yî\d¾q eTÖd�\ (çÅ£Ld¾�TýÙà) ¿£+�|úýË¢qÖ, �Ôáï&�,

n\Ö«$T�jáT+ bþÔábÍçÔá*� ÔájáÖsÁT #û�d ¿£+�|úýË¢qÖ |��#û�dy�sÁÖ d�>·+¿£q� mÅ£�Øyû eÚ+&ûy�sÁT.

$TÐ*qy�sÁT �³¼\ <�T¿±D²ýË¢ >·TeÖkÍï\T>± |��#ûd�Tï+&ûy�sÁT. n|�Î{Ë¢ #á<�TeÚÅ£�Hûy�sÁT #�ý² ÔáÅ£�Øe.

n+Ô� çXæ$T¿£ esÁZyûT. H� |�<��\T>Ã @³ ÔáÖsÁTÎ >Ã<�e] �ý²¢ $<�«]� �|�&�¹sw�H� �<ó�ÇsÁ«+ýË s�ÈeT+ç&�ýË

È]Ðq eTV�äd�uó�\ d�+<�sÁÒÛ+>± �sY¼ mÐ̈_w�H� �|{²¼sÁT. n+<�TýË ç|�<�]ô+ºq H� ºçÔ��¿ì ç|�<̧�eT�V�QeTÜ

s�e&�+, &�¿£¼sY >·]¿£bÍ{ì s�C²s�eÚ>±] #ûÔáT\MT<�T>± � �V�QeTÜ� n+<�T¿Ãe&�+, n<û H� Ô=*

�V�QeTÜ ¿±e&�+ H�¿Ã ¿=Ôáï nqTuó�e+.

ç|�Xø�\T:

n) sÁ#ásTTÔá �ed¾+#û �|³ýË ç|�<ó�q+>± @ e�Üï Å£�³T+u²\T �+&û$?

�) sÁ#ásTTÔá me] #ûÔáT\ MT<�T>± �V�QeTÜ n+<�TÅ£�H��&�T?

�) �sY¼ mÐ̈_w�H� m¿£Ø&� È]Ð+~?

�) �|Õ >·<�«+ �<ó�sÁ+>± @<îÕq ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

3. s�eÖjáTD+ qT+&� �ºÌq ¿ì+~ y�¿±«\T @jûT ¿±+&�\Å£� #î+~qyÃ y�¿£«sÁÖ|�+ýË s�jáT+&�. 8eÖ

n) eÖ¯#áT�  ¿£+sÄÁ<ó�Ç�� s�eTT�~>± uó²$+º dÓÔá �+<ÃÞøq #î+~+~.

�) ls�eT d�Tç^eÚ\T nÐ�kÍ¿ì�>± $TçÔáTýÉÕH�sÁT.

�) Â¿Õ¹¿sTT eÖ³\T $� eTTÅ£�Øq yûýñd�TÅ£�+~ eT+<�̧sÁ.

�) Ô�³¿£ e<ó�ÔÃ <�Tw�¼ d�+V�äs��¿ì |�PqT¿=H��&�T s�eTT&�T.

4. ¿ì+~ n|�]ºÔá >·<�«eTTqT #á~$, �ºÌq ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.  8eÖ

Ôî\T>·T kÍV¾²Ôá«eTT q+<�* ¿±e«eTT\ýË �ÔáïeTyîT®q ×<�T ¿±e«eTT\qT |�+&�ÔáT\T |�+#á

eTV�ä¿±e«eTT\T>±  �|s=ØH��sÁT. n$ eTqT#á]çÔá,  ed�T#á]çÔá,  �eTT¿£ïeÖ\«<�, bÍ]C²Ô�|�V�²sÁD+,

bÍ+&�TsÁ+>· eÖV�äÔá�«eTT nqTq$. eTqT #á]çÔáqT n\¢kÍ� �|<�Ýq, ed�T#á]çÔáqT s�eTs�E uó�Öw�DT&�T,

neTT¿£ïeÖ\«<�qT ço¿£�w��<ûes�jáT\T,  bÍ]C²Ô�|�V�²sÁD+ q+~ÜeT�q, bÍ+&�TsÁ+>· eÖV�äÔ�á«eTTqT

ÔîH�* s�eT¿£�w�§�&�T sÁº+º]. � ×<�T ¿±e«eTT\T kÍV¾²Ô�«eT�Ôá uó²+&�eTT�\T. �$ bÍsÄÁÅ£��¿ì sÁkÍkÍÇ<�q

¿£*Ð+#áTqT. |�sÄÁH�d�¿ìï� �|+bõ+~+#áTqT.

ç|�Xø�\T:

n)  ço ¿£�w��<ûes�jáT\ sÁ#áq @~?

�) Ôî\T>·T kÍV¾²Ôá«eTTýË neT�Ôá uó²+&�eTTýÉÕq �ÔáïeT ¿±e«eTTýÉ��?

�) q+~ ÜeT�q sÁº+ºq ç>·+<�̧+ @~?

�) �|Õ n|�]ºÔá >·<�«eTTqT nqTd�]+º @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø� ÔájáÖsÁT#ûjáT+&�.

eÖ~] ç|�Xø� |�çÔá+
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$uó²>·+ - 2

II. e«¿¡ï¿£sÁD ` d��ÈH�Ôá�¿£Ôá (36 eÖsÁTØ\T)

¿ì+~ ç|�Xø�\Å£� H�\TÂ>Õ<�T y�¿±«\ýË d�eÖ<ó�H�\T s�jáT+&�.                                        3x4R12eÖ

5. »»ç|�Ôá«¿£� <îÕy�\Tµµ bÍsÄÁ«uó²>· ¿£$ miÀq >·T]+º s�jáT+&�.

6. »»H�³¿£+µµ ç|�ç¿ìjáT >·T]+º s�jáT+&�.

7. »»eÖ¯#áT&�Tµµ bÍçÔá d�Çuó²e+ s�jáT+&�.

� ¿ì+~ ç|�Xø�\Å£� 8 qT+&� 10 y�¿±«\ýË d�eÖ<ó�H�\T s�jáT+&�.                                 3x8R24eÖ

8. ×¿£eTÔ�«�� >·T]+º @$ mý² uË~ód�TïH��jîÖ s�jáT+&�.

                                                    (ýñ<�)

»»jáTT<�Æ$CñÔáµµ bÍsÄÁ«uó²>· kÍs�+Xæ��  kõ+ÔáeÖ³\ýË s�jáT+&�.

9. ços�eT d�Tç^eÚ\ yîT®çÜ mý² @sÁÎ&�+~?

                                                      (ýñ<�)

dÓÔ�|�V�²sÁD+ >·T]+º s�jáT+&�.

10. MTÅ£� qºÌq kÍÇÔá+çÔá« d�eTsÁjîÖ<ó�T&�� ç|�Xø+d¾d�Öï n_óq+<�q |�çÔá+ s�jáT+&�.

                                                   (ýñ<�)

MT bÍsÄÁXæ\ýË È]¹> uó²cþÔáày�\Å£� ç|�eTTK ¿£$ e#�ÌsÁT. Ôî\T>·T ¿£eÚ\ >·T]+º Ôî\Td�T¿Ãe&��¿ì

ç|�Xæ�e[� ÔájáÖsÁT#ûjáT+&�.

eÖ~] ç|�Xø� |�çÔá+
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$uó²>·+ - 3

III. uó²cÍ+Xæ\T (32 eÖsÁTØ\T)

¿ì+~ ç|�Xø�\Å£� d�Öº+ºq $<ó�+>± Èy��T\T s�jáT+&�.                                     9x2R18eÖ

11. � yîHî�\ bÍ\yî*¢jîÖ nq�³T¢q�~.

�|Õ  y�¿£«+ýË >·\ n\+¿±s��� >·T]ï+º y�¿£« sÁÖ|�+ýË s�jáT+&�. 2 eÖ

12. jáTÖsÁ|�Ú <ûXø yîT¿£Ø &�\ V�AD¿ìs�³|�Ú[+#áT ýñ&�? jáÖ

(>·TsÁT\|��TTeÚ\T >·T]ï+º >·D$uó�Èq #ûd¾, |�<�«+�|sÁT s�jáT+&�) 2 eÖ

13. n) meÇ]ú n|�V�äd�«+ #ûjáTÅ£L&�<�T.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq nsÁ�+ s�jáT+&�. 2 eÖ

�) � y�¿£«+ ¿±d�ï ÔásÁT¨eÖ #ûd¾�|³T¼.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq ns���� >·T]ï+#á+&�.

n) nsÁ�+ �) d�] �) nqTy�<�+ �) Å£LsÁTÎ

14. n) ÔÃ³ýË� |�ÚcÍÎ\T $¿£d¾+#�sTT.

^Ôá̂ d¾q |�<��¿ì |�s�«jáT|�<�\T s�jáT+&�. 2 eÖ

�) �|<�Ý\T yû~¿£�|Õ �oqTýÉÕH�sÁT.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq |�s�«jáT|�<�\T >·T]ï+#á+&�.

n) eÖsÁZeTT, eT+#áeTT     �) nsÁT>·T, ÜHî�         �) >·TçsÁeTT, @qT>·T         �) #î³T¼, >Ã&�

15. n)  >·sÁTeeTT e\q $H�XøqeTT ¿£\T>·TqT

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq ç|�¿£�Ü |�<�+ s�jáT+&�. 2 eÖ

�) �yîT eTTKeTT n+<�eTT>± �q�~.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq $¿£�Ü |�<�+ >·T]ï+#á+&�.

n) eTTÅ£�Ø �) yîÖeTT �) eTTÔîïeTT �) yîT¿£eTT

16. n) H� $TçÔáT&�T |�sÃ|�¿±].

^Ôá̂ d¾q |�<��¿ì H�H�s��\T s�jáT+&�. 2 eÖ

�)  n+�sÁ+ �sÁ�\+>± eÚ+~.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq H�H�s��\T >·T]ï+#á+&�.

n) ne¿±Xø+, nq+Ôá+ �) �¿±Xø+, eçd�ï+

�) n_óeÖq+, n<�TÒÛÔá+ �) >·sÁÞø+, >·eTq+
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17. n) �T<ó�T&�T n+Ôá{² >�sÁ$+#á�&�Ô�&�T.

^Ôá̂ d¾q |�<��¿ì eÚ«ÔáÎÔáï«sÁ�+ s�jáT+&�.

�) uó²d�ØsÁT&�T È>·Ü¿ì yî\T>·TqT �kÍï&�T.

^Ôá̂ d¾q |�<��¿ì d�ÂsÕq  eÚ«ÔáÎÔáï«s���� >·T]ï+#á+&�. 2 eÖ

n) yû<�eTT\T #á~$qy�&�T (yû<�yûÔáï) �) ¿±+Ü� ¿£\T>·CñjáTy�&�T (d�ÖsÁT«&�T)

�) eTqTeÚ d�+�+<ó�yîT®qy�&�T (eÖqeÚ&�T) �) qsÁT\qT bÍ*+#áTy�&�T (s�E)

18. eÖ H�q� eÖ³ eÖÅ£� d�Tç^y�Èã e+{ì~.

y�¿£«+ýË C²rjáÖ�� >·T]ï+º $&�>± s�jáT+&�. 2  eÖ

19. »»¿£Þø�¢ ¿±jáT\T ¿±#áTµµ - � C²rjáÖ�� @ nsÁ�+ýË / d�+<�sÁÒÛ+ýË �|�jîÖÐkÍïsÃ s�jáT+&�.) 2  eÖ

¿ì+~ ç|�Xø�\Å£� d�Öº+ºq $<ó�+>± Èy��T\T s�jáT+&�. 14x1R14 eÖ

20. nÔá&�T ¿£w�¼|�&� nqTÅ£�q�~ kÍ~ó+#�&�T.

^Ôá̂ d¾q |�<��� $&�Bd¾ s�jáT+&� . 1 eÖ

21. �q�Ôá G �q�Ôá (d�+~ó |�<�\qT ¿£*|¾ s�jáT+&�.) 1 eÖ

22. neTs�eÜýË ¿£\<=¿£ n+<�yîT®q ç|�<ûXø+.

^Ôá̂ d¾q |�<�+ @ d�+~ó¿ì #î+~q<Ã >·T]ï+#á+&�. 1 eÖ

n) nÔáÇ d�+~ó    �) d�esÁ�BsÁé d�+~ó      �) �ÔáÇ d�+~ó      �) �ÔáÇ d�+~óó

23. nÔá� $ÈjáT+ nkÍ<ó�sÁD+

^Ôá̂ d¾q |�<��¿ì $ç>·V�²y�¿£«+ s�jáT+&�. 1 eÖ

24. ç|�Ü~q+ y�«jáÖeT+ #ûjáÖ*.

^Ôá̂ d¾q |�<�+ @ d�eÖd�yîÖ >·T]ï+#á+&�. 1 eÖ

n) ~Ç>·T d�eÖd�+ �) qxÙ ÔáÔáTÎsÁTw� d�eÖd�+

�) <�Ç+<�Ç d�eÖd�+ �) ne«sTÖuó²e d�eÖd�+

25. <ó�sÁ�y�«<ó�T&�T ¿�¥Å£��ÔÃ �³¢�jîT

� y�¿±«�¿ì d�ÂsÕq �<ó�T�¿£ e#áH��� >·T]ï+#á+&�. 1 eÖ

n) <ó�sÁ�y�«<ó�T&�T ¿�¥Å£��ÔÃ �ý² nH��&�T.

�) <ó�sÁ�y�«<ó�T&�T ¿�¥Å£��ÔÃ @$T nqýñ<�T.

�) <ó�sÁ�y�«<ó�T&�T ¿�¥Å£��ÔÃ&� �³¢�jîT

�) <ó�sÁ�y�«<ó�T�ÔÃ ¿�¥Å£�&�T �³¢�jîT
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26. y�q\T mÅ£�Øe>± Å£�]kÍsTT.

� y�¿±«�¿ì e«Ü¹s¿±sÁ�¿£  y�¿£«+ s�jáT+&�. 1 eÖ

27. ¿ì+~ ç¿ìjáÖ |�<�\ýË e«Ü¹s¿±sÁ�¿£ ç¿ìjáTqT >·T]ï+º s�jáT+&�. 1 eÖ

n) eÖ{²¢&�      �) eÖ{²¢&�¿£           �) eÖ{²¢&�TÔáÖ       �) eÖ{²¢&�Ôû

28. XøsÁÔY �+{ì¿ì e#�Ì&�T. XøsÁÔY nq�+ ÜH��&�T.

� kÍeÖq« y�¿±«\qT d�+¥¢w�¼ y�¿£«+>± eÖ]Ì s�jáT+&�. 1 eÖ

29. yîÕ<�T«&�T yîÕ<�«+ #ûXæ&�T.

d�]jî®Tq ¿£sÁ�Dì y�¿±«�� >·T]ï+#á+&�. 1 eÖ

n) yîÕ<�T«�#û yîÕ<�«+ #ûjáT�&�+~ �) yîÕ<�T«�¿ì yîÕ<�«+ HûsÁÎ�&�+~

�) yîÕ<�T«&�T yîÕ<�«�� �s�¿£]+#�&�T �) yîÕ<�T«\+<�sÁÖ yîÕ<�«+ #ûkÍïsÁT

30. es�ü\T Å£�sÁe¿£ |�+³\T |�+&�ýñ<�T.

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ s�jáT+&�. 1 eÖ

31. HûqT yû~¿£ MT<� mý² ç|�e]ï+#�qT?

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ >·T]ï+#á+&�. 1 eÖ

n) �XøÌs�«sÁ�¿£+    �) �XøÌjáÖsÁ�¿£+      �) d�+<ûV�äsÁ�¿£+     �) ç|�Xæ�sÁ�¿£+

32. n+<�sÁÖ �&�¿ì yîÞøß+&�

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ s�jáT+&�. 1 eÖ

33. �V�ä! � ºçÔá+ m+Ôá u²>·T+<Ã!

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ >·T]ï+#á+&�. 1 eÖ

n) ç|�Xæ�sÁ�¿£+ �) �XøÌs�«sÁ�¿£+

�) kÍeTs��«sÁ�¿£+ �) d�+<ûV�äsÁ�¿£+

eÖ~] ç|�Xø� |�çÔá+
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01T & 02T

TELUGU (FIRST LANGUAGE)
Ôî\T>·T (ç|�<�̧eT uó²w�)

eÖ~] ç|�Xø� |�çÔáeTT -2024-25

(Model Question Paper - 3)

  ÔásÁ>·Ü: 10     >·]w�÷ eÖsÁTØ\T: 100        d�eTjáT+: 3 >·+. 15 �öö

$<�«sÁT�\Å£� d�Ö#áq\T:

1. ç|�Xø�|�çÔá+ýË eTÖ&�T $uó²>±\T+{²sTT

2. ç|�Xø�|�çÔáeTT #á<�TeÚ¿Ãe&��¿ì 15 �. \T, Èy��T\T s�jáT&��¿ì 3 >·+öö\T d�eTjáT+ �+³T+~.

3. ç|�Xø�\��+{ì¿ì d�eÖ<ó�H�\T d�eÖ<ó�q |�çÔá+ýËHû s�jáÖ*.

4. d�eÖ<ó�H�\T >·T+ç&�+>±, d�Îw�¼+>± s�jáÖ*.

$uó²>·+ - 1

I. ney�V�²q- ç|�Üd�Î+<�q  (32eÖsÁTØ\T)

1. ¿ì+~ |�]ºÔá |�<�«\ýË ÿ¿£ <��� #á~$, �ºÌq ç|�Xø�\Å£� Èy��T\T s�jáT+&�. 8eÖ

¿£H=�¿£{ì �ç<�yÃ"uÉi¿£+³ C²>·

sÁ+�T >±$+#áT uó�ÖsÁTV�äç>·+�T MT"~

jáT#áÌuó�\¢+�T>·Ü uóË>· eTqTuó�$+#áT

Hî&�qT �V¾²sÁ+ÔásÁsÁT\�|Õ <��w¾¼e\jáTT

ç|�Xø�\T:

n) s�E mý² yîT\>±*?

�) s�E me]�|Õ <��w¾¼ �+#�*?

�) m\T>·T�+{ì #î³T¼�|Õ |�&�T¿=� mý² �ç~d�Tï+~?

�) �|Õ |�<�«+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

(ýñ<�)

ú¿£ e>·º e>·º �]ÒÛq�V�²�<�jáTTýÉÕ

$>·Ôá#áÅ£��ýÉÕ] $qyî? y�sÁ:

\]Ð sTT+¿£ HîÕq qeTT�<�Td�Þø¢ jáTT

<�ç>·XË¿£eV¾²� H�sÁÎejáT«!

ç|�Xø�\T:

�) �|Õ |�<�«+ýË� eÖ³\T mesÁT me]ÔÃ nH��sÁT?

}) n+<ó�T\T nsTTq~ mesÁT?

�TT) eTTd�* y�Þøß XË¿±�¿ì >·\ ¿±sÁDyûT$T?

�T¶) �|Õ |�<�«+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

eÖ~] ç|�Xø� |�çÔá+
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2. ¿ì+~ |�]ºÔá >·<�«�� #á~$, �ºÌq ç|�Xø�\Å£� Èy��T\T s�jáT+&�.   8eÖ

e¿£ï yû~¿£ MT<� V�Q+<�>± ç|�e]ï+#�*. nHû¿£ yû\ ¿£Þø�ß nÔáDì� >·eT�d�Tï+{²jáTHû $w�jáT+ $d��]+#ás�<�T.

yû~¿£ MT<� muÉÒ³T¼>± ç|�e]ï+#û e¿£ï, çXËÔá\ <��w¾¼ýË eTT+<�T>±Hû #áT\¿£HîÕbþÔ�&�T. nÔá&� e+ÔáT eºÌq|�ð&�T

n<ó�«Å£��&�T nÔá&� �|sÁT #î|�Î>±Hû d�uó²d�<�TýË¢ >·Td�>·Td�\T, ºsÁTqeÚÇ\T ¿£�ÎkÍïsTT. n~ #áÖd¾ e¿£ï ¿=+#î+

Ü¿£eT¿£ |�&�¿£Ôá|�Î<�T. n~ n+Ôá{ìÔÃ �>·TÔáT+<�� #î|�ÎýñeTT. e¿£ï n|�V�äd�«+ bÍ\sTT, �|�H�«d�+

eTTÐ+#áÅ£�+&�Hû Å£LsÃÌe\d¾q |�]d¾�Ü @sÁÎ&�e#áTÌqT. n+<�T¹¿ yû~¿£ MT<� �oqTýÉÕq e¿£ï\T d�eTjáT

d�+<�s�ÒÛ\Å£� nqTÅ£L\+>± <�Td�Tï\T <ó�]+#�*.

ç|�Xø�\T:

n) yû~¿£�|Õ e¿£ï mý² ç|�e]ï+#�*?

�) e¿£ï\T <û�¿ì nqTÅ£L\+>± <�Td�Tï\T <ó�]+#�*?

�) e¿£ï çXËÔá\ <��w¾¼ýË m+<�TÅ£� #áT\¿£HîÕbþÔ�&�T?

�) �|Õ >·<�«+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

3. s�eÖjáTD+ qT+&� �ºÌq ¿ì+~ y�¿±«\T @jûT ¿±+&�\Å£� #î+~qyÃ y�¿£«sÁÖ|�+ýË s�jáT+&�.   8eÖ

n) s�eDÅ£�eÖsÁT&îÕq nÜ¿±jáTT&�T \¿£��DT� ç�V�ä�çkÍï�¿ì �ýÉÕH�&�T.

�) ls�eTT� nqTeTÜ rd�TÅ£�� ¿£�+<ó�T&�T d�Çs�Z�¿ì yîÞ²ß&�T.

�) d�Tç^eÚ� �qÜMT<� s�eT\¿£��DT\T �q�#Ã{ì¿ì yîÞ²ß&�T V�²qTeT+ÔáT&�T.

�) $XæÇ$TçÔáT� yî+³ <ó�qTs�Æ]jî®T s�eTT&�T q&�Td�TïH��&�T.

4. ¿ì+~ �ÔáïsÁ+ #á~$ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.    8eÖ

@\ÖsÁT,

Ôû~.25/11/24.

ç|¾jáTyîT®q XæsÁ<�Å£�,

ú �ÔáïsÁ+ #á~y�qT. MT �+{ì #áT³Ö¼ #î³¢ú� ¿=fñ¼d¾ H�|�s�Þø�ß |�]#�sÁT n� s�XæeÚ. H�Å£� #�ý²

u²<ó��|¾+º+~. #î³T¢ ýñÅ£�+fñ eÖqeÚ\Å£� Jeq+ �+&�<�T. #î³¢e\Hû eTqÅ£� �¿ìàÈH� \_ód�Tï+~. eTq+

e~*q ¿±sÁÒH�&îÕ�Â¿Õà&�qT Xø�~Ý #û�d$ #îfñ¢. n³Te+{ì #î³¢qT eTq ned�s�\¿Ãd�+ q]¹¿d�TïH��+. #î³¢qT

eTq+ ¿±bÍ&�Ôû n$ eTq\qT ¿±bÍ&�Ô�sTT. ¿±�{ì¼ qTeÚÇ MT �+{ì �esÁDýË #î³¢qT H�³TÔ�e�

�¥d�TïH��qT.

�³T¢,

    ú $TçÔáTs�\T,

\*Ôá.

ç|�Xø�\T:

n) �|Õ �ÔáïsÁ+ mesÁT me]¿ì çy�XæsÁT?

�) �ÔáïsÁ+ýË yû{ì� >·T]+º #î|�Î�&�+~?

�) \*Ôá m+<�TÅ£� u²<ó�|�&�+~?

�) �|Õ �ÔáïsÁ+ �<ó�sÁ+>± @<îÕH� ÿ¿£ nsÁ�e+ÔáyîT®q ç|�Xø� ÔájáÖsÁT#ûjáT+&�.

eÖ~] ç|�Xø� |�çÔá+
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$uó²>·+ - 2

II. e«¿¡ï¿£sÁD ` d��ÈH�Ôá�¿£Ôá (36 eÖsÁTØ\T)

¿ì+~ ç|�Xø�\Å£� H�\TÂ>Õ<�T y�¿±«\ýË d�eÖ<ó�H�\T s�jáT+&�.                                        3x4R12eÖ

5. »jáTT<�Æ$CñÔáµ bÍsÄÁ«uó²>· ¿£$ HûÔá\ ç|�Ô�|t Å£�eÖsY >·T]+º s�jáT+&�.

6. »y�«d�+µ ç|�ç¿ìjáT >·T]+º s�jáT+&�.

7. eT+<�̧sÁ bÍçÔá d�Çuó²e+ s�jáT+&�.

� ¿ì+~ ç|�Xø�\Å£� 8 qT+&� 10 y�¿±«\ýË d�eÖ<ó�H�\T s�jáT+&�.                                 3x8R24eÖ

8. È*jáTH� y�ý²u²>´ <�TsÁ+Ô��� d�$esÁ+>± Ôî\Î+&�.

                                                    (ýñ<�)

XøÔá¿£ eÖ<ó�TsÁ«+ bÍsÄÁ+ �<ó�sÁ+>± |�~úÜ y�¿±«\T s�jáT+&�.

9. dÓÔ�s�eT ¿£Þ²«D+ >·T]+º s�jáT+&�.

                                                      (ýñ<�)

\+¿±<�V�²q+ e]�+#á+&�.

10. ¿£cÍ¼\Å£� Å£�+ÐbþÅ£�+&� <óîÕsÁ«+>± yîT\>±\� Ôî*jáTCñd�Öï MT $TçÔáT�¿ì ýñK s�jáT+&�.

                                                   (ýñ<�)

ç|�¿£�ÜýË MTsÁT #áÖd¾q n+<�yîT®q ç|�<ûXæ�� e]�d�Öï s�jáT+&�.

eÖ~] ç|�Xø� |�çÔá+

SCERT, A
P

State Council of Educational Research and Training                                                                  Andhra Pradesh



eÖ~] ç|�Xø�\T ̀  Ôî\T>·T 10e ÔásÁ>·Ü

56

$uó²>·+ - 3

III. uó²cÍ+Xæ\T (32 eÖsÁTØ\T)

¿ì+~ ç|�Xø�\Å£� d�Öº+ºq $<ó�+>± Èy��T\T s�jáT+&�.                                     9x2R18eÖ

11. >·Td�>·Td�\ÔÃ ¿=eT�¿=eT��|Õ �ed¾+º

eTTÅ£�Øý²�+#áT \Å£�eTT¿ì|¾³¼ <�+|�ÔáT\T

�|Õ  y�¿£«+ýË n\+¿±s��� >·T]ï+º y�¿£« sÁÖ|�+ýË s�jáT+&�. 2 eÖ

12. úÜçbå&ó� $V�äsÁTýÉÕq �|�ÚDTýÙ �+~+|�ú yîT#áÌú

(>·TsÁT\|��TTeÚ\T >·T]ï+º >·D$uó�Èq #ûd¾, |�<�«+�|sÁT s�jáT+&�.) 2 eÖ

13. n) |¾\¢\T �w�Ø\�w�+>± �+{²sÁT.

^Ôá ^d¾q |�<��¿ì d�ÂsÕq nsÁ�+ s�jáT+&�. 2 eÖ

�)  @fñ{² bõ\+ ¥d�Tï �|sÁ>·&�+ e\¢ #î*¢+|�Ú uó²sÁeTeÚÔáT+~.

^Ôá ^d¾q |�<��¿ì d�ÂsÕq ns���� >·T]ï+#á+&�.

n) ¥¿£� �) ¥¿£�D �) |�qT� �) e&�¦

14. n) d�ÖsÁT«� s�¿£ÔÃ Ô�eTsÁ\T $¿£d¾+#�sTT.

^Ôá ^d¾q |�<��¿ì |�s�«jáT|�<�\T s�jáT+&�. 2 eÖ

�) jáTT<�Æ+ e\¢ mHÃ� nqs��\T ¿£\T>·TÔ�sTT.

^Ôá ^d¾q |�<��¿ì d�ÂsÕq |�s�«jáT|�<�\qT >·T]ï+#á+&�.

n) eTsÁD+, #�eÚ �) XøsÁD+, sÁ¿£�D �) MsÁ+, d�ÇsÁZ+ �) sÁD+, bþsÁT

15. n)  � ºÔáïsÁTeÚ #�ý² u²>·T+~.

^Ôá ^d¾q |�<��¿ì d�ÂsÕq ç|�¿£�Ü |�<�+  s�jáT+&�. 2 eÖ

�) yîÕ<�T«&�T �sÃ>·« sÁ¿£�Å£�&�T

^Ôá ^d¾q |�<��¿ì d�ÂsÕq $¿£�Ü |�<�+ >·T]ï+#á+&�.

n) yîE¨         �) $\T¿±&�T             �) e+<�újáTT&�T �) $ÈjáTT&�T

16. n) <ûXø+ e�~Æ #î+<�\+fñ d�ÂsÕq bÍ\Å£�&�T+&�*.

^Ôá ^d¾q |�<��¿ì H�H�s��\T  s�jáT+&�. 2 eÖ

�)  s�eT s�È«+ ¿±y�\� ç|�È\T ¿ÃsÁTÅ£�+{²sÁT.

^Ôá ^d¾q |�<��¿ì d�ÂsÕq H�H�s��\T >·T]ï+#á+&�.

n) s�çw�¼+, ç>±eT+ �) s�çw�¼+, @\T�&�

�) ç|�uó�TeÚ, bÍ\Å£�&�T �) <ûXø+, q>·sÁ+

eÖ~] ç|�Xø� |�çÔá+
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17. n) l¿£�w��<ûes�jáTT\Å£� ç|�<ó�qeT+çÜ ÜeT�sÁTd�T

^Ôá ̂ d¾q |�<��¿ì eÚ«ÔáÎÔáï«sÁ�+ s�jáT+&�.

�) >ÃV�²Ô�« bÍÔá¿£eTT Â>�ÔáeTT�¿ì #áT³T¼Å£�+~.

^Ôá ^d¾q |�<��¿ì d�ÂsÕq  eÚ«ÔáÎÔáï«s���� >·T]ï+#á+&�. 2 eÖ

n) ýÉd�à>± #ûjáT�&�q~ (<ó�sÁ�+) �) |�ÔáH��¿ì ¿±sÁDeTjûT«~ (bÍ|�+)

�) eTsÁD+ÔÃ Å£L&�q~ (jáTT<�Æ+) �) bÍqeTT #ûjáT<�Ðq~ (úsÁT)

18. nÔá&�T #ûsTT Ü]Ðq sÁ#ásTTÔá.

y�¿£«+ýË� C²rjáÖ�� >·T]ï+º $&�>± s�jáT+&�. 2  eÖ

19. »»ls�eTsÁ¿£�µµ - � C²rjáÖ�� @ nsÁ�+ýË / d�+<�sÁÒÛ+ýË �|�jîÖÐkÍïsÃ s�jáT+&�.) 2  eÖ

¿ì+~ ç|�Xø�\Å£� d�Öº+ºq $<ó�+>± Èy��T\T s�jáT+&�. 14x1R14 eÖ

20. jáTT<ÃÆH��~ e\q ¿¡&�T ÈsÁT>·TÔáT+~.

^Ôá ^d¾q |�<��� $&�Bd¾ s�jáT+&�. 1 eÖ

21. kÍ�qeTT G \T (d�+~ó |�<�\qT ¿£*|¾ s�jáT+&�.) 1 eÖ

22. B|�eTT+&�>·Hî �\T¢ #á¿£Ø~<�TÝ¿Ãy�*.

^Ôá̂ d¾q |�<�+ @ d�+~ó¿ì #î+~q<Ã >·T]ï+#á+&�. 1 eÖ

n) $d�sÁZ d�+~ó �) >·TDd�+~ó �) �ÔáÇd�+~ó      �) jáTD²<ûXød�+~óó

23. n+<�sÁÖ kÍV¾²Ô�«_ósÁTº ¿£*Ð eÚ+&�*.

^Ôá ^d¾q |�<��¿ì $ç>·V�² y�¿£«+ s�jáT+&�. 1 eÖ

24. ç_{¡wt s�¿±d¾eTÖ¿£ neÖjáTÅ£�\qT bõ³¼q�|³T¼Å£�+~.

^Ôá ^d¾q |�<�+ @ d�eÖd�yîÖ >·T]ï+#á+&�. 1 eÖ

n) <�Ç+<�Ç d�eÖd�+ �) ~Ç>·T d�eÖd�+

�) w�wÓ÷ÔáÔáTÎsÁTw� d�eÖd�+ �) sÁÖ|�¿£ d�eÖd�+

25. >·�V�²+�TqÅ£� sÁeT�� jáTÔá�+ <Ã&=Ø� #á�jîT

� y�¿±«�¿ì d�ÂsÕq �<ó�T�¿£ e#áH��� >·T]ï+#á+&�. 1 eÖ

n) �+{ì¿ì sÁeT�� jáTÔá�� rd�TÅ£�� yîÞèßqT.

�) �+{ì¿ì sÁeT�� nÔá�� rd�T¿=� yîÞèßqT.

�) �+{ì¿ì sÁeT�� nÔá�ÔÃ #î|¾Î yîÞèßqT.

�) �+{ì¿ì sÁeT�� nÔá�� rd�TÅ£�yîÞøßqTH��&�T.

eÖ~] ç|�Xø� |�çÔá+
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26. H�³¿£ ç|�<�sÁôq È]Ð+~.

� y�¿±«�¿ì e«Ü¹s¿±sÁ�¿£ y�¿£«+ s�jáT+&�. 1 eÖ

27. ¿ì+~ ç¿ìjáÖ |�<�\ýË e«Ü¹s¿±sÁ�¿£ ç¿ìjáTqT >·T]ï+º s�jáT+&�. 1 eÖ

n) #ûd¾       �) #û�dï �) #ûd�Öï �) #ûjáT¿£

28. |¾\¢\+<�sÁÖ ÿ¿£#Ã³ #ûs�sÁT. |¾\¢\+<�sÁÖ u¤eT�\ÔÃ �&�TÅ£�+³TH��sÁT.

� kÍeÖq« y�¿±«\qT d�+¥¢w�¼ y�¿£«+>± eÖ]Ì s�jáT+&�. 1 eÖ

29. m\¢eT� |�+&�¢qT n$T�+~.

d�]jî®Tq ¿£sÁ�Dì y�¿±«�� >·T]ï+#á+&�. 1 eÖ

n) m\¢eT�#ûÔá |�+&�T¢ n$T�kÍïsÁT. �) m\¢eT�#ûÔá |�+&�T¢ neT��&�¦sTT.

�) m\¢eT� |�+&�¢qT neT�ýñ<�T. �) m\¢eT� |�+&�T¢ Å£L&� neTT�ÔáT+~.

30. MTsÁT eÖ �+{ì¿ì s�e#áTÌ.

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ s�jáT+&�. 1 eÖ

31. n\y�³TqT n<�T|�ÚýË �|³T¼¿Ãy�*.

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ >·T]ï+#á+&�. 1 eÖ

n) kÍeTs��«sÁ�¿£+ �) $<ó�«sÁ�¿£+ �) XøçÔásÁ�¿£+ �) �XøÌjáÖsÁ�¿£+

32. y�q ed�Tï+<Ã! s�<Ã!

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ s�jáT+&�. 1 eÖ

33. Je� u¤eT�\T yûjáT>·\<�T.

�~ @ sÁ¿£yîT®q kÍeÖq« y�¿£«yîÖ >·T]ï+#á+&�. 1 eÖ

n) kÍeTs��«sÁ�¿£ y�¿£«+ �) �XøÌjáÖsÁ�¿£ y�¿£«+

�) $<ó�«sÁ�¿£ y�¿£«+ �) nqTeTÔá«sÁ�¿£ y�¿£«+

eÖ~] ç|�Xø� |�çÔá+
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दसवीं कक्षा नमूना प्रश्न पत्र -1 – 2024 – 25 
द्वितीय भाषा ह िंदी 

कक्षा: X                                                                                           समय : 03:15 हमद्विट 
                                                                                       अिंक :100                               

 

सूचनाए ँ: 1. प्रश्न पत्र पढ़ने के लिए 15 लिनिट का सिय लनर्ाारित ह ै|  

              2. सभी प्रश्नों के उत्ति उत्ति पुस्ततका िें ही लिलिए |   

              3. प्रश्न पत्र िें छ: भाग है |  

भाग - I 
I. हनम्न हिहित प्रश्नों के उत्तर सूचना के अनसुार हिहिए ।                                12 ×1 = 12  

1. कबीि के सािी प्रभावपूर्ा है। िेिाांलकत शब्द का तत्सम रूप लवकल्पों िें से पहचानकि लिलिए l                                                         

साक्षी िन िनोिांजन 
 

2. िीिा श्रीकृष्र् की िीिाओं को व ृंदावि िें गाती है। वाक्य िें लिया शब्द लवकल्पों िें से पहचानकि  

     लिलिए| 

 मीरा गाती तििर् 
 

3. उन्नीस सौ चौंसठ - लहांदी अक्षिों को पढ़कि सांख्याओं को लवकल्पों िें से पहचानकि लिलिए | 

 1964 1924 1834 
 

4. पवात प्रदेश ______ पावस I सही कािक लचह्न लवकल्पों िें से पहचान कि लिलिए। 

के िें का 
 

5. पयााटक  सुबह-शाि  कंपनी बाग िें आत ेहैं। ििेाांलकत शब्द का सिास लवकल्पों में से पहचानकि  

     लिलिए| 

 द्विगु समास द्वृंद्व सिास तत्पुरुष सिास 

 

6. वीि सलैनक िृत्य ुका तवागत लदि से कित ेहैं।  िेिाांलकत शब्द का सांलर् लवच्छेद लवकल्पों से  

     पहचानकि लिलिए| 

सु + आगत तव + गत सु + गत 
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7. छोटा भाई हि सिय अव्वि आता था। िेिाांलकत शब्द का  पयााय शब्द लवकल्पों में से पहचानकि  

    लिलिए| 

तीसिा प्रथि दूसिा 

 

8. सवासार्ािर् की उपस्तथलत होनी चालहए। िेिाांलकत शब्द का उपसगा लवकल्पों में से पहचानकि   

     लिलिए।  

उप लत स्तथलत 
 

9. ततााँिा के साहलसक काया अांडिान के जनता लदि िें बसा लिए। िेिाांलकत शब्द का प्रत्यय लवकल्पों  

    िें से पहचानकि लिलिए। 

सा इक लसांक 

 

10. युवती की आवाज ठीक पह ुँची। इस वाक्य लिांग परिवलतात रूप लवकल्पों िें से पहचानकि  

      लिलिए| 

युवक की आवाज ठीक पहुँची। िड़के की आवाज ठीक पह ुँचे। िड़की की आवाज ठीक पह ुँची। 

 

11.   िैं इसी चट्टान पि प्रतीक्षा किता ह ुँ I इस वाक्य का भलवष्यत काि रूप लवकल्पों िें  से पहचानकि  

        लिलिए| 

िैं इसी चट्टान पि प्रतीक्षा किता था। मैं इसी चट्टान पि प्रतीक्षा कि िहा ह ुँ। िैं इसी चट्टान पि प्रतीक्षा करूूँगा। 

 

12. तुि जाता ह ुँ | इस वाक्य का शुद्ध  रूप लवकल्पों िें से पहचानकि लिलिए| 

तुि जाता है। तुि जाते हो। तुि जाता हैं। 

 

भाग – II 

II. प्रश्न सिंख्या 13 से 16 तक हदए गए गद्ािंश ,पद्ािंश पढ़कर हनदेश के अनुसार उत्तर दीहिए|  
13. हनम्न हिहित गद्ािंश पढ़कर हदए गए प्रश्नों क ेउत्तर  हिहिए।                           5 × 1 = 5 

      जब लिलटि अांदिान औि काि लनकोबाि आपस िें जुड़ ेहएु थे तब वहाुँ एक सुांदि सा गाुँव 

था। पास िें सुांदि औि शस्क्तशािी युवक रहा किता था। उसका नाि था ततााँिा| लनकोबािी उसे 
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बेहद प्रेि किते थे। ततााँिा एक नेक औि िददगाि व्यस्क्त था।  सदैव दूसिों की सहायता के लिए 

तत्पि िहता।  अपन ेगाुँव वािों को ही नहीं अलपत ुसिूचे द्वीप की सेवा किना अपना पिि कताव्य 

सिझता था। 

 प्रश्न: 
      1) ततााँिा कैसा व्यस्क्त था? 

      2) ततााँिा से कौन बहेद प्रेि किते थे? 

      3) सुांदि औि शस्क्तशािी यवुक का नाि क्या था? 

      4) ततााँिा सदैव नकिकी सेवा के लिए तत्पि िहता था? 

      5) यह गद्ाांश लकस पाठ से लदया गया ह?ै 

14. हनम्न हिहित पद्ािंश पढ़कर हदए गए प्रश्नों के उत्तर हिहिए |                           5 × 1 = 5 
 कंपनी बाग के िुहाने पि 

 र्ि ििी गई है यह 1857 की तोप 

 इसकी होती ह ैबड़ी सम्हाि लविासत िें लिि े

 कंपनी बाग की तिह 

 साि िें चिकाई जाती ह ैदो बाि। 

 प्रश्न : 
1) कंपनी बाग के िुहाने पि लकस साि की तोप ििी गई है ? 

2) तोप  कहााँ ििी गई ह?ै 

3) तोप साि िें लकतनी बाि चिकाई जाती है? 

4) तोप लकसक ेिुहाने पि र्ि ििी गई है? 

5) उपयुाक्त  पद्ाांश के कलव कौन  ह ै? 

15. हनम्न हिहित गद्ािंश पढ़कर प्रश्नों का उत्तर हवकल्पों में से चुनकर हिहिए ।     5 × 1 = 5         
               नलदयााँ पवातों िें जन्ि िेती हैं । व ेवहााँ ठहिती नही हैं। लभन्न-लभन्न प्राांतों िें बहते हएु आग े

बढ़ती हैं। अनेक तथानों से बहनेवािी ये नलदयााँ लवशाि सागि िें लविीन होने तक आगे बढ़ती ही 

िही हैं। सिुद्रों िें लविीन होना नलदयों का गम्य तथान है । 

प्रश्न : 

1) नलदयााँ कहााँ जन्ि िेती हैं ?                                                                 [       ] 

     A) पवातों में         B) लहिािय में       C) लकले में          D) र्िती में  

2) लभन्न-लभन्न प्ाृंतों िें क्या बहती हैं ?                                                       [       ] 

     A) तािाब       B) नलदयााँ            C) सागि           D) झिन े
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3) नलदयों का गम्य तथान क्या है ?                                                             [       ] 

     A) सिुद्र            B) नदी                   C) नवशाल सागर   D) आकाश 

4) अनेक तथानों से बहनेवािी नलदयााँ कहााँ लविीन हो जाती हैं ?                       [       ] 

     A) पवात में          B) लवशाि सागि में   C) तािाब में         D) नाल ेमें  

5) इस अनुच्छेद िें लकसका वर्ान हुआ हैं? ।                                               [       ] 

    A) नलदयों का       B) पहाड़ों का           C) फूिों का          D) जानविों का  

16. नीच ेहदए गए पद्ािंश पढ़कर प्रश्नों के उत्तर हवकल्पों में से चुनकर हिहिए ।         5 ×1 = 5     

          बच्चे व ेही अच्छे होते  

         जो बड़ ेसबेिे उठते हैं। 

बच्चे व ेही अच्छे होत े 

         जो तकूि सिय पि जाते॥ 

अध्यापकों की बात िानत े 

        पढ़ने िें िन िूब िगाते। 

बच्चे व ेही अच्छे होत े

       जो शाि के सिय िोज िेिते॥ 

  प्रश्न : 
    1) अच्छे बच्च ेिोज कब उठत ेहैं?                                                                [       ] 

         A) िात को        B) दोपहि को        C) सबेिे                 D) शाि को 

    2) बच्चे तकूि कब जाते हैं?                                                                       [       ] 

         A) सिय पि     B) सिय के बाद     C) सिय के पहि े    D) कभी-कभी 

    3) बच्चे लकनकी बात िानत ेहैं?                                                                   [       ] 

          A) िेहिानों की      B) लित्रों की     C) अध्यापकों की     D) शत्रु की 

    4) बच्चे िोज कब ििेते हैं?                                                                       [       ] 

          A) सुबह               B) शाि           C) दोपहि              D) िात 

    5) इस पद्ाांश का उलचत शीषाक यह हो सकता है -                                            [       ] 

         A) बुिे बच्चे            B) नटिट बच्चे    C) अच्छे बच्चे     D) बच्चे-बच्चे   
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भाग - III 

17. द्विम्न द्विद्वित कद्वियों में हकसी एक कहव के बारे में पााँच पंक्ततयााँ हिहिए।        1 × 5 = 5                    
        अ) कबीि दास                     आ) िलैथिीशिर् गुप्त                                

18. हनम्न हिहित िेिक के बारे में पढ़कर रितत स्थािों की पूद्वति कीद्विए।               5 × 1 = 5 
      1892 िें िाजतथान के नविगढ़ िें जन्ि ेसीतािाि सेकसरिया का अलर्काांश जीवन किकत्ता िें  

बीता। िहात्िा गाांर्ी के आह्वान पि तवतांत्रता आांदोिन िें बढ़-चढ़ कि लहतसेदािी की। गुरुदेव  

िवींद्रनाथ ठाकूि, िहात्िा गाांर्ी, नेताजी सुभाष चांद्र बोस के किीबी िहे। सत्याग्रह आांदोिन के दौिान 

जेि यात्रा भी की। कुछ साि तक आजाद लहांद फौज के िांत्री भी िहे। भाित सिकाि ने उन्हें 1962 िें 

पद्मश्री से सम्िालनत लकया है ।    
                                                       

1) सीतािाि सेकसरिया का जन्ि --------  प्ाृंत में हुआ। 

2) -------- के आह्वान पि तवतांत्रता आांदोिन िें भाग लिया । 

3) सत्याग्रह आांदोिन के दौिान --------- यात्रा  की।  

4) सेकसरिया जी ---------- आांदोिन के लहतसेदािी बने |  

5) भाित सिकाि ने 1962 िें ----------- पुितकाि से सेकसरिया को सम्िालनत लकया I 

भाग - IV 

IV. हनम्न हिहित प्रश्नों में हकन् ी 6 प्रश्नों के उत्तर चार वातयों में हिहिए।            6 × 4 = 24 
19. कततूिी कुंडलि बस,ै ................ दुलनया देिै िाुँनह।। 

20. उदाि व्यस्क्त की पहचान कैसे हो सकती है? 

21. कि चिे हि लफदा गीत िें र्िती को दुल्हन क्यों कहा गया है? 

22. पुलिस कलिश्नि के नोलटस औि कौंलसि के नोलटस िें क्या अांति था? 

23. ततााँिा की तिवाि के बाि ेिें िोगों का क्या ित था? 

24. सवाि के जाने के बाद कनाि क्यों हक्का-बक्का िह गया? 

        25. हरिहि काका को िहांत औि अपने भाई एक ही श्रेर्ी के क्यों िगने िगे? 

        26. हडेिातटि शिाा जी ने पीटी साहब को क्यों िुअत्ति कि लदया?  
                                                                  

भाग – V 
V. द्विम्न द्विद्वित द्विबंधात्मक प्रश्न का उत्ति सूचिा के अिुसाि द्विद्विए| 
    27. हकसी एक प्रश्न का उत्तर 8 पंक्ततयों  में हिहिए।                                         1 × 8 = 8  
        अ) ‘पवात प्रदेश िें पावस’ पाठ का सािाांश अपने शब्दों िें लिलिए। 

       आ) मीरा के पदों का साराृंश अपिे शब्दों में नलनिए|  
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    28. हकसी एक प्रश्न का उत्तर 8 पंक्ततयों में हिहिए ।                                         1 × 8 = 8  
        अ) बड़ ेभाई साहब कहानी का सािाांश अपने शब्दों िें लिलिए। 

       आ) जापानी िोग तनाव को दूि किने के लिए लकन उपायों को अपनाते हैं-‘झेन की दने’ पाठ के  

              द्वािा तपष्ट कीलजए| 

भाग – VI 

VI. द्विम्न द्विद्वित प्रश्नों के उत्ति सूचिा के अिुसाि द्विद्विए | 

    29. हकसी एक प्रश्न का उत्ति  हिहिए |                                                            1 × 8 = 8                                     

        अ) बहन की शादी िें भाग िनेे के लिए सात लदन की छुट्टी िााँगत ेहुए प्रर्ानाध्यापक के नाि पर  

              पत्र लिलिए । 

      आ) लहांदी सीिन ेकी आवश्यकता बतात ेहुए भाई के नाि पर पत्र लिलिए। 

    30. द्विम्न द्विद्वित द्विषयों में से द्वकसी एक पि 10 पंक्ततयों में द्विबंध द्विद्विए |  1 × 10 =10                                                      

      अ) पयााविर् औि प्रदूषर् 

     आ) पुततकािय 

       इ) अपिा मि पसृंद त्यौहार  

       ई) कंप्यूटि 

 

***** 
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दसवीं कक्षा  नमूना प्रश्न पत्र – 2 – 2024 - 25 

द्वितीय भाषा ह िंदी 
 कक्षा-X                                                                                               समय: 3:15 द्विद्विट 
                                                                                                             अिंक:100 
 

सूचिाए:ँ-  1. प्रश्न पत्र पढ़ने के लिए 15 लिनिट समय निर्धारित है। 

                2. प्रश्नों का उत्तर उत्तर पुस्तिका िें ही लिलिए। 

                3. प्रश्न पत्र िें 6 भाग हैं। 
 

भाग - I 

I. हनम्न हिहित प्रश्नों के उत्तर सूचना के अनसुार हिहिए।                                 12 × 1 =12                                              

1. लनिंदक को अिंगण  िें रिना चालहए। रेिािंलकि शब्द का ित्सि रूप पहचानकर लिलिए। 

आँगन िृदिंग भुज 
 

2. कृष्ण वृिंदावन िें गाय चरािे हैं I  वाक्य िें लिया शब्द लवकल्पों िें से पहचानकर लिलिए। 

वृिंदावन गाय चरािे 
 

3. अठारह सौ लियासी- लहिंदी अक्षरों को पढ़कर  सिंख्याओं को लवकल्पों िें से पहचानकर लिलिए | 

1887 1868 1886 
 

4. लगरि ------ गौरव गाकर झरिे हैं झरने। सही कारक लचह्न लवकल्पों िें से पहचानकर लिलिए |   

के का की 
 

5. िोप िोट ेिड़कों की घुडसवारी बनी है। रेिािंलकि शब्द का सिास लवकल्पों िें से पहचानकर       

     लिलिए| 

द्वंद्व सिास लिगु सिास ित्पुरुष सिास 

 

6. हि लहिािय का सर झुकने नहीं देंगे। रेिािंलकि शब्द का सिंलि लवच्िेद लवकल्पों िें से पहचानकर  

    लिलिए| 

हीि+आिय लहि+आिय लहिा+आिय 
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7. िािीि एक िहत्वपूणण कायण है। रेिािंलकि शब्द का पयाणय शब्द लवकल्पों िें से पहचानकर लिलिए| 

कक्षा अध्यापक लशक्षा 
 

8. कनमश्नर नोलटस के अनुसार कोई सभा नहीं होगी। रेिािंलकि शब्द का उपसगण लवकल्पों िें से  

    पहचानकि लिलिए| 

सार अनु र 
 

9. ििाँरा वािीरो के सौंदयण से सम्िोलहि  था। रेिािंलकि शब्द का प्रत्यय लवकल्पों िें से पहचानकर  

    लिलिए|  

बह ु इि चलचणि 
 

10. औरिें सोन ेके गहने बनवा िेिी हैं। इस वाक्य का लििंग पररवलिणि रूप लवकल्पों िें से पहचानकर   

      लिलिए। 

आदिी सोन ेके गहन े

बनवा िेिा है। 

आदिी सोन ेके गहन े

बनवा िेि ेहैं। 

आदिी सोन े गहने बनवा 

िेिा है। 
 

11. जिंगि की लजिंदगी बहुत ििरनाक होिी है। इस वाक्य का भलवष्यि काि रूप लवकल्पों िें स े  

      पहचानकर लिलिए|  

जिंगि की लजिंदगी बहुत 

ििरनाक होगी। 

जिंगि की लजिंदगी बहुत 

ििरनाक होिी थी। 

जिंगि की लजिंदगी बहुत 

ििरनाक हुई । 

 

12. वह उसका घर गया। इस वाक्य का शुद्ध रूप लवकल्पों िें से पहचानकर लिलिए । 

वह उनके घर गए।    वह अपना  घर गया। वह उसकी घर गया। 

 

भाग - II 

II. प्रश्न सिंख्या 13 से 16 तक हदए गए गद्ािंश ,पद्ािंश पढ़कर हनदेश के अनुसार उत्तर दीहिए|  
13. हनम्न हिहित गद्ािंश पढ़कर हदए गए प्रश्नों क ेउत्तर  हिहिए।                           5 × 1 = 5 

आज न ििाँरा है न वािीरो लकिंिु उनकी यह प्रेि कथा घर-घर िें सुनाई जािी है। लनकोबाररयों का िि 

ह ैलक ििाँरा की ििवार से कार लनकोबार के जो टुकड़े हुए उसिें दूसरा लिलटि अिंडिान है जो कार 
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लनकोबार से आज 96 लकिोिीटर दूर स्तथि ह।ै लनकोबार इस घटना के बाद दूसरे गधाँव िें भी आपसी 

वैवालहक सिंबिंि करन ेिग।े ििाँरा वािीरो की त्यागियी िृत्य ुशायद इसी सुिद पररविणन के लिए थी। 

प्रश्न : 
    1) लनकोबाररयों का क्या िि है ? 

    2) लिलटि अिंडिान से लनकोबार लकिने लकिोिीटर की दूरी पर है ? 

    3) ििाँरा और वािीरो की कौनसी कथा घर -घर िें सुनाई जािी ह ै? 

    4) त्यागियी िृत्यु लकसकी थी ? 

    5) यह गद्ािंश लकस पाठ से लदया गया है ? 

14. हनम्न हिहित पद्ािंश पढ़कर हदए गए प्रश्नों के उत्तर हिहिए।                               5×1= 5 

अब िो बहरहाि  

िोट ेिड़कों की घुडसवारी से अगर यह फ़धरीग हो  

 िो उसके  ऊपर बैठकर 

 निनियधाँ ही अकसर करिी हैं गपशप 

 कभी-कभी शिैानी  िें व ेइसके भीिर भी घुस जािी है  

 िासकर गौरैयें 

 व ेबिािी हैं लक दरअसि लकिनी भी बड़ी हो िोप 

 एक लदन िो होना ही है उसका मुाँह बिंद। 

प्रश्न : 

      1) िोट ेिड़कों के लिए घुड सावरी क्या बनी है ? 

      2) लचलड़या अकसि क्या करिी हैं ?  

      3) गौरैया क्या करिी हैं ? 

      4)  लकसका िुँह बिंद हुआ ? 

      5) इस पद्ािंश के कलव कौन है ?  

15. हनम्न हिहित गद्ािंश पढ़कर प्रश्नों का उत्तर हवकल्पों में से चुनकर हिहिए ।     5 × 1 = 5  

                     एक लदन एक चींटी िाने क ेलिए जा रही थी। वह अचानक पानी िें लगर गई। एक कबूिर न े

उसको  दिेा। एक पत्ते को िोड़कर उसके सािने डािा। चींटी पत्ते पर चढ़कर बाहर आ गई। दोनों लित्र 

बन गए। 
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प्रश्न : 

     1) चींटी क्यों जा रही थी?                                                                      [       ]  

            A) िाने          B) सोने             C) लििन े           D) िैरने  

     2) अचानक िींटी कहा ँलगर गई?                                                            [       ] 

            A) नदी िें         B) सागर िें        C) पानी िें           D) िािाब िें  

     3) चींटी को लकसने देिा?                                                                     [       ] 

            A) कबूिर        B) िोिा              C) िोर              D) िनैा 

     4) कबूिर ने चींटी के सािने क्या डािा?                                                   [       ] 

            A) पत्ता           B) फूि               C) पानी             D) डधली 

     5) दोनों क्या बन गए?                                                                           [       ] 

             A) शत्र ु          B) भाई              C) बहन              D) लित्र 

16. नीच ेहदए गए पद्ािंश पढ़कर प्रश्नों के उत्तर हवकल्पों में से चुनकर हिहिए ।         5 ×1 = 5 

फूिों से  लनि  हाँसिध सीिो। 

भौरों से लनि गाना। 

सूरज की लकरणों से सीिो  

जगना और जगाना । 

हवा की झोंकों से सीिो  

 लहिना और लहिाना | 

पिझड़ के पेड़ों से सीिो  

दुि िें िीरज िरना। 

प्रश्न : 

      1) फूिों से क्या सीििे हैं?                                                                     [       ] 

            A) गाना        B) हँसना        C) रोना         D) लहिाना  

      2) भौंरों से क्या सीििे हैं?                                                                      [       ] 

           A) गाना        B) जगना        C) लहिाना      D) देिना 

      3) जगना और जगाना लकससे सीििे हैं?                                                    [       ] 

            A) हवा से    B) फूिों से      C) र्िती से       D) सूरज से 
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      4) हवा के झोंकों से क्या सीिि ेहैं?                                                           [       ] 

           A) जगना           B) गाना         C) बजाना                D) लहिना और लहिाना 

      5) पिझड के पेड़ों से हि क्या सीििे हैं?                                                     [       ] 

           A)  लहिाना        B) रोना         C) हाँसिध और हाँसधिध  D) दिु िें िीरज िरना 
 

भाग - III 

17. द्विम्न द्विद्वित कद्वियों िें हकसी एक कहव के बारे में पाँच पंक्ततया ँहिहिए।        1 × 5 = 5                    

       अ) ज्ञानिागी शािा के कलव कबीरदास           आ) िलैथिीशरण गुप्ि 

18. हनम्न हिहित िेिक के बारे में पढ़कर रितत स्थािों की पूद्वति कीद्विए।               5 × 1 = 5 

          सीिाराि सेकसररया का जन्ि 1892 को नविग़ढ िें  हुआ। व ेगुरुदवे रवींद्रनाथ ठधकुि, िहात्िा 

गािंिी, सुभाष चिंद्र बोस के करीबी रहे। कुि साि िक आजाद लहिंद फौज के ििंत्री भी रहे। भारि सरकार ने 

उन्हें 1962 िें पद्मश्री सम्िान से सम्िालनि लकया। तवाध्याय से ही वे पढ़ना लििना सीिा। 

1) सीिाराि सेकसररया का जन्ि ________ प्धंत िें हुआ। 

2) रवींद्रनाथ ठाकुर, िहात्िा गािंिी, सुभाष चिंद्र बोस के करीब िें __________रह ेथे |  

3)  सेकसररया _________ सिंतथा िें ििंत्री का काि लकया |  

4) भारि सरकार ने  सकेसररया को पद्मश्री पुरतकार ___________ साि  िें लदया। 

5) सेकसररया पढ़ना-लििना _________से सीिा । 
 

भाग - IV 
IV. हनम्न हिहित प्रश्नों मैं हकन् ी 6 प्रश्नों के उत्तर चार िातयों में हिहिए।           6 × 4 = 24 

19. सुलिया सब .................. अरू रोवै।। (दोह ेकी पूिी कीलजए ) 

20. िनुष्य िात्र बिंिु - से आप क्या सिझिे हैं? तपष्ट कीलजए। 

21. 'सर लहिािय का हिने न झुकने लदया’, इस पिंस्क्ि िें लहिािय लकस बाि का प्रिीक है? 

22. 26 जनवरी 1931 के लदन को अिर बनाने के लिए क्या-क्या िैयाररयधाँ की गई? 

23. ििाँरा  वािीरो की त्यागियी ितृ्यु से लनकोबार िें क्या पररविणन आया? 

24. व़जीि अली क ेअफ़सधिे सुिकि किाल को िधाँनबिहुड की यधद क्यों आ जधती थी? 

25. हररहर काका को िहिंि और अपन ेभाई एक ही श्रेणी के क्यों िगने िग?े 

26. कोई भी भाषा आपसी व्यवहार िें बािा नहीं बनिी- पाठ के लकस अिंश से यह लसद्ध होिा है? 
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भाग – V 

V. द्विम्न द्विद्वित द्विबंधात्िक प्रश्न का उत्ति सूचिा के अिुसाि द्विद्विए | 
27. हकसी एक प्रश्न का उत्तर 8 पंक्ततयों  में हिहिए ।                                            1 × 8 = 8        

     अ) िीराबाई श्री कृष्ण के रूप सौंदयण का वणणन कैसे लकया? ‘िीरा के पद’ पाठ के िारा लसद्ध   

            कीलजए?   

    आ) ‘पवणि प्रदेश िें पावस’ पधठ में पधवस में पवात प्धंत कध सौंदयण कलव न ेलकस प्रकार वणणन लकया? 

28.  हकसी एक प्रश्न का उत्तर 8 पिंक्ततयों िें हिहिए।                                             1 × 8 = 8 

    अ) बड़ ेभाई साहब के अनुसार जीवन की सिझ कैसे आिी है? कहानी के आिार पर लवतिार  

           कीलजए|  

   आ) ‘झेन की देन’ पाठ का सारािंश अपने शब्दों िें लिलिए |  

भाग – VI 

VI. द्विम्न द्विद्वित प्रश्नों के उत्ति सूचिा के अिुसाि द्विद्विए | 

   29. हकसी एक प्रश्न का उत्तर हिहिए।                                                               1 × 8 = 8 

        अ) अपनी बड़ी बहन की शादी िें जाने के लिए िीन लदन की िुट्टी मधाँगिे हएु अपने प्रिानाध्यापक  

              के नाि पर पत्र लिलिए। 

       आ) आवश्यक पुतिके िाँगि ेहुए पुतिक लविेिा के नाि पर पत्र लिलिए I 

  30. द्विम्न द्विद्वित द्विषयों िें से द्वकसी एक पि 10 पंक्ततयों िें द्विबंध द्विद्विए |    1 × 10 =10                                                      

        अ) वृक्ष हिारे साथी  

       आ) लवद्ाथी -अनशुासन 

  इ) दीपाविी 

  ई) लवज्ञान से िाभ  

 

***** 
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दसवीं कक्षा वार्षिक नमूना प्रश्न पत्र - 3  - 2024-25   
द्वितीय भाषा र् िंदी   

कक्षा : X                                                                                           समय : 03:15 र्मर्नट   

                                                                                                         अिंक : 100                                                                                                                                                                                                                                       
 

सूचनाएँ:-   1. प्रश्न पत्र पढ़ने के लिए 15 लिननट का समय ननर्ाारित है। 

                2. प्रश्नों का उत्तर उत्तर पुस्तिका िें ही लिलिए। 

                3. प्रश्न पत्र िें 6 भाग हैं। 
 

भाग - I 

I. र्नम्न र्िर्ित प्रश्नों के उत्तर सूचना के अनसुार र्िर्िए।                                12 × 1 = 12  

1. पेड़ की छाया सीिि होिी है। रेिाांलकि शब्द का ित्सि रूप लिकल्पों िें से पहचानकर लिलिए| 

शीिि लनकट पेड़ 
 

2. िीराबाई कृष्ण के दशशन के लिए िथुरा आयी। िाक्य िें लिया शब्द लिकल्पों िें से पहचानकर लिलिए। 

िीराबाई कृष्ण आयी 
 

3. अठारह सौ सत्तािन - लहांदी अक्षरों को पढ़कर सांख्याओं को लिकल्पों िें से पहचानकर लिलिए| 

1867 1857 1952 
 

4. पेड़ धरा ________ धँस गए।  सही कारक  लचह्न  लिकल्पों िें  से पहचानकर लिलिए। 

के का िें 
 

5. लचलड़या ँशिैानी िें कभी-कभी िोप के अांदर घुस जािी हैं। रेिाांलकि शब्द का सिास लिकल्पों िें से   

    पहचानकर लिलिए। 

लिगुसिास अव्ययीभाि सिास ित्पुरुष सिास 

 

6. हर लिद्यािय िें झांडा फहराया गया। रेिाांलकि शब्द का सांलध लिच्छेद लिकल्पों िें से पहचानकर  

    लिलिए। 

लिद्य+ आिय लिद्या+अिी लिद्या +आिय 
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7. हिें बहुि िेहनि करनी चालहए। रेिाांलकि शब्द का पयाशय शब्द लिकल्पों िें से पहचानकर लिलिए। 

श्रि नष्ट काि 
 

8. पुलिस भी अपनी पूरी िाकि से शहर िें प्रदशशन कर रही थी। रेिाांलकि शब्द का उपसगश लिकल्पों िें से  

    पहचानकर लिलिए। 

न प्र दशशन 
 

9. त्यौहार के सिय ििाँरा को  लिशेष रूप से आिांलत्रि लकया जािा। रेिाांलकि शब्द का प्रत्यय लिकल्पों  

    िें से पहचानकर लिलिए। 

आ िांत्री इि 
 

10.औरिों को प्रिेश नहीं लदया जािा। लिांग पररिलिशि रूप लिकल्पों िें से पहचानकि निनिए । 

आदलियों को प्रिशे नहीं 

लदया जािा | 

िड़कों को प्रिेश नहीं 

लदया जािा| 

युिकों को प्रिशे नहीं 

लदया जािा| 
 

11. िजीर आजिगढ़ की िरफ भाग गया। इस िाक्य का ििशिान रूप लिकल्पों िें से पहचानकर लिलिए। 

िजीर आजिगढ़ की 

िरफ भागेगा। 

िजीर आजिगढ़ की 

िरफ भाग गया। 

िजीर आजिगढ़ की 

िरफ भागिा है। 

 

12. िैं न ेपुतिक पढ़ा। शदु्ध रूप लिकल्पों िें से पहचानकर लिलिए। 

िैं न ेपुतिक पढ़।े  िैं पुतिक पढ़ा।  िैं ने पुतिक पढी। 
 

भाग - II 

II. प्रश्न सिंख्या 13 से 16 तक र्दए गए गद्ािंश, पद्ािंश पढ़कर र्नदेश के अनुसार उत्तर दीर्िए | 

13. र्नम्न र्िर्ित गद्ािंश पढ़कर र्दए गए प्रश्नों क ेउत्तर र्िर्िए|                            5 × 1 = 5          

     िषश िें एक बार सभी गाँव के िोग लहतसा िेि ेहैं। बाद िें नृत्य-सांगीि और भोजन का भी 

आयोजन होिा है। शाि से सभी िोग पासा िें एकलत्रि होने िगे। धीर-ेधीर ेलिलभन्न कायशिि शुरू 

हुए । ििाँरा का िन इन कायशििों िें िलनक न था।  
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प्रश्न : 

    1) िषश िें लकिने बार गाँि के िोग लहतसा िेि ेहैं ? 

    2) नृत्य सांगीि के साथ लकसका आयोजन होिा ह ै? 

    3) सभी िोग कह ां एकलत्रि होने िग े? 

    4) ििाँरा का िन लकसिें न था ? 

    5) यह गद्याांश लकस पाठ से लदया गया है ? 

14. र्नम्न र्िर्ित पद्ािंश पढ़कर प्रश्नों के उत्तर र्िर्िए ।                                       5 × 1 = 5  

सुबह - शाि कंपनी बाग िें आि ेहैं बहिु से सैिानी  

उन्हें बिािी ह ैयह िोप  

लक िैं बड़ी जबर  

उड़ा लदए थे िैंन े 

अच्छे - अच्छे सूरिाओं के धजे्ज  

अपने जिाने िें | 

प्रश्न:  

    1) सुबह - शाि कंपनी बाग िें कौन आि ेहैं ? 

    2) िोप क्या बिािी ह ै? 

    3) बड़ी जबर कौन ह ै? 

    4) अच्छे-अच्छे सूरिाओं के धजे्ज लकसन ेउड़ाया ?  

    5) इस पद्याांश के कलि कौन हैं ? 

15. र्नम्न र्िर्ित गद्ािंश पढ़कर प्रश्नों का उत्तर र्वकल्पों में से चुनकर र्िर्िए ।     5 × 1 = 5 

         नरकासुर एक राक्षस था। िह िोगों को सिा रहा था। श्रीकृष्ण ने सत्यभािा के साथ उसका 

िध लकया। िोग िब से लदिािी िनान ेिगे। लदिािी का अथश है दीपों की आविी। यह अस्विन 

अिाितया को िनाया जािा है। 

प्रश्न: 

      1) राक्षस का नाि क्या था?                                                                               [        ] 

           A) नरकासुर          B) श्रीकृष्ण         C) श्री राि         D) सत्यभािा 
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    2) िोगों को कौन सिा रहा था?                                                                           [        ] 

           A) श्रीकृष्ण          B) नरकासुर        C) श्री राि          D) सत्यभािा 

    3) श्री कृष्ण ने लकसक ेसाथ नरकासुर का िध लकया ?                                               [        ] 

           A) श्रीकृष्ण           B) नरकासुर              C) श्री राि             D) सत्यभािा 

    4) नरकासुर के िध के बाद िोग कौनसा त्यौहार िनाने िगे?                                      [        ] 

           A) निवािी            B) दशहरा                C) उगालद              D) लिसिस 

    5) निवािी का अथश क्या ह?ै                                                                                [        ] 

          A) फूिों की आविी   B) कागज की आविी   C) दीपों की आविी   D) पत्तों की आविी  

16. नीच ेर्दए गए पद्ािंश पढ़कर प्रश्नों के उत्तर र्वकल्पों में से चुनकर र्िर्िए ।         5 ×1 = 5 

तितथ िन िें तितथ िस्तिष्क और िन। 

पीनियों का नाता चुटकी िें तोड़ा करोना। 

बनिया बाि नहीं िह है हिेशा से बेईिान।  

ना िीलडया को अपना एजेंडा बिाया। 

ना सरकार को अपना पिा बिाया। 

ना धिश  ना जाि - पाांथ ना भगिान का चरण छूया। 

बस चिे आया । 

प्रश्न: 

    1) तितथ िन िें लकसका लनिास होिा है?                                                            [        ] 

            A) भगिान का     B) भक्ि का        C) तितथ िस्तिष्क का      D) शरीर का 

    2) पीनियों का नाता चुटकी िें लकसन ेिोड़ा ?                                                        [        ] 

           A) डेंग्य ू              B) पेट ििा           C) फ्िू                         D) करोना 

    3) करोना कैसी ह?ै                                                                                        [        ] 

           A) सुांदर              B) िूबसूरि        C) बेईिान                    D) बुलद्धिान 

    4) करोना लकसको अपना एजेंडा नहीं बिाया ?                                                      [        ] 

           A) लित्र को          B)  चीन को        C) दुलनया को                D) िीलडया को 

    5) धिश, जाि - पाांथ के लबना क्या आ गया?                                                           [        ] 

           A) ििेररया          B) बुिार            C) कैंसर                     D) करोना 
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भाग - III 

17. द्विम्न द्विद्वित कद्वियों में र्कसी एक कर्व के बारे में पााँच पंक्ततयााँ र्िर्िए।        1 × 5 = 5                    

       अ)  कलि कबीरदास                आ) राष्रकलि िलैथिीशरण गुप्ि 

18. र्नम्न र्िर्ित िेिक के बारे में पढ़कर रितत स्थािों की पूद्वति कीद्विए।               5 × 1 = 5 
       िहात्िा गाांधी के आह्वान पर सीिाराि सेकसररया तििांत्रिा आांदोिन िें बढ़ चढ़कर लहतसेदारी की। 

िह निेाजी सुभाष चांद्र बोस के करीबी रहे। सत्याग्रह आांदोिन के दौरान जेि यात्रा भी की। 

सीिाराि सेकसररया को लिद्यािय लशक्षा पाने का अिसर नहीं लििा। तिाध्याय से ही पढ़ना-

लििना सीिा। 
 

1) िहात्िा गाांधी के आह्वान पर--------- न ेतििांत्रिा आांदोिन िें बढ़ चढ़कर लहतसेदारी की। 

2) सेकसररया-------के करीबी रहे।  

3) -------आांदोिन के दौरान सेकसररया जी जेि यात्रा भी की । 

4) सीिाराि सेकसररया को -------- लशक्षा पाने का अिसर नहीं लििा। 

5) सीिाराि सेकसररया ------से ही पढ़ना-लििना सीिा। 
 

भाग - IV 

IV. र्नम्न र्िर्ित प्रश्नों मैं र्कन् ी 6 प्रश्नों के उत्तर चार िातयों में र्िर्िए।           6 × 4 = 24 
19. जब िैं था तब -------------देख्या ि ांलह। (दोह ेकी पूलिश कीलजए ) 

20. मैनििीशिण गुप्त ने कैसी िृत्य ुको सुिृत्यु कहा है? 

21. कलि कैंफी आज़मी ने ‘सालथयो’ सांबोधन का प्रयोग लकसके लिए लकया? 

22. धिशशािा के िोड पर आकर जुिूस क्यों टूट गया ? 

23. ििाँरा िािीरो की त्यागियी िृत्यु से लनकोबार िें क्या पररििशन आया? 

24. सआित अिी कौन िा? उसने व़जीि अिी की पैिाइश को अपनी मौत क्यों समझा? 

25. अनपढ़ होि ेहुए भी हररहर काका दुलनया की बेहिर सिझ रिि ेहैं| कहानी के आधार पर तपष्ट  

      कीलजए।  

26. तकाउट परेड करिे सिय िेिक अपन ेको िहत्िपूणश आदिी फौजी जिान क्यों सिझन ेिगिा था? 

भाग- V 
V. द्विम्न द्विद्वित द्विबंधात्मक प्रश्न का उत्ति सूचिा के अिुसाि द्विद्विए | 
  27. र्कसी एक प्रश्न का उत्तर 8 पंक्ततयों  में र्िर्िए ।                                          1 × 8 = 8        
     अ) िषाश -ऋिु िें प्रकृलि का रूप लकस प्रकार पररिलिशि होिा है? ‘पिशि प्रदेश िें पािस’ कलििा के  

           आधार पर तपष्ट कीलजए| 
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    आ) श्रीकृष्ण के रूप सौंदयश का िणशन ‘िीरा के पद’ पाठ के आधार पर तपष्ट कीलजए|। 

  28. र्कसी एक प्रश्न का उत्तर 8 पंक्ततयों में र्िर्िए ।                                           1 × 8 = 8  
          अ) ‘बड़ ेभाई साहब’ पाठ के आधार पर यह लसद्ध कीलजए लक बाि सहज भािनाए ँ हर बच्चे िें एक  

                 ही जैसे होि ेहैं। 

         आ) ‘पिझर िें टटूी पलत्तयाँ’  पाठ के आधार पर ‘झेन की दने’ के बार ेिें लिलिए। 

भाग – VI 

VI. द्विम्न द्विद्वित प्रश्नों के उत्ति सूचिा के अिुसाि द्विद्विए | 

 29. र्कसी एक प्रश्न का उत्ति  र्िर्िए |                                                               1 × 8 = 8                                 

      अ) लकसी यात्रा का िणशन करि ेहुए अपने लित्र के नाि पि पत्र लिलिए ।  

     आ) अपनी  बीिार दादी को देिने के लिए चार लदन की छुट्टी िाँगि ेहएु िगश अध्यापक के नाि पि  

            पत्र लिलिए। 

 30. द्विम्न द्विद्वित द्विषयों में से द्वकसी एक पि 10 पंक्ततयों में द्विबंध द्विद्विए |    1 × 10 =10                                                      

अ) तिच्छिा और हररयािी  

आ) आदशश लिद्याथी  

  इ) अपन ेिनपसांद त्यौहाि  

  ई) कंप्यूटि 

 

***** 
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Instructions :

1. The question paper has 37 questions in three sections (A, B and C)

2. Answer all the questions on a separate answer book supplied to you.

3. 15 minutes of time is allotted exclusively for reading the question paper and 3 hours for
writing the answers.

4. Answer all the questions of SECTION – B (Grammar and Vocabulary) in the same order at
one place in your answer book.

SECTION — A : READING COMPREHENSION

(Questions 1 - 5) : Read the following passage carefully.

His Mother Had picked up a piece of the fish and was flying across to him with it .he leaned
out eagerly. Tapping the rock with his feet, trying to get nearer to her as she flew across but when
she was just opposite to him, she halted, her wings motionless, the piece of fish in her beak
almost within reach of his beak, he waited a moment in surprise, wondering why she did not come
nearer and then, maddened by hunger, he dived at the fish .with aloud scream he fell outwards and
downwards into space. Then a monstrous terror seized him and heart stood still. He could hear
nothing but it only lasted a minute. The next moment he felt his wings spread outwards the wind
rushed against this breast feathers, then under his stomach and against his wings. He could feel
the tips of his wings cutting through the air. He was not falling headlong now. He was soaring
gradually downwards and outwards. He was no longer afraid. He just felt dizzy. The he flapped his
wings once and he soared upwards (His First Flight)
Now, answer the following questions. 5 X 2 = 10 M
1. What did the seagull’s mother do?
2. What surprised the young sea gull?
3. What made the young Seagull dive into the sky?

A) hunger
B) anger
C) fear

4. Why did the young Seagull’s heart stand still?

A) The seagull fell into the Water.

B) The Seagull’s mother maddened him.

C) The Seagull was terrified to enter the space outwards and downwards.

ENGLISH
Third Language

(Model Question Paper -1) 2025

 Class: 10     Max.marks: 100        Time: 3:15m
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5. What made the Seagull fearless?
A) The experience of flight into the sky.
B) The sight of the fish.
C) The encouragement of siblings

(Questions 6 - 10) : Read the following stanza carefully.
He should be snarling around houses
At the jungle’s edge,
Baring his white fangs, his claws,
Terrorising the village!

But he’s locked in a concrete cell,
His strength behind bars,
Stalking the length of his cage,

Ignoring visitors.
He hears the last voice at night,
The patrolling cars,
And stares with his brilliant eyes
At the brilliant stars. (A Tiger in the Zoo)

Now, answer the following questions. ` 5 X 1 = 5 M
6. Who does ‘he’ refer to?
7. How did he terrorise the villagers?
8. Where was he locked in?

A) in the forest edge
B) in a concrete cell
C) in an old building

9. What is the mood of the person /animal in second stanza?
A) agony
B) pride
C) relaxed

10. What is the last voice he hears in the poem?
A) The voice of visitors.
B) The patroling cars.
C) The brilliant stars.

(Questions 11 - 15) : Read the following passage carefully.

I awoke late next morning to find that Anil had already made the tea. He stretched out his hand
towards me. There was a fifty-rupee note between his fingers. My heart sank. I thought I had
been discovered.
“I made some money yesterday,” he explained. “Now you’ll be paid regularly.”
My spirits rose. But when I took the note, I saw it was still wet from the night’s rain.
“Today we’ll start writing sentences,” he said.
He knew. But neither his lips nor his eyes showed anything. I smiled at Anil in my most appealing
way. And the smile came by itself, without any effort.  (The Thief’s Story)
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Choose the appropriate answer from the options given: 5 X 1 = 5 M
11. ‘My heart sank’. What does the sentence mean?

A) He jumped up and down.
B) He became disappointed.
C) He felt fear of being caught.

12.‘He stretched out his hand’. Who does ‘He’ refer to?
A) the publisher

B) the writer

C) the thief

13. ‘He knew’.  What did ‘he’ know?
A) He knew that it rained.

B) He knew that he studied well.

C) He knew that Hari tried to steal.

14. ‘The smile came by itself. Why?
A) His thoughts were clean.

B) So far, he held the smile back.

C) The incident was amusing.

15. What will the narrator probably do after this?
A) He will help the poor.

B) He will change his behaviour.

C) He will go from there at once.

(Question 16) : Study the following Tree-diagram.

Now, answer the following questions. 5 X 1 = 5 M
i) What does the Tree-diagram show?
ii) How many types of musical instruments are there?
iii) How many instruments are shown in percussion instruments?

a) eleven
b) five
c) two
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iv) Identify the wind instrument from the following.
a) guitar
b)  flute
c) xylophone

v) Identify the correct statement.
a) Drum is a wind instrument.
b) Guitar is a stringed instrument.
c) Mouth organ is a percussion instrument.

(Question 17) : Read the following passage carefully.
There was a big banyan tree, where two crows - husband and wife, had prepared

a nice nest and made it their home. In the hollow of the same tree, lived a black cobra.
The crows had a problem because the black cobra would climb up the tree and eat
the newborns, whenever the female crow hatched her eggs. They could do nothing to
save them.

The crows went to a jackal, who lived in a nearby banyan tree, to seek his advice.
They narrated everything to him and requested his advice for them to get rid of their
problem. They said, “O Friend, It has become dangerous to live here. Please tell us
how we can protect our children from being eaten up by the wicked black cobra.
 The jackal replied, “Please don’t give up. Even powerful enemies can be overcome
with the use of wit.”

Now, arrange the following jumbled sentences into a meaningful order.     5 X 1 = 5 M
a) The crows went to a jackal and sought his advice.
b) Powerful enemies can be overcome with the use of wit.
c) Two crows prepared a nice nest and made it their home.
d) The jackal assured the birds and asked the birds to be brave.
e) There was a black cobra in the hollow and ate the newly born birds.

SECTION — B
GRAMMAR & VOCABULARY

Note : Answer all the questions of Section - B in the same order at one place in
your answer book.

18. Combine the following sentences using ‘whom’ 2 M
He is the new principal. I worked with him before.

19. Change the following sentence into ‘passive voice’ 2 M
Sheela has prepared tasty dishes.

20. Change the following into Reported Speech. 2 M
The patient said to the doctor,’ I have bought the medicines.

21. Fill in the blanks with suitable preposition given in brackets. 2 × 1= 2 M
i) The baker collected his bills …....the end of the month. (with, at, in)
ii)   The aeroplane had no lights........ its wings. (for, on, by)
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22. Edit the following passage. 4 X 1 = 4 M

The bus rolls (a) on now cutting across a bare                            a)…………....……...………

Landscape, now rushing down (b) a tiny                                      b)……...........………………

Hamlet or past a (c) odd wayside shop. Sometimes the bus      c)…………................……..

seemed on the point of gobbling to other vehicle (d).                   d)………….......…........……

23. Fill in the blanks with suitable articles. 2 X 1 = 2 M

1. I could not see ......… black aeroplane.

2. ......… guard gave green signal and the train pulled out.

24. Change the following into Repeated action in the past using ‘would/used to’   2X1=2M

i) When I was a child, I played cricket every evening.

ii) In my school days, our teacher felt happy teaching us.

25. Rewrite the sentences into a single sentence using Noun-modifiers. 2 X 1 = 2 M

i) I bought a mobile. It is an  Android mobile and is red in colour.

ii) She wore a saree. It is a Kancheepuram saree. It is blue in colour.

26. Give a suitable advice for the situation given below. 2 M

Your friend is interested in computers. Advise him to join a computer course.

27. Read the following paragraph and write the synonyms of the underlined words,

     choosing the words given in the box. 4 X 1 = 4 M

                                   creativity, end of life, good-looking, despair, fortunately

I finished my poem, and it was beautiful (a)! It was about a mother duck and a father swan with

three baby ducklings who were bitten to death (b) by the father because they quacked too much.

Luckily (c), Mr Keesing took the joke the right way. He read the ingenuity originality and inventiveness

(d), adding his own comments, and to several other classes as well.

28. Read the following paragraph and write the antonyms of the underlined words.

4 X 1 = 4 M

When I casually mentioned this to a friend (a), he has casually replied (b) that I had better get

one in the Tigris marshes, for there they were as common (c) as mosquitoes, and were often

tamed by the Arabs. We were going to Basra to the Consulate-General to collect (d) and answer

our mail from Europe.

29. Fill the blanks with the right form of words given in the brackets. 2 X 1 = 2 M

We just get along somehow, my angel, thanks to your prayers, and so on. Sit down, please

do. Now, you know, you shouldn’t ……(a) (forget/forgetfulness/ forgetful) all about your……(b)

(neighbourhood/neighbour/neighbouring), my darling.
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30. Complete the words with correct Prefixes and Suffixes given in the brackets.         2X1=2M

i) She calculated and recalculated, planned and………planned. (re, dis)

ii) The Buddhist ascetic felt sleepy during medita……… (tions, sions).

31. Find the wrongly spelt word and write the correct spelling. 2 X 1 = 2 M

i) pledge, inagaration, courage, obligation ......................

ii) compulsive, barrage, apparantly, windshield ......................

32. Read the following dictionary entry of the word given below. 2 X 1 = 2 M

i) What is the part of speech of the word ‘squirm’?

ii) Pick one sentence with the word ‘squirm’ used in it.

33. Use the following expressions in sentences of your own. 2 X 1 = 2 M

i) Phrasal verb: make up for

Ans. ..................................................................................................................................

ii) Idiomatic expression: quaking in the boots

Ans. ..................................................................................................................................

34. Match the following. 4 X ½ = 2 M

Part - A Part - B

i) get along with ( ) a) to take care of

ii) stay in ( ) b) remain quiet

iii) look after ( ) c) stay indoors

iv) calm down ( ) d) have a good relation with
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SECTION — C : CREATIVE EXPRESSION

35. A) In the lesson ‘The Black Aeroplane’, The pilot wants to land the flight and tries to contact the

ground station. But he could not as the sky was full of clouds and the ground control does not

respond. Even the compass fails. But, dramatically he landed the aeroplane safe in those

conditions. meets an officer and at the control centre and talks to her. 10 M

Now, write a possible conversation between the pilot and the officer in the  control

station.

(OR)

      B) In the lesson ‘Madam Rides the bus’, Valli got into the bus in the village to go to the town.

She devours everything in and around the bus. She looks outside through the window at

the canal. Palm trees, grassland, distant mountains and blue, blue sky. The green fields

are wonderful to her. She admired the running across the street, the passengers travelling

along with her cow’s Imagine you are Valli and landscape, conductor and passengers.

Write your experience with the sight of Landscape, Conductor and Passengers.

36. A) There is an issue of spread of sewage water in your area. It causes a major health hazard

and Inconvenience to the residents. It becomes a breeding ground for mosquitoes. It also

causes discomfort to people. Write a letter to the Municipal Commissioner take to steps to

prevent such problems and take prompt action against them. 10 M

(OR)

       B) Books are very important sources of knowledge. They help us develop

intellectually. Book reading a very good habit. It needs to be cultivated in student

life. But, now book reading among students is not up to the mark.

Prepare a script for speech on the occasion of International Literacy Day (ILD), 08th September,

2024. Include the benefits of book reading, and how it can help in individuals progress and

propects.

37. A)  Read the following passage carefully focussing on the underlined parts.

At birth, the child was very fair and pretty   (A). But when she was two years old, she had

an attack of small-pox   (B). Only the eyes were saved, but the entire body was permanently

disfigured by deep black pock marks. (C) Little Sulekha could not speak  (D) till she was

five, and when at last she learnt to speak, she stammered. The other children (E) often

made fun of her and mimicked her. As a result, she talked very little.

Now, frame ‘WH´ questions to get the underlined parts as answers. 10 M
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(OR)
B) Study the following flow chart and write a paragraph based on the information given
      in it.

KINDS OF FUEL

SOLID    LIQUID GASEOUS

Included substances Three kinds Three kinds

Wood    Coal    Coke Petrol  Kerosene  Diesel Manufactured   Natural   Petroleum
fuel gases   gases gas
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Instructions :
1. The question paper has 37 questions in three sections (A, B and C)
2. Answer all the questions on a separate answer book supplied to you.
3. 15 minutes of time is allotted exclusively for reading the question paper and 3 hours for

writing the answers.
4. Answer all the questions of SECTION – B (Grammar and Vocabulary) in the same order at

one place in your answer book.

SECTION A - READING COMPREHENSION

(Questions: 1-5) Read the following passage carefully.

The baker or bread-seller of those days had a peculiar dress known as the kabai. It was a
single-piece long frock reaching down to the knees. In our childhood, we saw bakers wearing a
shirt and trousers which were shorter than full-length ones and longer than half pants. Even
today, anyone who wears a half pant which reaches just below the knees invites the comment
that he is dressed like a pader! The baker usually collected his bills at the end of the month.
Monthly accounts used to be recorded on some wall in pencil. Baking was indeed a profitable
profession in the old days. The baker and his family never starved. He, his family, and his
servants always looked happy and prosperous. Their plump physique was an open testimony
to this. Even today any person with a jackfruit-like physical appearance is easily compared to a
baker.    (A baker from Goa)

Now answer the following questions 5 X 2 = 10 M
1. What is the name of the bread seller’s dress?
2. What did the bakers use to wear during the narrator’s childhood?
3. Whom does the phrase jack-fruit physique refer to?

A) professor                 B) Baker                         C) Collector
4. How did the bakers note their bills?

A) on walls with pen   B) on paper in pencil      C) on wall in pencil
5. How can we say that bakers and their families were healthy and wealthy all the time?

A) by their report
B) by their appearance
C) by their rich clothes

(Questions: 6-10): Read the following stanza carefully.
Don’t bite your nails, Amanda!
Don’t hunch your shoulders, Amanda!
Stop that slouching and sit up straight,
Amanda!
(There is a languid, emerald sea,
where the sole inhabitant is me-
a mermaid, drifting blissfully.)

  (Amanda)

ENGLISH
Third Language

(Model Question Paper -2) 2025
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Now, answer the following questions. 5 x 1 = 5 M

6. Do you think Amanda is a well-disciplined girl? Justify your answer.

7. What are the instructions given to Amanda?

8. How does Amanda imagine herself?

A) Mermaid B) Emerald Sea C) Inhabitant

9. Who is addressing Amanda?

A) mother B) brother                    C) cousin

10. Where does a Mermaid live?

A) sea B) valley C)   mountains

(Questions 11 - 15 ) Read the following passage carefully.
Her name was Sulekha, but since her childhood, everyone had been calling her Bholi, the

simpleton. She was the fourth daughter of Numberdar Ramlal. When she was ten months old,
she had fallen off the cot on her head and perhaps it had damaged some part of her brain. That
was why she remained a backward child and came to be known as Bholi, the simpleton. At
birth, the child was very fair and pretty. But when she was two years old, she had an attack of
smallpox. Only the eyes were saved, but the entire body was permanently disfigured by deep
black pockmarks. Little Sulekha could not speak till she was five, and when at last she learned
to speak, she stammered. The other children often made fun of her and mimicked her. As a
result, she talked very little.

                   (Bholi)
Choose the appropriate answer from the options given: 5 x 1 = 5 M
11.  What is the real name of the girl?

A) Sulekha                   B) Surekha                       C) Ramlal
12. Why did Bholi want to talk less?

A) because she was a simpleton
B) because she stammered and was mimicked
C) because she does not like to talk too much

13. What happened to the girl when she fell off the cot?
A) became sick     B) her brain was damaged      C) attacked smallpox

14. How was Bholi when she was born?
A) very beautiful      B) ugly           C) very active

15. What is the meaning of the word ‘Simpleton’?
A) very clever        B) immature         C) very active

(Question:16): study the following Pie chart.
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Now, answer the following questions : 5 x 1 = 5 M

i. What does the pie chart show?

ii. How many categories of food are given in the pie chart?

iii. What percentage of meat and fish is wasted?

iv. As per the pie chart the percentage of least wasted food is………

A) grain

B) dairy

C) fats/oils

v. Choose the correct statement based on the pie chart

       a) Dairy occupied the first place in wastage.

       b) The wastage percentage of meat & fish is more than fresh fruits and vegetables

       c) The percentage of wastage of grain is double that of fats/oils.

(Question 17) : Read the following passage carefully.

        Once upon a time, a farmer had a goose that laid a golden egg every day. The farmer used to
sell that egg and earn enough money to meet their family’s day-to-day needs. One day, the
farmer thought that if he could get more such eggs and make a lot of money and become a
wealthy person. The farmer decided to cut the goose and remove all the golden eggs from its
stomach. As soon as they killed the bird and opened the goose’s stomach, they found no eggs.
The foolish farmer realized they had destroyed their last resource out of greed.

Now, arrange the following sentences into a meaningful order.  5 x 1 = 5 M

a) The farmer did not find any eggs in its stomach when he killed it.

b) The farmer wants to get all the eggs at once to become rich.

c) The farmer understood that he spoiled his source of life due to his greed.

d) The farmer had a goose that laid a golden egg every day.

e) Every day the farmer sells an egg and fulfills his family’s needs.

SECTION B

 GRAMMAR & VOCABULARY

Note: answer all the questions in Section B in the same order in one place in your answer
book.

18. Combine the following sentences using ‘which’ 2M

   I read a book yesterday. It is very informative.

19. Change the following sentence into ‘passive voice’. 2M

      The teacher appreciated my success.
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20. Change the following into Reported speech. 2M
Gowtham Budha said, “I want a handful of mustard seeds.”

21. Fill in the blanks with suitable prepositions given in brackets. 2 x 1= 2 M
i) My sister is suffering …………… headache. (with, from, in)
ii) This book consist …………forty pages.  (off, of, with)

22. Edit the following passage. 4 x 1 =4 M
I don’t mean that some peoples (a) are born clear-headed    a)…………...............……
are naturally fuzzy and will never wrote (b) well. b)…………..............……
Thinking clearly is a conscious act that writers
must forced (c) on themselves, as if they were working c)……….............……....
on any other project that requires logic: making
a shopping list or doing an algebra problems (d). d)……......….........……..

....
23. Fill in the blanks with suitable articles. 2 x 1 = 2 M

1. Students need to fill out ……… application form to join the course.
2. He goes to the theatre once ………… month.

24. Change the following into Repeated action in the past using ‘would/ used to.’
2 x 1 = 2 M

i)  When we were young, we believed there were ghosts.
ii) My uncle spent his holidays by the sea.

25.  Rewrite the sentences into a single sentence using Noun–modifiers.
2 x 1 = 2 M

i) Suresh went to a house. It was decorated beautifully.
ii) He made a short speech. The speech was interesting.

26. Give suitable advice for the situation given below.                                                2M
Your brother is always biting nails. Advise him not to do it.

27. Read the following passage carefully and write the synonyms of the underlined words
choosing the words given in the box. 4 x 1 = 4 M

 sharply, inviting, infront of, come down

His parents and his brothers and sister had landed (a) on this green flooring ahead of (b)
him. They were beckoning (c) to him, calling shrilly.(d) He dropped his legs to stand on the
green sea. His legs sank into it.

28. Read the following paragraph and write antonyms of the underlined words.
4 x 1 = 4 M

Kisa Gotami became weary and hopeless (a) and sat down at the wayside watching the
lights of the city, as they flickered up and were extinguished again. At last, the darkness of the
night reigned everywhere. (b) And she considered the fate of men, that their lives flicker up
and are extinguished again. And she thought to herself, “How selfish am I in my grief! Death
( c) is common to all; yet in this valley of desolation, there is a path that leads him to immortality
who has surrendered all selfishness. (d )”
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29. Fill in the blanks with the right forms of words given in the brackets. 2x1 = 2 M

The fiercely ………. (independence, independent, independently) people of Coorg
are……….(possibly, possible, possibility) of Greek or Arabic descent. As one
story………(go, goes, went) a part of Alexander’s army moved south along the coast and
settled when return became …………(impractically, impractice, impractical).

30. Complete the words with prefixes and suffixes given in the brackets. 2x1 = 2 M

1. Freedom is .......... divisible (un/in).

2. I finished my poem, and it was beauti………(ful/full).

31. Find the wrongly spelt word and write the correct spelling.  2x1 = 2 M

1. ingenuity, prosperus , emperor, accustomed.      ………

2. conductor, supper, accompanied, prejudise        ………

32. Read the following dictionary entry of the word given below. 2x1 = 2 M

humanity/hju.’mxn.eti( noun) the quality of being humane SYN; kindness;

OPP ; inhumanity, cruelty. We praised him for his humanity.

i) What is the part of speech of the word ‘humanity’?

ii) What is the synonym of humanity?

33. Use the following expressions in sentences of your own.  2x1 = 2 M

i) phrasal verb: move up

Ans.……………………………………..

ii) idiomatic expression: caught my eye

Ans ……………………………………..

34. Match the following. 4 x ½ = 4M

Part – A                                     Part  – B

1.    look for                        (     ) a)   go straight to the topic

2.    break down                 (     ) b)   stay indoors

3.    plunge in                     (     ) c)   search

4.    kept back                    (     ) d)   fail to function

SECTION - C : CREATIVE EXPRESSION

35. (A) In the lesson, ‘Madam Rides the Bus’ Valli has a strong desire to travel on a bus to the
town. One day she ran after the bus and got on the bus with the help of the conductor. She
bought a ticket also. While journey she talks to the conductor like a mature person. The
conductor also makes fun of her behaviour.

Now, write a possible conversation between Valli and the conductor. 10M

(OR)
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B) In the lesson “The Black Aeroplane” the narrator started his journey in his old Dakota over
France back to England. He wanted to have breakfast in England. Suddenly the storm clouds
covered the sky. But he continued his journey without any equipment like a radio, compass,
etc., It was such a terrible experience for the narrator.

Now, imagine that you are the narrator and write a diary entry about this terrible
experience.

36. A) The people of the A.P have witnessed how the incessant rains that lasted for many days

caused the over flow of Budameru rivulet in and around the city of Vijayawada. Imagine you

are one of the victims of this unexpected catastrophe, and write a letter to your friend about the

untold woes it inflicted on the citizens of Vijayawada.    10 M

(OR)

B) You read the story ‘Bholi’. In this story, you come to know that her father ignores his daughters’
education. But with the encouragement of her teacher, she proved herself. After reading this
story we realized the importance of girl education.

Now prepare a script for a speech on the importance of ‘girl education, and also include the
details like eradication of the dowry system and child marriages.

37. A) Read the following passage carefully focusing on the underlined parts.

Brilliant scientist though he was Griffin was rather a lawless person.(A)  His landlord disliked
him and tried to eject him. In revenge, Griffin set fire to the house. (B)To get away without being
seen he had to remove his clothes (C). Thus it was that he became a homeless wanderer, (D)
without clothes, without money, and quite invisible — until he happened to step in some mud,
and left footprints (E) as he walked!

Now, frame ‘wh’ questions to get the underlined parts as answers. 5 x 2=10 M

(OR)

B) Study the following table and write a paragraph based on the information given in it.

Internet Activities by Age Group

Activity Age Group

    % 10s 20s 30s 40s 50s 60s 70s

Get News 76 73 76 75 71 74 70

Online games 81 54 37 29 25 25 32

Downloads 52 46 27 15 13 8 6

Product research 0 79 80 83 79 74 70

Buying a product 43 68 69 68 67 65 41

Searching for people 5 31 23 23 24 29 27
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Instructions :
1. The question paper has 37 questions in three sections (A, B and C)
2. Answer all the questions on a separate answer book supplied to you.
3. 15 minutes of time is allotted exclusively for reading the question paper and 3 hours for

writing the answers.
4. Answer all the questions of SECTION - B (Grammar and Vocabulary) in the same order at one

place in your answer book.
SECTION — A : READING COMPREHENSION

(Questions 1 - 5): Read the following passage carefully.
MIDWAY between Mysore and the coastal town of Mangalore sits a piece of heaven that

must have drifted from the kingdom of god. This land of rolling hills is inhabited by a proud
race of martial men, beautiful women and wild creatures.

Coorg, or Kodagu, the smallest district of Karnataka, is home to evergreen rainforests,
spices and coffee plantations. Evergreen rainforests cover thirty percent of this district. During
the monsoons, it pours enough to keep many visitors away. The season of joy commences
from September and continues till March. The weather is perfect, with some showers thrown
in for good measure. The air breathes of invigorating coffee. Coffee estates and colonial
bungalows stand tucked under tree canopies in prime corners.

The fiercely independent people of Coorg are possibly of Greek or Arabic descent. As one
story goes, a part of Alexander’s army moved south along the coast and settled here when
return became impractical. These people married amongst the locals and their culture is
apparent in the martial traditions, marriage and religious rites, which are distinct from the
Hindu mainstream. The theory of Arab origin draws support from the long, black coat drifted
from been carried along gently by air martial having to do with war canopies roof-like coverings
that form shelters prime here, best mainstream a tradition which Traditional Coorgi dress
most people follow with an embroidered waist-belt worn by the Kodavus. Known as kuppia,
it resembles the kuffia worn by the Arabs and the Kurds.

               (Glimpses of India)
Now, answer the following questions below. 5 x 2 = 10 M
1. What is the passage about?
2. What is special with the location and people living there?
3. The people of Coorg are possibly of  __________ descent.

A) Greek or Arabic descent
B) Greek or Indian descent
C) Arabic or American descent

ENGLISH
Third Language

(Model Question Paper -3) 2025
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4. An embroidered waist-belt worn by the Kodavus is known as ______
A) Kuffia
B) Kuppia
C) Kurda

5. How much percentage of evergreen rain forests cover the district of Coorg?
A) 50%
B) 30%
C) 70%

(Questions 6 - 10): Read the following stanza carefully.
Now the name of the little black kitten was Ink,
And the little grey mouse, she called him Blink,
And the little yellow dog was sharp as Mustard,
But the dragon was a coward, and she called him Custard.

Custard the dragon had big sharp teeth,
And spikes on top of him and scales underneath,
Mouth like a fireplace, chimney for a nose,
And realio, trulio daggers on his toes.

Belinda was as brave as a barrel full of bears,
And Ink and Blink chased lions down the stairs,
Mustard was as brave as a tiger in a rage,
But Custard cried for a nice safe cage.

         (The Tale of Custard Dragon)

Now, answer the following questions. 5 × 1 = 5 M
6. What did Custard, The dragon cry for?
7. How brave was Belinda?
8. What was the name of the little yellow dog?

A) Custard
B) Mustard
C) Blink

9. What did Ink and Blink do?
A) Chased barrel full of bears
B) Chased lions down the stairs
C) Cried for nice safe cage

10. Which of the following is TRUE according to the poem above?
A) Custard showed true courage.
B) Custard cried for an iron safe.
C) Belinda is the name of Dragon.
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(Questions: 11 - 15) : Read the following passage carefully.
On the morning of the third day, however, he thought of the books he wanted and he knew he

would have to look for another safe. But he never got the chance to begin his plan. By noon a

policeman had arrested him for the jewel robbery at Shotover Grange.

His fingerprints, for he had opened the safe without gloves, were all over the room, and no one

believed him when he said that the wife of the owner of the house had asked him to open the safe

for her. The wife herself, a gray-haired, sharp-tongued woman of sixty, said that the story was

nonsense.

Horace is now the assistant librarian in the prison. He often thinks of the charming, clever

young lady who was in the same profession as he was, and who tricked him. He gets very angry

when anyone talks about ‘honour among thieves’. (A Question of Trust)

Choose the appropriate answer from the options given : 5 x 1 = 5 M

11. The police arrested Horace for a robbery. Where did he do it?

A) in a guest house

B) at Shotover Grange

C) in the kitchen

12. What did Horace like very much?

A) jewellery

B) books

C) garments

13. According to Horace, who asked him to open the safe?

A) his dear wife

B)  the house owner

C) house owner’s wife

14. What evidence made the police arrest Horace?

A) the CCTV footage

B) his footsteps

C) his finger prints

15. What makes Horace angry?

A) The rude behaviour of visitors to library.

B)  The rigours of the prison life.

C) The discussion on ‘Honour among Thieves’.
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(Questions 16): Study the following Bar chart.

Now, answer the following questions. 5 x 1 = 5 M
i) What does the bar-chart show?
ii) Which period is taken as reference in the graph?
iii) What was the trend observed in the graph?

a) Women outnumbered men in admissions.
b) More men were enrolled in higher courses.
c) Men and women are equal in admissions.

iv) Of all, which year recorded LEAST number of enrollments?
a) 2016-17
b) 2015-16
c) 2012-13

v) Choose the CORRECT statement based on the bar-graph.
a) The graph represents dropouts from higher education.
b) There is a gradual improvement of enrollments.
c) There is a gradual decline in women enrollment.

(Question 17): Read the following passage carefully.
Galileo Galilei (1564-1642) was an Italian physicist, mathematician, astronomer, and

philosopher who played a significant role in the Scientific Revolution. He is considered the
“father of observational astronomy” and the “father of modern physics.” Galileo is known for
his improvements to the telescope, which he used to observe and make important discoveries
about the moons of Jupiter, the phases of Venus, and the dark spots on the Sun. He also
developed the concept of the scientific method and made critical discoveries in the fields of
kinematics and the strength of materials. The Catholic Church persecuted him for his support
of heliocentrism, the idea that the Earth and other planets revolve around the Sun.
Now, arrange the following jumbled sentences into a meaningful order.        5 x 1 = 5 M
a) He developed scientific method and made important findings in physics.
b) It was Galileo who improved telescope for astronomical observations.
c) The Church punished him for his support of heliocentric theory.
d) Galileo was born in Italy and is considered the pioneer in astronomy.
e) With the help of the telescope he observed planets and their movements.
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SECTION — B : GRAMMAR & VOCABULARY

Note : Answer all the questions of Section - B in the same order at one place in your

 answer book.

18. Combine the following sentences using ‘whom’ 2 M

Shama is my friend. I like her very much.

19. Change the following sentence into ‘passive voice’ 2 M

Siddhu can drive a car.

20. Change the following into Reported Speech. 2 M

The teacher said to the students, ‘How did you write the exam?’

21. Fill in the blanks with suitable preposition given in brackets. 2 x 1= 2 M

i) Your success depends ….your hardwork. (of, for, on)

     ii) She applied ……. a job in collector’s office. (for, with, at)

22. Edit the following passage. 4 x 1 = 4 M

I was still a thief when I meet (a) Anil. And though only 15, a)…………………………….

I was a fairly successfully (b) hand. Anil was watching b)…………………….………

the (c) wrestling match when I approached c)…………………….…....…

him. His (d) was about 25 a tall, lean fellow. d)…………….…...………….

23. Fill in the blanks with suitable articles. 2 x 1 = 2 M

1. ………..landlord and his wife were up very early in the morning.

2. She uttered ……….. cry of joy.

24. Change the following into Repeated action in the past using ‘would/used to’

i) When she was a student, she loved music very much. 2 x 1 = 2 M

ii) In his childhood, he swam in the river every morning .

25. Rewrite the sentences into a single sentence using Noun-modifiers. 2 x 1 = 2 M

i) I bought a boat. It is a big one. It is a motor boat.

ii) He made a speech. It was an inspiring speech. It was a long speech.

26. Give a suitable advice for the situation given below. 2 x 1 = 2 M

Your friend is coming on a bicycle to school. Suggest him/her to continue for good health.

27. Read the following paragraph and write the synonyms of the underlined words, choosing

the words given in the box. 4 x 1 = 4 M

face, particularly, completed, characteristics, lean

Max was slender (a), a little less than tall, with features (b) that suggested slightly the crafty,

pointed countenance (c) of a fox. There was about him — aside from the gun — nothing

especially (d) menacing.
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28. Read the following paragraph and write the antonyms of the underlined words.
4 x 1 = 4 M

He escaped easily enough (a)from the boys who followed (b) his footprints in London. But
his adventures were by no means over. He had chosen a bad (c) time of the year to wander
about London without clothes. It was mid-winter. The air was bitterly cold (d) and he could not
do without clothes.

29. Fill the blanks with the right form of words given in the brackets. 2 x 1 = 2 M
Poor Kisa Gotami now went from house to house, and the people….. (a(pity/ pitied/pitiable)

her and said, “Here is mustard seed; take it!” But when she asked, “Did a son or daughter, a
father or mother..... (b)(deadly/die/death) in your family?” they answered her, “Alas! the living
are few, but the dead are many. Do not remind us of our deepest grief.” And there was no
house but some beloved one had died in it.

30. Complete the words with correct Prefixes and Suffixes given in the brackets.
2 x 1 = 2 M

i) He totally …….....understood what I said. (mis, dis)
ii) I am surprised this phone is still function ................ (al/el)

31. Find the wrongly spelt word and write the correct spelling. 2 x 1 = 2 M

i) sentence, resiliance, humanity, thousand .......................

ii) beverage, beautiful, distance, officeals ......................

32. Study the following dictionary entry. 2 x 1= 2M

Now, answer the following questions.

a) What does ‘thoroughfare’ mean?

b) Pick the sentence in which ’thoroughfare’ was used.

33. Use the following expressions in sentences of your own. 2 x 1 = 2 M

i) Phrasal verb: ramble on

Ans. ..................................................................................................................................
ii) Idiomatic expression: for ages

Ans. ..................................................................................................................................
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34. Match the following. 4 × ½ = 2 M

Part - A Part - B

i) calm down ( ) a) be relaxed

ii) pick up ( ) b) take something from ground

iii) break down ( ) c) stop working

iv) wake up ( ) d) make someone awake

SECTION — C : CREATIVE EXPRESSION

35. A) In the lesson ‘A letter to God’, Lencho wrote a letter to God asking for help. When the

postman saw the letter, he went to the postmaster laughing heatedly and showed him the
letter. The postmaster also laughed but he was impressed by the faith of the man who wrote
that letter. He decides to help Lencho, so as not to shake his faith in God.

Now, write a possible conversation between the postman and the postmaster in the above

context. 10 M

(OR)

B) In ‘The thief’s story’, Hari Singh steals money from Anil, and runs away to catch the 10:30
express to Lucknow to leave the city. But at the station, he does not board the train. He
regrets his action thinking that he had betrayed Anil’s trust and lost the chance of becoming
a cleaver, respectful and educated man. In the end he decided to go back to anil and return
his money.

       Write a dairy entry of Hari Singh describing his feelings in the above context.

36. A) Traffic congestion has become a routine in your city. As a result, the travellers, students
and other sections of people are under severe pressure of not reaching offices and schools
in time. Your school area is also facing the same problem. The parents are facing difficulty
to drop their children at school during morning hours and even while picking them up in the
evening. You think there is a need of traffic constables at your school.

Write a letter to the Superintendent of Police to make a note of this issue and request him to
post traffic constables at your school point to control traffic and avoid accidents. 10 M

(OR)

B) You have read the lesson “A Long Walk to Freedom”. You liked Nelson Mandela’s speech

     very much.

Now, prepare a script for speech on the subject of human rights, their violation and the

need to implement the laws made for the protection of human rights.
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37. A) Read the following passage carefully focussing on the underlined parts.

Ramlal had seven (A) children — three sons and four daughters, and the youngest of them

was Bholi  (B). It was a prosperous (C) farmer’s household and there was plenty to eat and

drink. All the children except Bholi were healthy and strong (D). The sons had been sent to

the city to study in schools and later in colleges. (E) Of the daughters, Radha, the eldest,

had already been married. The second daughter Mangla’s marriage had also been settled,

and when that was done, Ramlal would think of the third, Champa.

Now, frame ‘WH´ questions to get the underlined parts as answers.  10M

(OR)

B) Study the following pie-chart and write a paragraph based on the information

given  in it.
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MATHEMATICS
English medium

(Model Question Paper -1) 2025

 Class: 10     Max.marks: 100        Time: 3:15m

Instructions:

1. In the duration of 3hrs 15minutes, 15 minutes of time is alloted to read the question
paper.

2. All answers shall be written in Ansser booklet only
3. Question paper consists of 4 sections and 33 questioons
4. Internal choice is available in section IV only
5. Answers shall be written neatly and legibly.

SECTION - I

Note: 1) Answer all the questions in one word or phrase. 12×1=12M

2) Each question carries 1 mark

1. Find the LCM of 6,20

2. Asssertioni: The polynomial 1272 23
+-- xxx  is cubic polynomial

Reason: Because the degree of polynomial is 3

(A) Both Assertion and Reason are true, Reason is supporting the assertion.

(B) Both Assertion and Reason are true, but Reason is not supporting the assertion

(C) Assertion is true, but the reason is false

(D) Assertion is false, but the reason is true

3. Linear equations in two variable can be represented graphically is _____

4. Match the following

(1) nth term of AP a, a+d. ....... [ ] (P) [ ]dnan )1(2
2

-+

(2) Sum of 'n' terms of AP [ ] (Q) a + (n-1) d
whose first term 'a' and
last term 1

(3) Sum of 'n' terms of AP [ ] (R) [ ]lan
+

2
(A) 1 ®  P, 2 ®  Q, 3 ®  R (B) 1 ®  P, 2 ®  R, 3 ®  Q
(C) 1 ®  Q, 2 ®  P, 3 ®  R (D) 1 ®  Q, 2 ®  R, 3 ®  P
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5. Statement-I : If two triangles are similar then their correspoinding sides are
proportional.

Statement-II: If two triangles have proportional corresponding sides, then they are
similar

(A) Both statements I and II are true

(B) Statement I is true, but statement II is false

(C) Statement I is false but Statement II is true

(D) Both statements I and II are false

6. The angle of depression of a ship from the top of a light house is 045 . If the height of
the light house is 50m, the distance of the ship from the light house is ____

7. How many tangents can be drawn from an external point to a circle?

8. Draw a hemisphere resting on the base of a right circular cone (both having same base
radius 'r' )

9. If P(E)=0.3, what is the probability of ( ) =EP

10. Zero of the polynomial 442
+- xx  is [ ]

(A) 1 (B) 2 (C) 3 (D) 4
11. If tanx0 =1, then what is teh value of x0 [ ]

(A) 300 (B) 450 (C) 600 (D) 900

12. If the roots of Quadratic equation 02
=++ cbxax ( )0¹a are a and b then what is the

value of ba +

(A) a
b-

(B) a
b

(C) a
c

(D) a
c

-

SECTION - II

Note: 1) Answer all the questions 8×2=16M

2) Each question carries 2 marks

13. Find the surface area of a cuboid of dimensions 15cm, 10cm and 3.5cm

14. Find a Quadratic polynomial whose sum and product of zeroes are 4
1

- and 4
1

respectively?

15. )3(2)1( 2
-=+ xx  check whether Quadratic equation is or not ?
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16. Write A.A.A. criteria of similarity of triangle.

17. Find the coordinates of centroid of the vertices of triangle.

(tan450, cot900)  (sin00, tan450) (sin00, cos900)

18. Express the ratio of Sec  A, tan A interms of Sin A

19. Draw the diagram for the following situation.

An angle of elevation of top of a tower from a point on the ground, which is 30m away
from  the foot of tower, is 300

20. Calculate the length of tangent from a point 12cm away from the centre of a circle of
radious 5cm

SECTION - III

Note: 1) Answer all the questions 8×4=32M

2) Each question carries 4 marks

21. A die is rolled. Find the probability of getting (i) a prime number (ii) a number greater
than 4 (3) factors of 6 (4) an even prime

22. Write 3 formulae to find the mean of grouped data explain the terms involved in it .

23. A vessel is in the form of a hollow hemispher mounted by a hollow cylinder. The
diameter of the hemisphere is 14cm and the total height of the vessel is 13cm. Find
the inner surface area of vessel.

24. Find two consecutive positive integers, sum of whose squares is 365.

25. Prove that 
A

ASin
A

A
cos1sec

sec1 2

-
=

+

26. Find the sum of first 24 terms of the list of numbers whose nth term is given by

an = 3 + 2n

27. Prove that the parallelogram circumscribing a circle is a Rhombus

28. A Javelin is thrown over a net in the court and its' path is shown in figure.

(A) Name the shape of the path in which the javelin
travelled

(B) How many zeroes are there for the polynomial

(C) Write the zeroes of the polynomial

(D) What is the product of zeroes of polynomial
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SECTION - IV

Note: 1) Answer all the questions 5×8=40M

2) Each question carries 8 marks

3) There is an internal choice of each question.

29. (a) Prove that 5  is irrational

OR

(b) Prove that ABCD is a trepezium if the diagonals of Quadrilateral ABCD interest

       each other at the point O such that DO
CO

BO
AO

=

30. (a) Find the coordinates of the points of trisection of the line segment joining the
       points A(2,-2) and B (-7, 4)

OR

(b) In a circle of radious 21cm, an arc subtends an angle of 600 at the centre. Find

(i) the length of the arc

(ii) Area of sector formed by the arc

(iii) area of the segment formed by the corresponding chord.

31. (a)  One card is drawn from a well shuffled deck of 52 cards. Find the probability of
getting

(1) a king of red colour (2) a face card

(3) a red face card (4) the jack of hearts

(5) a spade (6) a queen of diamonds

(7) an ace of black colour (8) not a face card

OR

(b) Two poles of equal heights are standing opposite each other on either side of
the road, which is 80m wide. From a point between them on the road, the angle
of elevation of the top of the poles are 060  and 300, respectively. find the
height of the poles and the distances of the point from the poles.
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32 (a) The distribution below gives the weights of 30 students of a class. Find the
mode weight of the students
Weight in Kgs 40-45  45-50  50-55  55-60  60-65  65-70  70-75
No.of students       2       3       8        6        6         3         2

OR
(b) How many three digit numbers are divisible by 7

33. (a) Form the pair of linear equation and find the solutions graphically
        5 pencils and 7 pens together cost Rs.50 where as 7 pencils and 5 pens together
       cost Rs.46. find the cost of one pencil and that of one pen.

OR
(b) Solve the following equations graphically

i) 2 6 0x y+ - = ii) 4 2 4 0x y- - =
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>·DìÔáXæ�d�ïeTT

Ôî\T>·T MT&�jáT+

(yîÖ&�ýÙ �||�sY - 1) 2025

 ÔásÁ>·Ü: 10          >·]w�÷ eÖsÁTØ\T: 100        d�eTjáT+: 3 >·+. 15 �öö

d�Ö#áq\T:

1. 3>·+öö 15�öö d�eTjáT+ýË 15�öö d�eTjáT+ ç|�Xæ�|�çÔáeTT #á<�eÚ¿Ãe&��¿ì ¹¿{²sTT+#á&�yîT®~

2. n�� d�eÖ<ó�qeTT\T �qàsY �T¿ùýÉ{ÙýË s�jáTeýÉqT

3. � ç|�Xæ�|�çÔáeTT 4 $uó²>±\T ¿£*Ð �+&�, 33 ç|�Xø�\T �+{²sTT.

4. $uó²>·eTT`4 q+<�T eÖçÔáyûT n+ÔásÁZÔá m+|¾¿£ �+³T+~.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - 1

d�Ö#áq\T:1) ÿ¿£ |�<�+ ýñ¿£ y�¿£«+ýË n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ+&�. 12×1=12eÖ

2) ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.

1. 6,20\ ¿£.kÍ.>·T ¿£qT¿ÃØ+&�.

2. ç|�¿£³q: 1272 23
+-- xxx  nHû �V�Q|�~ |��Tq �V�Q|�~� d�Öºd�Tï+~.

¿±sÁDeTT: �V�Q|�~ jîTT¿£Ø |�]eÖD+ 3.

(A) ç|�¿£³q eT]jáTT ¿±sÁDeTT Âs+&�Ö d�]jî®Tq$, ¿±sÁDeTT ç|�¿£³qqT nqTd�]d�Tï+~.

(B) ç|�¿£³q eT]jáTT ¿±sÁDeTT Âs+&�Ö d�]jî®Tq$ ¿±� ¿±sÁDeTT ç|�¿£³qqT nd�Td�]+#á<�T.

(C) ç|�¿£³q d�]jî®Tq~, ¿±� ¿±sÁDeTT d�]jî®Tq~ ¿±<�T

(D) ç|�¿£³q d�]jî®Tq~ ¿±<�T, ¿±� ¿±sÁDeTT d�]jî®Tq~.

3. Âs+&�T #ásÁs�Xø�\ýË ¹sFjáT d�MT¿£sÁD+ jîTT¿£Ø ¹sU²ºçÔáeTT ...................

4. ÈÔá|�sÁT#áTeTT

(1) n+¿£çXâ&ó�ýË n e |�<�+ [ ] (P) [ ]dnan )1(2
2

-+

(2) n+¿£çXâ&ó�ýË n |�<�\ yîTTÔáï+ [ ] (Q) a + (n-1) d
yîTT<�{ì |�<�+ a ºe] |�<�+

1 �ºÌq

(3) n+¿£çXâ&ó�ýË n' |�<�\ yîTTÔáï+ [ ] (R) [ ]lan
+

2
(A) 1 ®  P, 2 ®  Q, 3 ®  R (B) 1 ®  P, 2 ®  R, 3 ®  Q
(C) 1 ®  Q, 2 ®  P, 3 ®  R (D) 1 ®  Q, 2 ®  R, 3 ®  P
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5. ç|�e#áq+-I : Âs+&�T çÜuó�TC²\T d�sÁÖbÍ\T nsTTÔû y�{ì nqTsÁÖ|� uó�TC²\T nqTbÍÔá+ýË �+{²sTT.

ç|�e#áq+-II: Âs+&�T çÜuó�TC²\ýË nqTsÁÖ|� uó�TC²\T nqTbÍÔá+ýË �+fñ � çÜuó�TC²\T d�sÁÖbÍ\T.

(A) Âs+&�T ç|�e#áH�\T I eT]jáTT II d�Ôá«+

(B) ç|�e#áq+ I d�Ôá«+, ¿±� ç|�e#áq+ II nd�Ôá«+

(C) ç|�e#áq+ I nd�Ôá«+, ¿±� ç|�e#áq+ II d�Ôá«+

(D) Âs+&�Ö ç|�e#áH�\T I eT]jáTT II nd�Ôá«+

6. ÿ¿£ B|�|�Ú d�ï+uó�+ �|Õ qT+&� z&�qT 450 \ �eT�¿ÃDeTT ÔÃ >·eT�+#á&�+ È]Ðq~. B|�|�Ú d��+�+ mÔáTï

50MT. nsTTÔû, B|�|�Ú d�ï+uó�+ bÍ<�+ qT+&� z&�Å£� >·\ <�ÖsÁeTT  ____

7. e�Ô�ï�¿ì u²V�²« _+<�TeÚ qT+&� m�� d�ÎsÁô¹sK\T ^jáT>·\eTT 

8. ç¿£eT Xø+KTeÚ uó�Ö$T �|Õq nsÁÆ>ÃÞøeTT �+&û³³T¢ |��TH�¿±sÁ ed�TïeÚ |�³+ ^jáTTeTT (Xø+KTeÚýË >ÃÞø+

y�«kÍs�Æ\T d�eÖq+)

9. P(E)=0.3, nsTTq ( )P E jîTT¿£Ø $\Te ........

10. 442
+- xx  jîTT¿£Ø XøSq« $\Te ...... [ ]

(A) 1 (B) 2 (C) 3 (D) 4

11. If tanx0 =1, nsTTq x0 $\Te R ? [ ]

(A) 300 (B) 450 (C) 600 (D) 900

12. 02
=++ cbxax ( )0¹a  esÁZ d�MT¿£sÁDeTT jîTT¿£Ø eTÖý²\T a eT]jáTT b  nsTTÔû ba +  $\Te

m+Ôá? [ ]

(A) a
b-

(B) a
b

(C) a
c

(D) a
c

-

$uó²>·eTT - 2

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�. 8×2=16eÖ

2) ç|�Ü d�ÂsÕq d�eÖ<ó�qeTTqÅ£� 2 eÖsÁTØ.\T

13. 15�d+.MT, 10 �d+.MT. eT]jáTT 3.5 �d+.MT ¿=\Ôá\T >·\ BsÁé|��Tq+ �|�]Ôá\ yîÕXæ\«+ ¿£qT¿ÃØ+&�.

14. ÿ¿£ esÁZ �V�Q|�~ XøSH�«\ yîTTÔáïeTT eT]jáTT \�ÆeTT\T esÁTd�>±  4
1

- eT]jáTT 4
1

 nsTTq, � esÁZ

�V�Q|�~� ¿£qT¿ÃØ+&�.

15. )3(2)1( 2
-=+ xx  esÁZ d�MT¿£sÁD+ neÚÔáT+<Ã, ýñ<Ã |�]o*+#á+&�.

16. ¿ÃD+`¿ÃD+`¿ÃD+ (A`A`A) çÜuó�TC²\ d�sÁÖ|�¿£Ôá �jáTeÖ�� s�jáT+&�.
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17. (tan450, cot900)  (sin00, tan450) (sin00, cos900) os�ü\T>± >·\ çÜuó�TÈ+ jîTT¿£Ø >·TsÁTÔáÇ ¹¿+ç<�+

�sÁÖ|�¿±\T ¿£qT¿ÃØ+&�.

18. Sec A, tan A jîTT¿£Ø �w�ÎÜï� Sin A |�<�\ýË e«¿£ï|�sÁ#á+&�.

19. ÿ¿£ ³esY jîTT¿£Ø �|Õ¿=q ³esYÅ£� 30MT. <�ÖsÁ+ýË qTq� _+<�TeÚ qT+&� 300 }sÁÆÇ¿ÃD+ #ûd�Tï+~. �

d�+<�s�ÒÛ�¿ì ÔáÐq ºçÔ��� ^jáT+&�.

20. y�«kÍsÁÆ+ 5 �d+.MT. >·\ e�ÔáïeTTqÅ£�, e�Ôáï ¹¿+ç<�+ qT+&� 12�d+.MT <�ÖsÁ+ýË >·\ _+<�TeÚ qT+&� >·\

e�Ôáï d�ÎsÁô¹sK bõ&�eÚ ¿£qT¿ÃØ+&�.

$uó²>·eTT - 3

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�. 8×4=32eÖ

2) ç|�Ü d�ÂsÕq d�eÖ<ó�qeTTqÅ£� 4 eÖsÁTØ.\T

21. ÿ¿£ bÍº¿£qT ÿ¿£kÍ] <=]¢+ºq|�Ú&�T (i) ÿ¿£ ç|�<ó�q d�+K«  (ii) 4 ¿£H�� �|<�Ý d�+K«  (3) 6 jîTT¿£Ø

¿±sÁD²+¿£+ (4) d�] ç|�<ó�q d�+K«

22. e Z̄¿£�Ôá <�Ô�ï+Xø+ jîTT¿£Ø n+¿£eT<ó�«eT+ ýÉ¿ìØ+#á&��¿ì �|�jîÖÐ+#û 3 d�ÖçÔ�\qT s�jáT+&�. y�{ìýË�

|�<�\ >·T]+º $e]+#á+&�.

23. >·T\¢ nsÁÆ>ÃÞø+ �|Õ >·T\¢d�Ö�|�+ neT]Ìq³T¢ ÿ¿£ bÍçÔá �+~. <�� nsÁÆ>ÃÞø y�«d�+ 14�d+.MT eT]jáTT bÍçÔá

yîTTÔáï+ mÔáTï 13 �d+.MT. nsTTÔû � bÍçÔá n+ÔásÁ �|�]Ôá\ yîÕXæ\«+ ¿£qT¿ÃØ+&�.

24. Âs+&�T esÁTd� <ó�q |�PsÁ� d�+K«\ es�Z\ yîTTÔáïeTT 365 nsTTq � d�+K«\T ¿£qT¿ÃØ+&�.

25.
A

ASin
A

A
cos1sec

sec1 2

-
=

+
 n� �sÁÖ|¾+#á+&�.

26. an = 3 + 2n, ne |�<�+>± ¿£*Ð� çXâ&ó� jîTT¿£Ø yîTT<�{ì 24 |�<�\ yîTTÔ�ï�� ¿£qT¿ÃØ+&�.

27. ÿ¿£ d�eÖ+ÔásÁ #áÔáTsÁTÒÛÈeTTýË e�ÔáïeTT n+Ôá]¢Ï+#á�&�q, n~ d�eT#áÔáTsÁTÒÛÈeTT n>·Tq� #áÖ|�+&�.

28. ÿ¿£ ¿ÃsÁT¼ýË Hî{Ù MT<�T>± C²e*H�qT $d¾]q|�ð&�T ¿ì+~ �¿±sÁ+ýË uó�Ö$T� #û]+~.

¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

(A) C²e*H� ç|�jáÖDì+ºq eÖsÁZ+ jîTT¿£Ø �¿±sÁ+ �|sÁT #î|�Î+&�.

(B) � �V�Q|�~¿ì >·\ XøSq« $\Te\T m��?

(C) � �V�Q|�~¿ì >·\ XøSq« $\Te\T s�jáTTeTT.

(D) � �V�Q|�~ XøSq« $\Te\ \�Æ+ m+Ôá?
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$uó²>·eTT - 4

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�. 5×8=40eÖ

2) ç|�Ü d�ÂsÕq d�eÖ<ó�qeTTqÅ£� 8 eÖsÁTØ.\T

3) ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£Å£� ne¿±Xø+ ¿£\<�T

29. (a) 5  ÿ¿£ ¿£sÁD¡jáT d�+K« n� �sÁÖ|¾+#á+&�.

(ýñ¿£)

(b) ÿ¿£ #áÔáTsÁTÒÛÈ+ ABCD ýË ¿£sÁ�eTT\T _+<�TeÚ  O  e<�Ý  DO
CO

BO
AO

= n>·Tq³T¢ K+&�+#áT¿=qTqT

       ABCD ÿ¿£ çfÉ|Ó�jáT+ n� #áÖ|�+&�.

30. (a) A(2,-2) eT]jáTT B (-7, 4) _+<�TeÚ\qT ¿£*�| ¹s¿±K+&��� eTÖ&�T d�eÖq uó²>±\T>± $uó��+#û

    çÜ<ó�¿£]+#û _+<�TeÚ �sÁÖ|�¿±\qT ¿£qT¿ÃØ+&�.

(ýñ¿£)

(b) 21 �d+.MT y�«kÍsÁÆ+>± >·\ e�Ôáï+ýË ÿ¿£ #�|�eTT ¹¿+ç<�+ e<�Ý 600 ¿ÃD+ #ûjáTT#áTq�~. nsTTq

(i) #�|�eTT bõ&�eÚ

(ii) #�|�eTT#û @sÁÎ&û çÜC²«+ÔásÁ yîÕXæ\«+

(iii) d�+�+~óÔá C²« #û @sÁÎ&û e�ÔáïK+&� yîÕXæ\«eTTqT ¿£qT>=q+&�.

31. (a)  u²>·T>± ¿£\T|��&�q �|¿£eTT¿£Ø\ ¿£³¼ (52) qT+&� ÿ¿£ ¿±sÁT¦ rjáT�&�+~. nsTTÔû n~ ¿ì+~ ¿±sÁT¦

     n>·T³Å£� >·\ d�+uó²e«ÔáqT ýÉ¿ìØ+#á+&�.

(1) msÁT|�Ú s�E (2) eTTK ¿±sÁT¦

(3) msÁT|�Ú eTTK ¿±sÁT¦ (4) V�²�<�jáT+ >·TsÁTï >·\ C²¿¡

(5) �d�&� (6) &îÕeT+&� >·TsÁTï >·\ s�Dì

(7) q\T|�ÚsÁ+>·T @dt (8) eTTK ¿±sÁT¦ ¿±�~

(ýñ¿£)

(b) d�eÖq mÔáTï\T >·\ Âs+&�T d�ï+uó²\T ÿ¿£ sÃ&�T¦Å£� �sÁTyîÕ|�Úý² �H��sTT. y�{ì eT<ó�« <�ÖsÁ+ 80MT. Âs+&�T

    d�ï+uó²\ eT<ó�« sÃ&�T¦ �|Õ >·\ ÿ¿£ _+<�TeÚ qT+&� d�ï+uó²\ �|Õ uó²>±\T esÁTd�>± 600 eT]jáTT 300\

}sÁÆÇ¿ÃD²\T #ûd�TïH��sTT. d�ï+uó²\ mÔáTï\qT eT]jáTT d�ï+uó²\ qT+&� � _+<�TeÚÅ£� >·\ <�Ös�\qT

¿£qT¿ÃØ+&�.
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32 (a) ¿ì+~ $uó�Èq |�{ì¼¿£ýË ÿ¿£ ÔásÁ>·Ü jîTT¿£Ø 30 eT+~ $<�«sÁTÆ\ �sÁTeÚ\T �eÇ�&�¦sTT. $<�«sÁTÝ\

�sÁTeÚ\ u²V�QÞø¿£eTT ¿£qT¿ÃØ+&�.

�sÁTeÚ ¹¿.�.\ýË 40-45  45-50  50-55  55-60  60-65  65-70  70-75

$<�«sÁTÝ\ d�+K«       2        3       8        6        6         3         2

(ýñ¿£)

(b) 7#û uó²Ð+|��&û eTÖ&�+Â¿\ d�+K«\T m�� ¿£\eÚ?

33. (a) ~>·Te �eÇ�&�q d�eTd�«Å£� ¹sFjáT d�MT¿£sÁD²\ ÈÔá\qT ÔájáÖsÁT #ûjáT+&� eT]jáTT ç>±|�t |�<�ÆÜýË

     kÍ<ó�qqT ¿£qT¿ÃØ+&�.

5 �d�àÞø�ß eT]jáTT 7 ¿£\eTT\ <ó�sÁ\ yîTTÔáï+ $\Te `50. ný²¹> 7 �|�àÞø�ß eT]jáTT 5 ¿£\eTT\

<ó�sÁ\ yîTTÔáï+ $\Te `46. ÿ¿£ �|�àýÙ eT]jáTT ÿ¿£ ¿£\eTT $\Te\qT ¿£qT¿ÃØ+&�.

(ýñ¿£)

(b) ç¿ì+~ d�MT¿£sÁD²\qT ç>±|�t <�Çs� kÍ~ó+#á+&�.

i) 2 6 0x y+ - = ii) 4 2 4 0x y- - =
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MATHEMATICS
English medium

(Model Question Paper -II) 2025

Class: 10     Max.marks: 100        Time: 3:15m

Instructions:

1. In the duration of 3hrs 15minutes, 15 minutes of time is alloted to read the question
paper.

2. All answers shall be written in Ansser booklet only
3. Question paper consists of 4 sections and 33 questioons
4. Internal choice is available in section IV only
5. Answers shall be written neatly and legibly.

SECTION - I

Note: 1) Answer all the questions in one word or phrase. 12×1=12M

2) Each question carries 1 mark

1. Statement A :   p  is irrational.

Statement B :    All non-terminating and non-repeating decimals are irrational.

(A) Both statement A and B are true

(B) Only statement A is true

(C) Only statement B is true

(D) Both statements A and B are false

2. Match the following :

For a quadratic polynomial xx 736 2
--

     Group - A Group - B

(a) Number of zeros [ ] (i) -1/2
(b) Sum of zeroes [ ] (ii) 2
(c) Product of zeroes [ ] (iii) 7/6

(A) a ®  iii, b ®  ii, c ®  i (B) a ®  ii, b ®  iii, c ®  i
(C) a ®  i, b ®  iii, c ®  ii (D) a ®  i, b ®  ii, c ®  iii

3. Form a pair of linear equations for the given information:
6 apples and 5 mangoes together cost `270. Where as 5 apples and 3 mangoes
together cost `190.

4. The common difference of the AP 3,1,-1, -3 ............ is ___________
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5. If ABCD  and DEFD  are similar. If AB = 4cm, DE = 6cm, EF = 9cm and FD = 12cm,
the perimeter of ABCD  is _______ cm

6. Draw diagram for the information given " From a point on the ground, the angles of
elevation of the bottom and top of a tower fixed at the top of a 20m high building are
450 and 600 respectively.

7. How many tangents can a circle have from an external point?

8. Surface area of a top is the sum of curved surface areas of ____ and _______

9. The sum of the probabilities of all elementary events of an experiment is ______

10. The number of zeroes of the adjacent graph is __________

11. _______
30tan1

30tan2
02

0

=
+

(A) Sin600 (B) Cos600 (C) tan600 (D) Sin300

12. If 2
1

 is a root of the equation 0
4
52

=-+ kxx  then the value of 'k' is _______

SECTION - II

Note: 1) Answer all the questions 8×2=16M

2) Each question carries 2 marks

13. Find the volume of the sphere whose radius is 7cm

14. Draw a rough diagram for the quadratic polynomial )0(,2
¹++ acbxax  when a > 0.

15. Find the value of k for the quadratic equatioin kx (x-2) + 6 =0. So that it has two equal
roots.

16. In the figure shown if PQ//RS, Prove that SORPOQ DD ~

17. Find the point on the  x-axis which is equidistant from the point (2,-5) and (-2,9)

MODEL QUESTION PAPERS  - MATHEMATICS X-CLASS

>

>

SCERT, A
P

State Council of Educational Research and Training                                                                     Andhra Pradesh



MODEL QUESTIONS - MATHEMATICS X-CLASS

48

O

MODEL QUESTION PAPERS  - MATHEMATICS X-CLASS

18. If tan (A+B) = 3  and tan (A-B) = . 3
1

, ,900 00
£+< BA  A>B. Find A and B

19. A tower stands vertically on the ground. From a point on the ground which is 15m
away from the foot of the tower, the angle of elevation of the top of the tower is found
to be 600. find the height of the tower .

20. In the fig if TP and TQ are the two tangents to a circle with centre 'O' that 0100=Ð POQ .
Findthe PTQÐ

SECTION - III

Note: 1) Answer all the questions 8×4=32M

2) Each question carries 4 marks

21. A piggy bank contains hundred 50p coins, fifty ̀ 1 coins, twenty ̀ 2 coins and ten ̀ 5coins. If it
is equally likely that one of the coins will fall out when the bank is turned upside down, what is
the probability that the coin (i) will be a 50p coin  (ii) will not be a `5 coin?

22. Write formula to find the Median of grouped data and explain its terms.

23. A solid is in the shape of a cone standing on a hemisphere with both their radii being
equal to 1cm and the height of the cone is equal to its radius. Find the volume of the
solid in terms of p .

24. Find two consecutive positive integers, sum of whose squares is 365.

25. Prove that ( )2 2 2 2SinA CosecA (CosA SecA) 7 tan A Cot A+ + + = + +

26. If the sum of the first 14 terms of an AP is 1050 and its first term is 10, find the 20th

term.

27. Prove that the length of the tangents drawn from an external point to a circle are equal

28. Observe the graph and answer the following questions

i) What is the shape of the graph?

ii) How many zeroes it has?

iii) What are the zeroes?

iv) How many times graph interset x-axis
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SECTION - IV

Note: 1) Answer all the questions 5×8=40M

2) Each question carries 8 marks

3) There is an internal choice ofeach question.

29. (a) Prove that 7  is irrational
OR

(b) If a line intersects sides AB and AC of ABCD  at D and E respectively and is

      parallel to BC. Prove that 
AD AE
DB EC

=

30. (a) If the points A (6,1), B(8,2), C (9,4) and D (p,3) are the vertices of a parallelogram
taken in order. Find the value of P.

OR
(b) In a circle of radius 21cm, an arc subtends an angle of 600 at the centre. Find

(i) the length of the arc
(ii) Area of the sector formed by the arc
(iii) area of the segment formed by the corresponding chord.

31. (a)  Two dice are thrown at the same time.
(i) Write all possible outcomes
(ii) What is the probability that sum of two numbers appearing on the top of the
       dice is (a) 6  (b) 14
(iii) Find the probability of same number on both dice

OR
(b) A tree breaks due to storm and the broken part bends. So that the top of the tree

touches the ground making an angle 030  with it. The distance between the foot of
the tree to the point where the top touches the ground is 8m. Find the height of
the tree before it fell down.

32 (a) The table below shows the daily expenditure on food of 25 households in a
locality.
Find the mean daily expenditure on food by step deviation method.
Daily 100-150    150-200    200-250    250-300    300-350
expenditure (in ̀ ) TÖ

No.of house      4               5         12         2            2
holds
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OR
(b) If the sum of first 'n' terms of an AP is 4n-n2 (i) what is the first term? (ii)What

is the  sum of first two terms? (iii) What is the second term? (iv) Find the 3rd,
10th and nth terms.

33. (a) Draw the graph of the equtions x-y+1=0 and 3x+2y-12=0. Determine the coor
dinates of the vertices of the triangle formed by these lines and the X-axis and
shade the triangular region.

OR
(b) Form a pair of linear equations and find the solution by elimination method.

Meena went to a bank to withdraw ̀ 2000. She asked the cashier to give her `50
and ̀ 100 notes only. Meena got 25 notes in all. Find how many notes of ̀ 50 and
`100 she received.
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>·DìÔáXæ�d�ïeTT

Ôî\T>·T MT&�jáT+

(yîÖ&�ýÙ �||�sY - 2) 2025

 ÔásÁ>·Ü: 10          >·]w�÷ eÖsÁTØ\T: 100        d�eTjáT+: 3 >·+. 15 �öö

d�Ö#áq\T:

1. 3>·+öö 15�öö d�eTjáT+ýË 15�öö d�eTjáT+ ç|�Xæ�|�çÔáeTT #á<�eÚ¿Ãe&��¿ì ¹¿{²sTT+#á&�yîT®~

2. n�� d�eÖ<ó�qeTT\T �qàsY �T¿ùýÉ{ÙýË s�jáTeýÉqT

3. � ç|�Xæ�|�çÔáeTT 4 $uó²>±\T ¿£*Ð �+&�, 33 ç|�Xø�\T �+{²sTT.

4. $uó²>·eTT`4 q+<�T eÖçÔáyûT n+ÔásÁZÔá m+|¾¿£ �+³T+~.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - 1

d�Ö#áq\T:1) ÿ¿£ |�<�+ ýñ¿£ y�¿£«+ýË n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ+&�. 12×1=12eÖ

2) ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.

1. ç|�e#áq+  A :   p  ÿ¿£ ¿£sÁD¡jáT d�+K«

ç|�e#áq+ B :   n�� n+Ôá+ ¿±�, �e]ïÔá+ ¿±� <�Xæ+Xæ\T n� ¿£sÁD¡jáT d�+K«\T

(A) ç|�e#áH�\T A eT]jáTT B Âs+&�Ö d�]jî®Tq$

(B) ç|�e#áq+  A eÖçÔáyûT d�]jî®Tq~

(C) ç|�e#áq+ B eÖçÔáyûT d�]jî®Tq~

(D) ç|�e#áq+ A eT]jáTT B Âs+&�Ö d�]jî®Tq$ ¿±eÚ

2. ÈÔá|�sÁ#á+&�:

esÁZ �V�Q|�~ xx 736 2
--

     ç>·Ö|t - A ç>·Ö|t - B

(a) XøSq« $\Te\ d�+K« [ ] (i) -1/2
(b) XøSq« $\Te\ yîTTÔáï+ [ ] (ii) 2
(c) XøSq« $\Te\ \�Æ+ [ ] (iii) 7/6

(A) a ®  iii, b ®  ii, c ®  i (B) a ®  ii, b ®  iii, c ®  i
(C) a ®  i, b ®  iii, c ®  ii (D) a ®  i, b ®  ii, c ®  iii

3. ~>·Te �eÇ�&�q d�eTd�«Å£� ¹sFjáT d�MT¿£sÁD²\ ÈÔá\qT ÔájáÖsÁT #ûjáT+&�.

6 jáÖ|¾ýÙà eT]jáTT 5 eÖ$T&�¿±jáT\ yîTTÔáïeTT `270. ný²¹> 5 jáÖ|¾ýÙà eT]jáTT 3 eÖ$T&�¿±jáT\

yîTTÔáïeTT ̀ 190
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4. n+¿£çXâ&ó� 3,1,-1, -3 ýË kÍeÖq« uñ<ó�+  ___________

5. ABCD  eT]jáTT DEFD  \T d�sÁÖbÍ\T.  AB = 4�d+.MT., DE = 6�d+.MT., EF = 9�d+.MT. eT]jáTT

FD = 12�d+.MT. nsTTq ABCD  jîTT¿£Ø #áT³T¼¿=\Ôá _______ �d+.MT.

6. ¿ì+~ �ºÌq <�Ô�ï+XøeTTqÅ£� ºçÔ��� ̂ jáT+&�.

20MT. bõ&�eÚ >·\ ÿ¿£ uó�eq+ �|ÕqTq� ³esY jîTT¿£Ø n&�T>·Tuó²>·+ eT]jáTT �|Õ uó²>±\qT esÁTd�>± 450

eT]jáTT 600 }sÁÆeÇ ¿ÃD²\ÔÃ Hû\�|Õ eÚq� ÿ¿£ _+<�TeÚqT #áÖd�Tïq�~.

7. u²V�²« _+<�TeÚ qT+&� ÿ¿£ e�Ô�ï�¿ì ^jáT >·\ d�ÎsÁô¹sK\T m��?

8. ÿ¿£ u¤+>·sÁ+ �|�]Ôá\ yîÕXæ\«+ nHû~ ............. eT]jáTT ........... eç¿£Ôá\ yîÕXæý²«\ yîTTÔáïeTT

9. ÿ¿£ ç|�jîÖ>·+ jîTT¿£Ø n�� çbÍ<̧�$T¿£ |��T³q\ d�+uó²e«Ôá\ yîTTÔáïeTT ..................

10. ç|�¿£Øq �eÇ�&�q |�³+ jîTT¿£Ø XøSq« $\Te\T ..................

11. _______
30tan1

30tan2
02

0

=
+

(A) Sin600 (B) Cos600 (C) tan600 (D) Sin300

12. 0
4
52

=-+ kxx   nHû d�MT¿£sÁD+ jîTT¿£Ø ÿ¿£ eTÖ\eTT 2
1

 nsTTq 'k' $\Te .................

$uó²>·eTT - 2

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� Èy��T\T s�jáT+&�. 8×2=16eÖ

2) ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.

13. y�«kÍsÁÆ+ 7 �d+.MT. >± >·\ >ÃÞø+ |��Tq|�]eÖD+ ¿£qT¿ÃØ+&�.

14. )0(,2
¹++ acbxax  eT]jáTT a > 0. nsTTq#Ã, esÁZ �V�Q|�~ jîTT¿£Ø ºÔáTï |�{²�� ̂ jáT+&�.

15. esÁZ d�MT¿£sÁD+ kx (x-2) + 6 =0 qÅ£� >·\ Âs+&�T eTÖý²\T d�eÖq+ nsTTÔû, k $\Te ¿£qT¿ÃØ+&�.

16. |�³+ýË #áÖ|¾q³T¢ PQ//RS, nsTTq SORPOQ DD ~ n� �sÁÖ|¾+#á+&�.
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17. (2,-5) eT]jáTT (-2,9) _+<�TeÚ\Å£� d�eÖq <�ÖsÁ+ýË x`n¿£�+ �|Õ >·\ _+<�TeÚqT >·T]ï+#á+&�.

18. tan (A+B) = 3  eT]jáTT tan (A-B) = . 3
1

, ,900 00
£+< BA  eT]jáTT A>B nsTTq, A

eT]jáTT B $\Te\T ¿£qT¿ÃØ+&�.

19. ÿ¿£ ³esY Hû\�|Õ �³¼�\TeÚ>± �+~. ³esY bÍ<�+ qT+&� 15MT <�ÖsÁ+ýË �q� ÿ¿£ _+<�TeÚ qT+&� ³esY

�|Õ ¿=qqT 600 }sÁÆÇ¿ÃD+ÔÃ #áÖ|¾q#Ã, ³esY mÔáTïqT ¿£qT¿ÃØ+&�.

20. �ºÌq |�³+ýË 'O' ¹¿+ç<�+>± >·\ e�Ô�ï�¿ì TP eT]jáTT TQ \T Âs+&�T d�ÎsÁô¹sK\T eT]jáTT 0100=Ð POQ
nsTTq, PTQÐ  ¿£qT¿ÃØ+&�.

$uó²>·eTT - 3

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�. 8×4=32eÖ

2) ç|�Ü d�ÂsÕq d�eÖ<ó�qeTTqÅ£� 4 eÖsÁTØ.\T

21. ÿ¿£ |¾̂ Z u²«+¿ùýË e+<� 50 �|Õ. H�Dñ\T, jáÖuóÉÕ ̀ 1 H�Dñ\T, �sÁyîÕ ̀ 2 H�Dñ\T, |�~ ̀ 5 H�Dñ\T �H��sTT.

|¾^Z u²«+¿ùqT Ôá\¿ì+<�T\>± #ûd¾q|�ð&�ý²¢ jáÖ<ó��ºÌÛ¿£+>± ÿ¿£ H�DÉ+ |�&�TÔáT+fñ � H�DÉ+

(1) 50�|Õ. H�DÉ+ n>·T³Å£� (2) `5 H�DÉ+ ¿±¿£bþeÚ³Å£� d�+uó²e«Ôá\T m+Ôî+Ôá?

22. e Z̄¿£�Ôá <�Ô�ï+Xø+ jîTT¿£Ø eT<�«>·Ôá+ ¿£qT¿ÃØe&��¿ì d�ÖçÔ��� s�jáT+&�. n+<�* |�<�\qT $e]+#á+&�.

23. ÿ¿£ |��TH�¿£�Ü nsÁÆ>ÃÞø+ �|Õ Xø+Å£�eÚqT neTsÁÌ�&� �q� �¿±sÁ+ýË �+~. Âs+&�+{ì y�«kÍs�Æ\T 1 �d+.MT.¿ì

d�eÖq+. Xø+Å£�eÚ jîTT¿£Ø mÔáTï, <�� y�«kÍs�Æ�¿ì d�eÖq+. � |��TH�¿£�Ü |��Tq|�]eÖD+qT p \ýË ¿£qT¿ÃØ+&�.

24. Âs+&�T esÁTd� ç|�<ó�q d�+K«\ es�Z\ yîTTÔáïeTT 365 nsTTq, � d�+K«\T ¿£qT>=qTeTT.

25. ( )2 2 2 2SinA CosecA (CosA SecA) 7 tan A Cot A+ + + = + + n� �sÁÖ|¾+#á+&�.

26. n+¿£çXâ&ó�ýË >·\ yîTT<�{ì 14 |�<�\ yîTTÔáïeTT 1050 eT]jáTT yîTT<�{ì |�<�+ 10 nsTTq, 20e |�<�+

¿£qT¿ÃØ+&�.

27. e�Ô�ï�¿ì u²V�²« _+<�TeÚ >·T+&� ̂ jáT�&�q d�ÎsÁô¹sK\ bõ&�eÚ\T d�eÖq+ n� �sÁÖ|¾+#á+&�.

28. ç|�¿£Ø |�³+ýË� ç>±|�t� |�]o*+º ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�qeTT\T s�jáT+&�.

m) ¹sU²ºçÔá+ �¿±sÁ+ �|¹s$T?

_) ¹sU²ºçÔá+ m�� XøSH�«\T ¿£*Ð �+~?

d¾) ¹sU²ºçÔá+ýË XøSH�«\T @$?

&�) ¹sU²ºçÔá+ x  n¿�±�� m�� kÍsÁT¢ K+&�d�Tï+~.
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$uó²>·eTT - 4

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�. 5×8=40eÖ

2) ç|�Ü d�ÂsÕq d�eÖ<ó�qeTTqÅ£� 8 eÖsÁTØ.\T

3) ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£Å£� ne¿±Xø+ ¿£\<�T

29. (a)  7  ¿£sÁD¡jáT d�+K« n� �sÁÖ|¾+#á+&�.

(ýñ<�)

(b) ABCD ýË BC d�eÖ+ÔásÁ+>± ^ºq ¹sK AB eT]jáTT.AC \qT esÁTd�>± D eT]jáTT E \ e<�Ý

    K+&�+ºq#Ã 
AD AE
DB EC

=  n� #áÖ|�+&�.

30. (a) _+<�TeÚ\T A (6,1), B(8,2), C (9,4) eT]jáTT D (p,3) \T esÁTd�>± d�eÖ+ÔásÁ #áÔáTsÁTÒÛÈ os�üýÉÕÔû

P $\TeqT ¿£qT¿ÃØ+&�.

(ýñ<�)

(b) 21�d+.MT y�«kÍsÁsÁÆ+>± >·\ ÿ¿£ e�Ôáï+ýË ÿ¿£ #�|�eTT ¹¿+ç<�+ e<�Ý 600 ¿ÃDeTT #ûjáTT#áTq�~. nsTTq

(i) #�|�eTT bõ&�eÚ

(ii) #�|�eTT#û @sÁÎ&û çÜC²«+ÔásÁ yîÕXæ\«+

(iii) d�+�+~óÔá »C²«µ #û @sÁÎ&û e�Ôáï K+&� yîÕXæ\«eTTqT ¿£qT¿ÃØ+&�.

31. (a)  Âs+&�T bÍº¿£\T ÿ¹¿kÍ] <=]¢+#á&�yîT®q~. nsTTq

(i) kÍ<ó�«eTjûT« n�� |�s�«ed�H�\T s�jáT+&�.

(ii) Âs+&�T bÍº¿£\ �|Õ uó²>·+ýË ¿£�|¾+#û Âs+&�T d�+K«\ yîTTÔáïeTT (a) 6  (b) 14 njûT« d�+uó²e«Ôá

     m+Ôá?

(iii) Âs+&�T bÍº¿£\ �|Õ uó²>·+ýË ÿ¹¿ d�+K« e#ûÌ d�+uó²e«Ôá m+Ôá?

(ýñ<�)

(b) ÿ¿£ #î³T¼ ÔáTb�ÍqT >±*¿ì $]Ð, $]Ðq � ¿=eT� ºesÁ ¿=q Hû\qT Ô�Å£�ÔáÖ, Hû\ÔÃ 300\ ¿ÃD+

     #ûd¾+~. Hû\qT Ô�¿ìq #î³T¼ ¿=qÅ£�, #î³T¼ yîTT<�\Å£� eT<ó�«>·\ <�ÖsÁ+ 8MT. nsTTq #î³T¼ $sÁ>·¿£ eTT+<�T

    � #î³T¼ mÔáTïqT ¿£qT¿ÃØ+&�.

32 (a) ÿ¿£ �y�d� çbÍ+Ôá+ýË� 25 Å£�³T+u²\Å£� d�+�+~ó+ºq ~qd�] �V�äsÁ|�Ú KsÁTÌ\ $es�\qT |�{ì¼¿£

    Ôî*jáTCñjáTT#áTq�~. nsTTHq kþbÍq $#á\q |�<�ÆÜ ç|�¿±sÁ+ sÃp y�] �V�äsÁ|�Ú KsÁTÌ jîTT¿£Ø d�>·³T

¿£qT>=qTeTT?

sÃE y�] �V�äsÁ|�Ú 100-150    150-200    200-250    2 50-300    300-350
KsÁTÌ (`\ýË)

Å£�³T+� d�uó�T«\             4               5         12         2            2
d�+K«
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(ýñ¿£)

(b) ÿ¿£ n+¿£çXâ&ó�ýË yîTT<�{ì  n |�<�\ yîTTÔáïeTT 4n-n2 nsTTq (i) yîTT<�{ì |�<�+ m+Ôá? (ii) yîTT<�{ì

Âs+&�T |�<�\ yîTTÔáï+ m+Ôá? (iii) Âs+&�e |�<�eTT m+Ôá? n<û$<ó�+>± (iv) |�<�eTTqT, 10e |�<�eTTqT

eT]jáTT ne |�<�eTTqT ¿£qT¿ÃØ+&�.

33. (a) x-y+1=0 eT]jáTT 3x+2y-12=0. d�MT¿£sÁD²\Å£� ç>±|��ÚqT ̂ jáT+&�. � ¹sK\ÔÃ eT]jáTT x n¿£�+ÔÃ

@sÁÎ&�q çÜuó�TÈ os�ü\qT >·T]ï+#á+&� eT]jáTT çÜuó�TC²¿±sÁ çbÍ+Ô��� �w&� #ûjáT+&�.

(ýñ<�)

(b) ¿ì+~ d�eTd�«Å£� ¹sFjáT d�MT¿£sÁD²\ ÈÔá\qT ÔájáÖsÁT #ûjáT+&� eT]jáTT (kÍ<�«yîT®q#Ã) Ô=\Ð+#áT

|�<�ÆÜ <�Çs� y�{ì kÍ<ó�q\qT ¿£qT¿ÃØ+&�.

MTH� u²«+Å£� qT+&� `2000 rd�T¿=qT³Å£� yî[ß+~. �yîT ¿±«w¾jáTsYqT ̀ 50 eT]jáTT `100 HÃ³T¢

eÖçÔáyûT �eÇeT� ¿Ã]+~. yîTTÔáï+ �yîTÅ£� 25 HÃ³T¢ eºÌq$. �yîT m�� ̀ 50 HÃ³T¢ eT]jáTT ̀ 100

HÃ³T¢ rd�TÅ£�q�<Ã ¿£qT¿ÃØ+&�.
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MATHEMATICS
English medium

(Model Question Paper -III) 2025

Class: 10     Max.marks: 100        Time: 3:15m

Instructions:

1. In the duration of 3hrs 15minutes, 15 minutes of time is alloted to read the question
paper.

2. All answers shall be written in Ansser booklet only
3. Question paper consists of 4 sections and 33 questioons
4. Internal choice is available in section IV only
5. Answers shall be written neatly and legibly.

SECTION - I

Note: 1) Answer all the questions in one word or phrase. 12×1=12M

2) Each question carries 1 mark

1. Express the number 156 as a product of its prime factors.

2. Asserton (A) :   The zeroes of the polynomial p(x)=(x-1)(x-2)(x-3) are 1,2,3.

Reason (R) :    The zeroes of a polynomial are the X-co ordinates of the points
     where the graph of the polynomial intersects or touches X-axis

A) Both A and R are true and R is the correct explanationof A

B) Both A and R are true and R is the not  correct explanationof A

C) A is True but R is False

D) A is False but R is True

3. Form a pair of linear equation for the given informaton:

The coach of a cricket team buys 7 bats and 6 balls for ̀ 3800. Later, she buys 3 bats
and 5 balls for ̀ 1750. Find the cost of each bat and each ball.

4. Match the following

     Group - A      Group - B

(i) Common Diference of the A.P 3, 1, – 1, – 3, . . [ ]      (p) -4
(ii) Common Diference of the A.P 5, 1, -3, -7, . . [ ]      (q) 4
(iii) Common Diference of the A.P – 10, – 6, – 2, 2, . . [ ]      (r) -2

(A) i ®  p, ii ®  r, iii ®  q (B) i ®  r, ii ®  q, iii ®  p
(C) i ®  r, ii ®  p, iii ®  q (D) i ®  q, ii ®  r, iii ®  p
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5. Statement I: Two circles are always similar

Statement II : D  ABC~D XYZ, then AB:XY = AC: XZ

A) Both Statements I & II are true

B) Statement I is true but Statement II is false

C) Statement I is False but Statement II is true

D) Both Statements I & II are False

6. The height of a tower is 10 m. What is the length of its shadow when Sun’s altiude is
450.

7. A circle can have ___________parallel tangents at the most.

8. Draw a rough figure of cone with height h cm, base radius r cm and slant height is l cm.

9. If the probability of winning a game is 0.4 then the probability of losing it is _________

10. Zero of the polynomial 3x-2 is

A) 3
2

B) 2
3

C) 3
2-

D) 2
3-

11. If sin A = 5
3

, find the value of cos AA

(A) 4
5

(B) 5
3

(C) 5
4

(D) 4
3

12. The sum of two numbers is 27 and product is 182.The numbers are

(A) 12 and 13 (B) 13 and 14 (C) 12 and 15 (D) 13 and 24

SECTION - II

Note: 1) Answer all the questions 8×2=16M

2) Each question carries 2 marks

13. 2 cubes each of volume 64 cm3 are joined end to end. Find the surface area of the
resulting cuboid.

14. Find a quadratic polynomial whose sum and product of its zeroes are -1 and 4
1

respectively

15. Check whether 321)2( 2
-´=+-x is a quadratic Equation or not?
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16. Write the similarity criterion for the following similar triangles and write in sym-
bolic form

17. Find the distance between points A(Sin900,Cos O0)and B(Cosec 300,Sec 600)

18. Given tan A = 3
4

 , fnd the values of Sin A  and Cos AA

19. Draw a diagram for the following situation:

The shadow of a tower standing on a level ground is found to be 40 m longer when the
Sun’s altiude is 30° than when it is 60°. Find the height of the tower.

20. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the chord of the
larger circle which touches the smaller circle.

SECTION - III

Note: 1) Answer all the questions 8×4=32M

2) Each question carries 4 marks

21. A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn at random from

the box, find he probability that it bears (i) a two-digit number (ii) a perfect square number

22. Write the formula to find the Mode of grouped data and explain its terms.

23. A tent is in the shape of a cylinder surmounted by a conical top. If the height and
diameter of the cylindrical part are 2.1 m and 4 m respectively, and the slant height of
the top is 2.8 m, find the area of the canvas used for making the tent.

24. The product of two consecutie positve integers is 306. find the integers

25. Prove that 
A
A

sin1
sin1

-

+
 =  sec A +tan AA

26. Determine the AP whose 3rd term is 5 and the 7th term is 9

27. Prove that opposite sides of a quadrilateral circumscribing a circle subtend supple-
mentary angles at the centre of the circle.
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28.

Answer the following questions by observing the graph.

(a) Name the shape of the graph.

(b) How many zeroes are there for this shape

(c) The zeroes of Polynomial

(d) Product of zeroes of Polynomial.

SECTION - IV

Note: 1) Answer all the questions 5×8=40M

2) Each question carries 8 marks

3) There is an internal choice of each question.

29. (a) Prove that 3  is irrational

OR

(b)  A girl of height 90 cm is walking away from the base of a lamp-post at a speed of
      1.2 m/s. If the lamp is 3.6 m above the ground, find the length of her shadow after
     4 seconds.

30. (a) If A and B are (– 2, – 2) and (2, – 4), respectivly, find the coordinates of P such that

AP = 7
3

 AB  and P lies on the line segment AB

OR

(b)  A chord of a circle of radius 12 cm subtends an angle of 120° at the centre. Find
      the area of the corresponding segment of the circle. (Use p  = 3.14 and

       3  = 1.73)

31. (a)  Two dice, one blue and one grey, are thrown at the same time. Write down all the
     possible outcomes. What is the probability that the sum of the two numbers
        appearing on the top of the dice is (i) 8  (ii) 13
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OR

(b) From a point P on the ground the angle of elevationof the top of a 10 m tall
building is 30°.  A flag s hoisted at the top of the building and the angle of eleva-
tion of the top of the flag staff from P is 45°.
Find the length of the flagstaff find the distance of the building from the point P

32 (a) The following distribution shows the daily pocket allowance of children of a lo
cality. Find the Median of the data

Daily pocket 11-13    13-15    15-17    17-19    19-21    21-23  23-25
allowance(in ̀ )
No.of children         7        6           9 13  20          5            4

OR
(b) How many terms of the AP : 9, 17, 25, . . . must be taken to give a sum of 636?.

33. (a) Check graphically whether the pair of equations 63 =+ yx  and 1232 =- yx is
consistent. If so, solve them graphically

OR
(b) Form the pair of linear equationsin the following problem, and fid their solutons
       graphically.

The diference between two numbers is 26 and one number is three times the
other.
Find them.
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>·DìÔáXæ�d�ïeTT

Ôî\T>·T MT&�jáT+

(yîÖ&�ýÙ �||�sY - 3) 2025

ÔásÁ>·Ü: 10          >·]w�÷ eÖsÁTØ\T: 100        d�eTjáT+: 3 >·+. 15 �öö

d�Ö#áq\T:

1. 3>·+öö 15�öö d�eTjáT+ýË 15�öö d�eTjáT+ ç|�Xæ�|�çÔáeTT #á<�eÚ¿Ãe&��¿ì ¹¿{²sTT+#á&�yîT®~

2. n�� d�eÖ<ó�qeTT\T �qàsY �T¿ùýÉ{ÙýË s�jáTeýÉqT

3. � ç|�Xæ�|�çÔáeTT 4 $uó²>±\T ¿£*Ð �+&�, 33 ç|�Xø�\T �+{²sTT.

4. $uó²>·eTT`4 q+<�T eÖçÔáyûT n+ÔásÁZÔá m+|¾¿£ �+³T+~.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - 1

d�Ö#áq\T:1) ÿ¿£ |�<�+ ýñ¿£ y�¿£«+ýË n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ+&�. 12×1=12eÖ

2) ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.

1. 156 qT ç|�<ó�q ¿±sÁD²+¿±\ \�ÝeTT>± s�jáT+&�.

2. ç|�¿£³q (A) :   p(x)=(x-1)(x-2)(x-3) �V�Q|�~ jîTT¿£Ø XøSq« $\Te\T 1,2 eT]jáTT 3.

¿±sÁDeTT (R) :    �V�Q|�~ XøSH�«\T, �V�Q|�~ d�MT¿£sÁD+ jîTT¿£Ø ¹sU² ºçÔá+ X-n¿�±��

    K+&�+ºq|�Ú&�T ýñ<� Ô�¿ìq|�Ú&�T @sÁÎ&�q _+<�TeÚ\ X-�sÁÖ|�¿±\T neÚÔ�sTT.

A) ç|�¿£³q (A) eT]jáTT ¿±sÁDeTT (R) Âs+&�Ö d�]jî®Tq$ eT]jáTT ¿±sÁDeTT (R) ç|�¿£³q (A) jîTT¿£Ø

 d�ÂsÕq $esÁD

B) ç|�¿£³q (A) eT]jáTT ¿±sÁDeTT (R) Âs+&�Ö d�]jî®Tq$ eT]jáTT ¿±sÁDeTT (R) , ç|�¿£³q (A)
jîTT¿£Ø d�ÂsÕq $esÁD ¿±<�T.

C) ç|�¿£³q (A) d�ÂsÕq~, ¿±� ¿±sÁDeTT (R) d�ÂsÕq~ ¿±<�T

D) ç|�¿£³q (A)  d�ÂsÕq~ ¿±<�T, ¿±� ¿±sÁDeTT (R) d�ÂsÕq~

3. ç¿ì+~ �ºÌq d�eÖ#�s��¿ì ¹sFjáT d�MT¿£sÁD²\ ÈÔá\qT ÔájáÖsÁT #ûjáT+&�.

ÿ¿£ ç¿ìÂ¿{Ù ¿Ã#Y 7 u²«{Ù\qT, 6 u²ýÙàqT `3800 \Å£� ¿=HîqT. ÔásÁTy�Ôá, �yîT 3 u²«{Ù\qT, 5 u²ýÙàqT

`1750 Å£� ¿=HîqT. nsTTq u²«{Ù eT]jáTT u²ýÙ\ <ó�sÁ\T m+ÔÃ ¿£qT¿ÃØ+&�.

4. ç¿ì+~ y�{ì� ÈÔá|�sÁ#á+&�.

     ç>·Ö|t - A   ç>·Ö|t - B

(i) 3, 1, – 1, – 3, .... nHû n+¿£çXâ&ó�ýË kÍeÖq« uñ<ó�+ . [ ]      (p) -4
(ii) 5, 1, -3, -7, . .... nHû n+¿£çXâ&ó�ýË kÍeÖq« uñ<ó�+ [ ]      (q) 4
(iii) – 10, – 6, – 2, 2, ....nHû n+¿£çXâ&ó�ýË kÍeÖq« uñ<ó�+ . [ ]      (r) -2
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d�ÂsÕq d�eÖ<ó�H��� mqT�¿Ã+&�.

(A) i ®  p, ii ®  r, iii ®  q (B) i ®  r, ii ®  q, iii ®  p

(C) i ®  r, ii ®  p, iii ®  q (D) i ®  q, ii ®  r, iii ®  p

5. ç|�e#áqeTT` I: Âs+&�T e�Ô�ï\T m\¢|�ð&�Ö d�sÁÖbÍ\T

ç|�e#áqeTT` II : D  ABC~D XYZ, nsTTq#Ã,  AB:XY = AC: XZ

A) Âs+&�Ö ç|�e#áqeTT\T I eT]jáTT II d�ÂsÕq$

B) ç|�e#áqeTT` I d�ÂsÕq~, ¿±� ç|�e#áqeTT`II d�ÂsÕq~ ¿±<�T

C) ç|�e#áqeTT`I d�ÂsÕq~ ¿±<�T, ¿±� ç|�e#áqeTT`II d�ÂsÕq~

D) Âs+&�Ö ç|�e#áH�\T I eT]jáTT II d�ÂsÕq$ ¿±eÚ.

6. ÿ¿£ ³esY mÔáTï 10MT.uó�Ö$TÔÃ d�ÖsÁ« ¿ìsÁD²\T 450 \ ¿ÃD+ #ûd�Tïq�|�ð&�T � ³esY jîTT¿£Ø ú&� bõ&�eÚ

m+Ôá?.

7. ÿ¿£ e�Ôáï+ >·]w�¼+>± .................. d�eÖ+ÔásÁ d�ÎsÁô¹sK\qT ¿£*Ð �+³T+~.

8. mÔáTï h �d+.MT, Xø+Å£�eÚ uó�Öy�«kÍsÁÆeTT r �d+.MT eT]jáTT @³y�³T mÔáTï l �d+.MT >± >·\ Xø+Å£�eÚ ºÔáTï

|�{²�� ̂ jáT+&�.

9. ÿ¿£ �³ Â>\e&��¿ì >·\ d�+uó²e«Ôá 0.4 nsTTq, � �³ z&�bþe{²�¿ì >·\ d�+uó²e«Ôá  _________

10. 3x-2 �V�Q|�~ XøSq«+ ................

A) 3
2

B) 2
3

C) 3
2-

D) 2
3-

11. sin A = 5
3

  , nsTTq cos A  $\Te ¿£qT¿ÃØ+&�.

(A) 4
5

(B) 5
3

(C) 5
4

(D) 4
3

12. Âs+&�T d�+K«\ yîTTÔáïeTT 27 eT]jáTT � d�+K«\ \�Æ+ 182 nsTTq, � d�+K«\T ............

(A) 12 eT]jáTT 13 (B) 13 eT]jáTT 14 (C) 12 eT]jáTT 15 (D) 13 eT]jáTT 24

$uó²>·eTT - 2

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� Èy��T\T s�jáT+&�. 8×2=16eÖ

2) ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.

13. ÿ¿=Ø¿£Ø d�eT |��Tq+ |��Tq|�]eÖD+ 64 �d+.MT3 >± >·\ 2 d�eT |��TH�\qT ÿ¿£<�� ºesÁ eTs=¿£{ì

nÜ¿ì+#�sÁT. �$<ó�+>± @sÁÎ&�q BsÁé|��Tq+ �|�]Ôá\ yîÕXæ\«+ ¿£qT¿ÃØ+&�.
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14. XøSH�«\ yîTTÔáïeTT eT]jáTT \u²Æ\T ç¿£eT+>± -1 eT]jáTT  4
1

 nsTTq, � esÁZ �V�Q|�~� ¿£qT¿ÃØ+&�.

15. 2( 2) 1 2 3x x- + = - nHû~ esÁZ d�MT¿£sÁD+ neÚÔáT+<Ã ýñ<Ã |�]o*+#á+&�.

16. |�³+ýË �eÇ�&�q çÜuó�TC²\T @ �jáTeT+ �<ó�sÁ+>± d�sÁÖbÍýË s�jáT+&� eT]jáTT çÜuó�TC²\ d�sÁÖ|�ÔáqT

>·TsÁTï\qT �|�jîÖÐ+º s�jáT+&�.

17. A(Sin900,Cos O0) eT]jáTT B(Cosec 300,Sec 600) _+<�TeÚ\ eT<ó�« >·\ <�Ös��� ¿£qT¿ÃØ+&�.

18. tan A = 3
4

 ,  nsTTq, Sin A  eT]jáTT Cos A  $\Te\T ¿£qT¿ÃØ+&�.

19. ç¿ì+<� �eÇ�&�q d�+<�s�ÒÛ�¿ì ÔáÐq ºçÔ��� ^jáT+&�.

uó�Ö$TÔÃ d�ÖsÁ« ¿ìsÁD²\T 300\ ¿ÃD+ #ûd�Tïq�|�ð&�T d�eTÔá\ uó�Ö$T �|Õ >·\ ÿ¿£ ³esY jîTT¿£Ø ú&� bõ&�eÚ,

uó�Ö$TÔÃ d�ÖsÁ« ¿ìsÁD²\T 600\ ¿ÃD+ #ûd�Tïq�|�ð&�T ³esY jîTT¿£Ø ú&� bõ&�eÚ ¿£+fñ 40MT. mÅ£�Øe bõ&�eÚ

¿£*Ð �+fñ ³esY jîTT¿£Ø mÔáTï ¿£qT>=qTeTT.

20. 5 �d+.MT eT]jáTT 3 �d+.MT y�«kÍsÁÆeTT\ÔÃ Âs+&�T @¿£ ¹¿+ç<� e�Ô�ï\T ̂ jáT�&�¦sTT. ºq� e�Ô�ï�� d�Î]ô+#û

�|<�Ý e�ÔáïeTT jîTT¿£Ø C²« bõ&�eÚqT ¿£qT¿ÃØ+&�.

$uó²>·eTT - 3

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�. 8×4=32eÖ

2) ç|�Ü d�ÂsÕq d�eÖ<ó�qeTTqÅ£� 4 eÖsÁTØ.\T

21. ÿ¿£ �|fÉ¼ýË 1 qT+&� 90 esÁÅ£� d�+K«\T yûjáT�&�q 90 |��\¿±\T �H��sTT. � �|fÉ¼ qT+&� jáÖ<��ºÌÛ¿£+>±

ÿ¿£ |��\¿±�� rd¾q³¢sTTÔû, n~  (i) Âs+&�+Â¿\ d�+K«  (ii) |�]|�PsÁ� esÁZ d�+UØ\qT Å£qT¿ÃØ+&�.

22. e Z̄¿£�Ôá <�Ô�ï+Xø+ jîTT¿£Ø u²V�QÞø¿£+qT ¿£qT>=Hû d�ÖçÔá+ s�jáT+&�. eT]jáTT � |�<�\qT $e]+#á+&�.

23. ÿ¿£ >·T&�sÁ+ d�ÖÆ|�+ �|Õ neTsÁÌ�&�q Xø+Å£�eÚ �¿±sÁ+ýË �+~. d�Ö�bÍ¿±sÁ uó²>·+ jîTT¿£Ø mÔáTï, y�«kÍ\T

esÁTd�>± 2.1MT eT]jáTT 4 MT. Xø+Å£�eÚ �¿±sÁ+ýË �|Õ uó²>·+ jîTT¿£Ø @³y�\T mÔáTï 2.8MT nsTTÔû �

>·Ö&�s��¿ì ¿±e\d¾q ¿±H�Çd�T >·T&�¦ yîÕXæ\«+ ¿£qT¿ÃØ+&�.

24. Âs+&�T esÁTd� <ó�q |�PsÁ� d�+K«\ \�ÆeTT 306. nsTTq � d�+K«\qT ¿£qT¿ÃØ+&�.

25.
A
A

sin1
sin1

-

+
 =  sec A +tan A  n� �sÁÖ|¾+#á+&�.

26. 3e |�<�eTT 5, 7e |�<�eTT 9 >± �+&�Tq³T¢ ÿ¿£ n+¿£çXâ&ó�� ¿£qT¿ÃØ+&�.

27. ÿ¿£ #áÔáTsÁTÒÛÈ+ýË e�ÔáïeTT <�� H�\T>·T uó�TC²\qT Ô�Å£�ÔáÖ n+Ôá]¢Ï+#á�&� eÚq�#Ã � #áÔáTsÁTÒÛÈeTT m<�T{ì

uó�TC²\T e�Ôáï ¹¿+ç<�eTT e<�Ý #ûjáTT ¿ÃD²\T d�+|�PsÁ¿±\T n� �sÁÖ|¾+#á+&�.
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28.

� ç>±|�tqT |�]o*+º ¿ì+~ ç|�Xø�\Å£� Èy��T\ �eÇ+&�.

(a) ç>±|�týË� �¿±sÁ+ jîTT¿£Ø �|sÁT s�jáT+&�.

(b) � �¿±s��¿ì m�� XøSH�«\T ¿£\eÚ?

(c) � �V�Q|�~ XøSH�«\T @$?

(d) � �V�Q|�~ XøSH�«\ \�Æ+ ¿£qT¿ÃØ+&�.

$uó²>·eTT - 4

d�Ö#áq\T:1) n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�. 5×8=40eÖ

2) ç|�Ü d�ÂsÕq d�eÖ<ó�qeTTqÅ£� 8 eÖsÁTØ.\T

3) ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£Å£� ne¿±Xø+ ¿£\<�T

29. (a) 3  ÿ¿£ ¿£sÁD¡jáT d�+K« n� �sÁÖ|¾+#á+&�.

(ýñ¿£)

(b)  ÿ¿£ B|� d�ï+uó�+ n&�T>·T uó²>·+ qT+&� 1.2 MT/�d yû>·+ÔÃ 90�d+.MT. bõ&�eÚ >·\ u²*¿£ q&�Td�Tïq�~.

Hû\�|Õuó²>·+ qT+&� d�ï+�+ 3.6MT. mÔáTï ¿£*Ð �+fñ, 4 �d¿£+&�¢ ÔásÁTy�Ôá � u²*¿£ ú&� bõ&�eÚ ¿£qT¿ÃØ+&�.

30. (a) _+<�TeÚ A eT]jáTT  B �sÁÖ|�¿±\T esÁTd�>± (– 2, – 2) eT]jáTT  (2, – 4), nsTTÔû AB ¹sU²K+&�+

�|Õ AP = 7
3

 AB njûT«$<ó�+>± P  _+<�TeÚ �sÁÖ|�¿±\T ¿£qT¿ÃØ+&�

(ýñ¿£)

(b)  12 �d+.MT y�«kÍsÁÆ+>± >·\ e�Ôáï+ jîTT¿£Ø ÿ¿£ C²« ¹¿+ç<�+ e<�Ý 1200 ¿ÃD+ #ûjáTT#áTq�~. nsTTq

d�+�+~óÔá C²« @sÁÎ]#û e�Ôáï K+&� yîÕXæ\«+ ¿£qT¿ÃØ+&�. ( p  = 3.14 eT]jáTT 3  = 1.73>± rd�T¿Ã+&�))

31. (a) ÿ¿£{ì ú\+, ÿ¿£{ì �Ö&�<� sÁ+>·T >·\ Âs+&�T bÍº¿£\T ÿ¹¿kÍ] <=]¢+#á&�yîT®q~. kÍ<ó�«eTjûT« n��

|�sÁ«ed�H�\qT s�jáT+&�. Âs+&�T bÍº¿£\ �|Õ uó²>·+ýË ¿£�|¾+#û Âs+&�T d�+K«\ yîTTÔáïeTT (1) 8  (2) 13 \T

njûT« d�+uó²e«Ôá\T m+Ôî+Ôá?

(ýñ<�)
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(b) Hû\�|Õ P nHû _+<�TeÚ qT+&� d�MT|�+ýË� 10MT. mÔáTï >·\ ÿ¿£ uó�eq+ �|Õ ºesÁÔÃ #ûd¾q }sÁÆÇ ¿ÃD

300. � uó�eq+ �|Õ ÿ¿£ CÉ+&� d�ï+uó�+ �+fñ, P e<�Ý qT+&� CÉ+&� d�ï+uó�|�Ú �|Õ¿=qÔÃ #ûd¾q }sÁÆÇ¿ÃD+

450. CÉ+&� d�ï+uó�+ jîTT¿£Ø mÔáTï eT]jáTT uó�eq+ qT+&� P >·\ <�Ös�\qT ¿£qT¿ÃØ+&�.

32 (a) ÿ¿£ �y�d� çbÍ+Ôá+ýË |¾\¢\ sÃpy�] #ûÜ KsÁTÌ\ $es�\T � ç¿ì+~ |�{ì¼¿£ýË �eÇ�&�q$. <��

eT<ó�«>·ÔáeTT ¿£qT>=q+&�.

|¾\¢\ sÃpy�]  11-13    13-15    15-17    17-19    19-21    21-23  23-25
#ûÜ KsÁTÌ(`\ýË)

|¾\¢\ d�+K«      7        6           9 13   20           5           4

(ýñ¿£)

(b) 9,17,25 ..... n+¿£çXâ&ó�ýË m�� |�<�\qT rd�T¿=+fñ y�� yîTTÔáï+ 636 n>·TqT?

33. (a) ¿ì+~ ¹sFjáT d�MT¿£sÁD²\ ÈÔá\T d�+>·Ô�ýË, ¿±<Ã ç>±|�t |�<�ÆÜ <�ÇsÁ ¿£qT¿ÃØ+&�. d�+>·Ô�ýÉÕq#Ã, y�{ì

     kÍ<ó�q\qT ç>±|�t |�<�ÆÜ <�Çs� s��³¼+&�. 63 =+ yx  eT]jáTT 1232 =- yx

(ýñ¿£)

(b) ~>·Te �eÇ�&�q d�eTd�«Å£� ¹sFjáT d�MT¿£sÁD²\ ÈÔá\qT ÔájáÖsÁT #ûjáT+&� eT]jáTT y�{ì kÍ<ó�q\qT

ç>±|�t |�<�ÆÜ <�Çs� ¿£qT¿ÃØ+&�.

Âs+&�T d�+K«\ eT<�« uñ<ó�eTT 26 eT]jáTT ÿ¿£ d�+K« eTs=¿£ d�+K«Å£� eTÖ&�T Âs³T¢ nsTTq � d�+K«\qT

¿£qT¿ÃØ+&�.
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S.S.C. Public Examinations
General Science Paper - I (Physical Science)

(MODEL PAPER-I, ENGLISH VERSION)

Time: 2 Hours      Max Marks: 50

Instructions:
1. Question paper consists of 4 sections and 17 Questions.
2. Internal Choice is there only for Q.No.12 in Section –III and for all the Questions in Section –IV.
3. In the duration of 2 hours, 15 minutes of time is allotted to read the Question paper.
4. All answers should be written in the answer booklet only.
5. Answer should be written neatly and legibly.

SECTION - I  8×1=8M

Note: 1.   Answer all the questions.
2.  Each question Carries  mark

1. Why do we apply paint on iron articles?

2. Bases which are soluble in water are called ___________

3. Solution A B C D E

pH value 4 1 12 7 9

Which is the strong acid solution among the solutions given in the table?

4. What are amphoteric oxides?

5. Write any one industrial application of hydrogenation.

6 The human eye forms the image of an object at its
a) cornea                 b) iris                      c) pupil                     d) retina

7. Draw the symbol of the electric bulb.

8. 1 KWH how many joules?

SECTION -II           3×2 =6M

Note: 1. Answer all the questions.

2. Each question Carries 2 marks

9. General formula of alkanes is CnH2n+2.

 Write the first two alkanes

10. Why do we prefer a convex mirror as a rear-view mirror in vehicles?

11. Why is the series arrangement not used for domestic circuits?
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SECTION-III            3×4=12M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks

12. Draw any one of the following diagrams:

 A)  Draw the ray diagrams of image formed when the object is placed infront of
a bi-convex lens in  the following positions.

a) At infinity                                  b) At 2F1

(OR)

B)  Draw the diagram which shows that acid solution in water conducts electricity.

13. Fresh milk has a pH of 6. How do you think the pH will change as it turns into curd? Explain
your answer.

14. Material medium Air Ice Ruby Benzene

Refractive Index 1.0003 1.31 1.71 1.50

Observe the table and answer the following questions.

i) Which material medium is optically rarer?
ii) Which material medium is optically denser?
iii) Write the relation between refractive index and speed of light in the medium?
iv) What is the SI unit of Refractive Index?

SECTION-IV            3×8=24M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice:

15. A) Explain, how do you correct the eye defect Myopia with a suitable diagram.
          (OR)

B) Deduce the expression for the equivalent resistance of three resistors connected in
parallel in an electric circuit.

16. A) What are the differences between displacement and double displacement reactions?
Write equations for these reactions.

(OR)
B) Explain the mechanism of the cleaning action of soaps.

17. A) Explain the procedure to show that compass needle is deflected on passing an electric
current through a metallic conductor (Oersted’s experiment)

(OR)
B) Suggest an activity to prove that the presence of air and water are essential for

corrosion. Explain the Procedure
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S.S.C. Public Examinations
General Science Paper - I (Physical Science)

(MODEL PAPER-I, TELUGU VERSION)

Time: 2 Hours      Max Marks: 50

d�Ö#áq\T:
1. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 17 ç|�Xø�\T �+&�TqT.

2. IIIe $uó²>·+ýË� 12e ç|�Xø�Å£� eÖçÔáyûT eT]jáTT IV $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

3. 2 >·+³\ d�eTjáT+ýË, 15 �$TcÍ\ d�eTjáT+ ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

4. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT -  I 8×1=8eÖ

d�Ö#áq\T: 1.   n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ

1. �qT|� ed�TïeÚ\Å£� eTqeTT sÁ+>·T m+<�TÅ£� yûkÍï+?

2. ú{ìýË ¿£]¹> ¿�±s�\qT ___________ n+{²sÁT

3. ç<�eD+ A B C D E

pH $\Te 4 1 12 7 9

�|Õq �eÇ�&�q |�{ì¼¿£ýË @ ç<�eDeTT �\yîT®q �eT¢+?

4. ~Çd�Çuó²e �Â¿Õà&�T¢ nq>±Hû$T?

5.  �VÕ²ç&ÃÈú¿£sÁDeTT jîTT¿£Ø ÿ¿£ bÍ]çXæ$T¿£ nqTesÁïq+ çy�jáT+&�.

6  eÖqeÚ� ¿£qT� ÿ¿£ ed�TïeÚ jîTT¿£Ø ç|�Ü_+u²�� �¿£Ø&� @sÁÎsÁTd�Tï+~.

a) ¿±]�jáÖ                 b) ¿£qTbÍ|�                      c) Ô�sÁ¿£                    d) Âs{¡H� 

7. $<�T«ÔY �\TÒ ºV�ä��� ̂ jáT+&�.

8. 1 KWH m�� C�ýÙàÅ£� d�eÖq+?

$uó²>·eTT -  II           3×2 =6eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

9. �ýñØq¢ kÍ<ó�sÁD b�ÍsÁT�ý² CnH2n+2.
yîTT<�{ì Âs+&�T �ýñØq¢qT çy�jáT+&�

10. y�V�²qeTT\ýË yîq¿£ M¿£�D n<�ÝeTT>± Å£�+uó²¿±sÁ <�sÁÎDeTTqT �|�jîÖÐkÍïeTT. m+<�TÅ£�?

11. >·�V�² d�+�+<ó� e\jáÖ\ýË çXâDì d�+<ó�qeTTqT m+<�TÅ£� �|�jîÖÐ+#ásÁT?
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$uó²>·eTT -  III            3×4=12eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

12. ç¿ì+~ |�{²\ýË ÿ¿£ <��� eÖçÔáyûT ^jáT+&�.

 A)  � ¿ì+~ d�+<�s�ÒÛ\ýË Å£�+uó²¿±sÁ ¿£³¿£eTTÅ£� eTT+<�T �+ºq ed�TïeÚ e\q @sÁÎ&û ç|�Ü_+�

kÍ�H�\qT #áÖ�| ¿ìsÁD ºçÔ�\qT ^jáT+&�

a) nq+Ôá <�ÖsÁ+ e<�Ý                                 b) 2F1 e<�Ý

(ýñ<�)

B)  ú{ìýË� �eT¢ ç<�eD+ $<�T«<�ÇV�²¿£ÔáqT ¿£\>·#ûd�Tï+<�� #áÖ�| #á¿£Ø� |�³eTTqT ^jáT+&�.

13. Ô�C² bÍ\Å£� pH $\Te 6 �+³T+~ n~ �|sÁT>·T>± eÖ]q|�ÚÎ&�T pH mý² eÖsÁTÔáT+<�� MTsÁT

nqTÅ£�+³TH��sÁT? MT d�eÖ<ó�H��� $e]+#á+&�.

14. |�<�sÁÆ jáÖq¿£+ >±* eT+#áT sÁÖ; uÉ+�H�

eç¿¡uó�eq >·TD¿£+ 1.0003 1.31 1.71 1.50

|�{ì¼¿£qT |�]o*+º ç¿ì+~ ç|�Xø�\Å£� Èy��T\T s�jáT+&�.

i) @ |�<�sÁÆ jáÖq¿£+ <ó��¿ù $sÁÞø jáÖq¿£+?

ii) @ |�<�sÁÆ jáÖq¿£+ <ó��¿ù kÍ+ç<�ÔásÁ jáÖq¿£+?

iii) jáÖq¿£ eç¿¡uó�eq >·TD¿±�¿ì, jáÖq¿£+ýË� ¿±+Ü e&�¿ì eT<ó�«>·\ d�+�+<ó��� s�jáT+&�.

iv) eç¿¡uó�eq >·TD¿±�¿ì SI ç|�eÖDeTT @$T{ì?

$uó²>·eTT -  IV            3×8=24eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

15. A)   çV�²d�Ç <��w¾¼� mý² d�] #ûjáTe#áTÌHÃ d�ÂsÕq |�³+ d�V�äjáT+ÔÃ $e]+#á+&�.

          (ýñ<�)
B)  eTÖ&�T �sÃ<ó�\qT d�eÖ+ÔásÁ d�+<ó�q+ýË ¿£*|¾q|�ÚÎ&�T ¿£*¹> |��*Ôá �sÃ<ó��¿ì d�MT¿£sÁD²��

�Ô�Î~+#á+&�.

16. A) kÍ�qçuó�+Xø+ eT]jáTT <�Ç+<�Ç kÍ�qçuó�+Xø #ásÁ«\ eT<ó�« Ôû&� @$T{ì? � #ásÁ«\Å£� d�MT¿£sÁD²\T

çy�jáT+&�.

(ýñ<�)
B) d��TÒ\ jîTT¿£Ø Xø�çuó�|�]#û #ásÁ«qT $e]+#á+&�.

17. A) ÿ¿£ ýËV�² y�V�²¿£+ >·T+&� $<�T«ÔY ç|�eV¾²d�Tïq�|�ÚÎ&�T <�� <�>·ZsÃ¢ �+&û njáTkÍØ+Ôá d�Öº¿£ýË

n|�esÁïH�\T @sÁÎ&�Ô�jáT� #áÖ�| ¿£�Ô�«�� $e]+#á+&�. (nsTTsY�d¼&� ç|�jîÖ>·+)

(ýñ<�)
B) >±* eT]jáTT úsÁT d�eT¿£�+ýË ýËV�²¿£�jáT+ ÈsÁT>·TÔáT+<�� �sÁÖ|¾+#û ¿£�Ô�«�� $e]+#á+&�.
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S.S.C. Public Examinations
General Science Paper - I (Physical Science)

(MODEL PAPER-II, ENGLISH VERSION)

Time: 2 Hours      Max Marks: 50

Instructions:
1. Question paper consists of 4 sections and 17 Questions.
2. Internal Choice is there only for Q.No.12 in Section –III and for all the Questions in Section –IV.
3. In the duration of 2 hours, 15 minutes of time is allotted to read the Question paper.
4. All answers should be written in the answer booklet only.
5. Answer should be written neatly and legibly.

SECTION - I  8×1=8M

Note: 1.   Anewer all the questions.
2.  Each question carries 1 Mark

1. Why do we keep food in air tight containers?

2. What is a neutralization reaction?

3. Substance          Blue litmus        Red litmus

     X Blue colour turns to red Remains same

     Y Remains same Remains same

     Z Remains same Red colour turns to blue

Which is neutral?

4. What type of oxides are formed when non-metals combine with oxygen?

5. Write any one use of ethanol/Alcohol.

6 The changes in focal length of an eye lens is caused by the action of the
a) pupil                     b) retina                     c) ciliary muscles            d) iris

7. What is the SI unit of electric energy?

8. Name a device that helps to measure a potential difference across a conductor.

SECTION -II          3×2=6M

Note: 1. Answer all the questions.

2. Each question Carries 2 marks

9. Identify the alkanes, alkenes and alkynes
C2H6, C3H8, C3H6, C2H2 and CH4

10. A ray passing through the centre of curvature of a concave mirror, after reflection, is reflected
back along the same path. Why?

11. Why are copper and aluminium wires usually employed for electricity transmission?
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SECTION-III            3×4=12M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks

12. Draw any one of the following diagrams:

 A) Draw the ray diagrams of image formed when the object is placed infront of a
concave mirror in the following positions.

a) Beyond C                                 b) Between C and F
(OR)

B)  Draw a diagram of arrangement of apparatus for the reaction of acids with metals

13. Give two important uses of Bleaching powder and Plaster of Paris?

14. Observe the ray diagram and answer the following questions.

i) Which lens used in this ray diagram?
ii) Where is the position of the object?
iii) Where the position of the image?
iv) What is the nature of the image?

SECTION-IV            3×8=24M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice:

15. A) Explain the correction of the eye defect Hypermetropia with a suitable diagram.
          (OR)

B) Deduce the expression for the equivalent resistance of three resistors connected in series
in an electric circuit.

16. A) Balance the following chemical equations
i) HNO3 + Ca(OH)2 à Ca(NO3)2 + H2O
ii) NaOH + H2SO4 à Na2SO4 + H2O
iii) NaCl + AgNO3 à AgCl + NaNO3
iv) BaCl2 + H2SO4 à BaSO4 + HCl

(OR)
B) Explain the following

i) Homologous series         ii) Substitution reaction

17. A) Describe an activity on force experienced by a current-carrying conductor placed in a
magnetic field.

(OR)
B) How do metals react with solutions of other metal salts? Describe an activity.
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S.S.C. Public Examinations
General Science Paper - I (Physical Science)

(MODEL PAPER-II, TELUGU VERSION)

Time: 2 Hours      Max Marks: 50

d�Ö#áq\T:
1. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 17 ç|�Xø�\T �+&�TqT.

2. IIIe $uó²>·+ýË� 12e ç|�Xø�Å£� eÖçÔáyûT eT]jáTT IV $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

3. 2 >·+³\ d�eTjáT+ýË, 15 �$TcÍ\ d�eTjáT+ ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

4. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT -  I  8×1=8eÖ

d�Ö#áq\T: 1.  n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ

1. �V�äs��� >±* #=sÁ�&�� bÍçÔá\ýË m+<�TÅ£� �+#�*?

2. Ôá³dÓ�¿£sÁD #ásÁ« nq>±Hû$T?

3.  |�<�sÁ�+          ú* *³�dt msÁT|�Ú *³�dt

     X ú\eTT sÁ+>·T qT+&� msÁT|�Ú>± eÖ]q~ eÖsÁTÎ ýñ<�T

     Y eÖsÁTÎ ýñ<�T eÖsÁTÎ ýñ<�T

     Z eÖsÁTÎ ýñ<�T msÁT|�Ú sÁ+>·T qT+&� ú\+>± eÖ]q~

@~ Ôá³d��eTT?

4. nýËV�ä\T �¿ìàÈH�ÔÃ d�+jîÖ>·+ #î+~ @ $<ó�yîT®q �Â¿Õà&�¢qT @sÁÎsÁTkÍïsTT?

5. �<̧�H�ýÙ/�ýÙØV�äýÙ jîTT¿£Ø @<îÕH� ÿ¿£ �|�jîÖ>±�� s�jáT+&�.

6 B�e\¢ ¿£+{ì¿ì ¿£³¿£+ jîTT¿£Ø H�uó�«+ÔásÁ+ eÖsÁTÔáT+~.

a) Ô�sÁ¿£                    b) Âs{¡H�                     c) d¾]jáT¯ ¿£+&�s�\T           d) ¿£qTbÍ|�

7. $<�T«ÔY Xø¿ìï¿ì SI ç|�eÖD+ @$T{ì?

8. y�V�²¿£eTT jîTT¿£Ø Âs+&�T ºesÁ¢ eT<ó�« >·\ bõfÉ�üjáTýÙ uñ<ó��� ¿=*#û |�]¿£sÁ+ @~?

$uó²>·eTT -  II           3×2 =6eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

9. �ýñØqT¢, �©ØqT¢, �ýÉÕØqT¢ \qT >·T]ï+#á+&�.

C2H6, C3H8, C3H6, C2H2 eT]jáTT CH4

10. |�Ú{²¿±sÁ <�sÁÎD eç¿£Ô� ¹¿+ç<�+ >·T+&� ç|�jáÖDìd�Tïq� ¿ìsÁD+ |�s�esÁïq+ #î+~ n<û eÖsÁZ+ýË yîqT¿£Å£�

ç|�jáÖDì+#áTqT. m+<�TÅ£�?

11. $<�T«ÔY d�sÁ|��s�ýË kÍ<ó�sÁD+>± s�Ð eT]jáTT n\Ö«$T�jáT+ r>·\qT m+<�TÅ£� �|�jîÖÐkÍïsÁT?
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$uó²>·eTT - III            3×4=12eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

12. ç¿ì+~ |�{²\ýË ÿ¿£ <��� eÖçÔáyûT ^jáT+&�.

 A) |�Ú{²¿±sÁ <�sÁÎD²�¿ì m<�TsÁT>± � ç¿ì+~ kÍ�H�\ýË ed�TïeÚqT �+ºq|�Ú&�T @sÁÎ&û ç|�Ü_+u²\

¿ìsÁD ºçÔ�\T ^jáT+&�.

a) C ¿ì neÔá\                            b) C eT]jáTT F \ eT<ó�«

(ýñ<�)

B) �eT¢eTTÔÃ ýËV�ä\ #ásÁ«qT Ôî*jáTCñ�d #á¿£Ø� |�³eTTqT ̂ jáT+&�.

13. ;¢º+>́ bå&�sY, bÍ¢d�¼sY �|�t bÍ]dt jîTT¿£Ø Âs+&�T eTTK«yîT®q �|�jîÖ>±\qT çy�jáT+&�.

14. ¿ìsÁD ºçÔá+qT |�]o*+º ç¿ì+~ ç|�Xø�\Å£� Èy��T\T s�jáT+&�.

i) ¿ìsÁD ºçÔá+ýË �|�jîÖÐ+ºq ¿£³¿£+?

ii) ed�TïeÚ jîTT¿£Ø kÍ�q+ @~?

iii) ç|�Ü_+�+ jîTT¿£Ø kÍ�q+ @~?

iv) ç|�Ü_+� d�Çuó²e+ @$T{ì?

$uó²>·eTT - IV            3×8=24eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

15. A) BsÁé <��w¾¼� @ $<ó�+>± d�e]kÍïsÃ #á¿£Ø� |�³+ d�V�äjáT+ÔÃ $e]+#á+&�.

          (ýñ<�)
B) eTÖ&�T �sÃ<ó�\qT çXâDì d�+<ó�q+ýË ¿£*|¾Ôû @sÁÎ&û |��*Ôá �sÃ<ó�eTTqÅ£� d�MT¿£sÁDeTTqT

�Ô�Î~+#á+&�.

16. A) ç¿ì+~ sÁkÍjáTq d�MT¿£sÁD²\� ÔáT\«+ #ûjáT+&�.

i) HNO3 + Ca(OH)2 à Ca(NO3)2 + H2O
ii) NaOH + H2SO4 à Na2SO4 + H2O
iii) NaCl + AgNO3 à AgCl + NaNO3
iv) BaCl2 + H2SO4 à BaSO4 + HCl

(ýñ<�)
B)  � ç¿ì+~ y�{ì� $e]+#á+&�

i) d�eTC²Ôá çXâDT\T         ii) ç|�Ü¹¿�|�D #ásÁ«\T

17. A) $<�T«ÔY ç|�eV¾²+#û r>·qT njáTkÍØ+Ôá ¹¿�çÔá+ýË �+ºÔû <���|Õ �\+ |��#ûd�Tï+<�� �sÁÖ|¾+#û

¿£�Ô�«�� $e]+#á+&�.

(ýñ<�)
B) �ÔásÁ ýËV�² \eD²\ ç<�eD²\ÔÃ ýËV�ä\T @ $<ó�+>± #ásÁ« H=+<�TÔ�jîÖ, ÿ¿£ ¿£�Ôá«+ <�Çs�

$e]+#á+&�.
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S.S.C. Public Examinations
General Science Paper - I (Physical Science)

(MODEL PAPER-III, ENGLISH VERSION)

Time: 2 Hours      Max Marks: 50

Instructions:
1. Question paper consists of 4 sections and 17 Questions.
2. Internal Choice is there only for Q.No.12 in Section –III and for all the Questions in Section –IV.
3. In the duration of 2 hours, 15 minutes of time is allotted to read the Question paper.
4. All answers should be written in the answer booklet only.
5. Answer should be written neatly and legibly.

SECTION - I  8×1=8M

Note: 1.   Anewer all the questions.
2.  Each question carries 1 Mark

1. Pose any one question to understand ‘rancidity’.

2. What is the common name of the compound CaOCl2?

3. Substance       A      B

Formula   CaOCl2 Na2CO3

Which is used for free of germs in drinking water?

4. What type of oxides are formed when non-metals combine with oxygen?

5. Write any one use of ethanoic acid/acetic acid.

6 Define Dispersion of light?

7. Draw the symbol of Plug key or switch

8. What is the SI unit of resistivity?

SECTION -II           3×2 =6M

Note: 1. Answer all the questions.

2. Each question Carries 2 marks

9. A hydrocarbon is combination of four carbons and ten hydrogens.
i) Write the formula of this hydrocarbon     ii) Write its name

10. If A, B are optical media of nearly same refractive indices, then what happens if light travel
from A to B?

11. Pose any two questions to understand the concept of resistance.
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SECTION-III            3×4=12M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks

12. Draw any one of the following diagrams:

 A) Draw the ray diagrams of image formed when the object is placed infront of a
bi-convex lens in the following positions.

a) Beyond 2F1                                  b) At F1

(OR)
B)  Draw the diagram of passing carbon dioxide gas through calcium hydroxide solution

when metal carbonates or metal hydrogen carbonates react with acids.

13. What are the applications of pH in daily life.

14. If radius of  curvature of the mirror is double times of the focal length, then complete the following
table

f (in cm) R (in cm)

  12

  24

   15

   20

SECTION-IV            3×8=24M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice:

15. A) Explain the following.
a) Scattering of light             b) Tyndall effect

          (OR)
B) Explain

i) Why is the tungsten used almost exclusively for filament of electric lamps?
ii) Why should we connect electric appliances in parallel in a household circuit? What

happens if they are connected in series?
16. A) Explain the following chemical reactions with example.

i) Chemical combination     ii) Chemical decomposition       iii) Chemical displacement
iv) Chemical double displacement

(OR)
B) How can ethanol and ethanoic acid be differentiated on the basis of their physical and

chemical properties?
17. A) Describe an activity to show the direction of magnetic lines produced by a current-

carrying conductor.
(OR)

B) Explain the experimental procedure to investigate the conditions under which iron rusts.
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S.S.C. Public Examinations
General Science Paper - I (Physical Science)

(MODEL PAPER-III, TELUGU VERSION)

Time: 2 Hours      Max Marks: 50

d�Ö#áq\T:
1. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 17 ç|�Xø�\T �+&�TqT.

2. IIIe $uó²>·+ýË� 12e ç|�Xø�Å£� eÖçÔáyûT eT]jáTT IV $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

3. 2 >·+³\ d�eTjáT+ýË, 15 �$TcÍ\ d�eTjáT+ ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

4. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - I 8×1=8eÖ

d�Ö#áq\T: 1.   n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ

1. eTT¿ìØbþe³eTTqT nsÁ�+ #ûd�T¿Ãe&��¿ì @yîÕH� ÿ¿£ ç|�Xø�qT ÔájáÖsÁT #ûjáT+&�.

2. CaOCl2d�yûT�Þøq+ jîTT¿£Ø kÍ<ó�sÁD �|sÁT @$T{ì?

3. |�<�sÁ�+       A      B

b�ÍsÁT�ý²   CaOCl2 Na2CO3

çÔ�>·Tú{ìýË� ç¿ìeTT\qT Ô=\Ð+#á&��¿ì @ |�<�s���� �|�jîÖÐkÍïsÁT?

4. �ýËV�ä\T �¿ìàÈH� ÔÃ d�+jîÖ>·+ #î+~ @ $<ó�yîT®q �Â¿Õà&�¢qT @sÁÎsÁTkÍïsTT?

5. nd¾{ì¿ù �eT¢eTT / �<̧�HÃsTT¿ù �eT¢+ jîTT¿£Ø @<îÕH� ÿ¿£ �|�jîÖ>±�� s�jáT+&�.

6 ¿±+Ü $¹¿�|�D+ nq>±Hû$T?

7. d¾Ç#Y Å£� ºV�²�eTTqT ̂ jáT+&�.

8. �sÃ<ó�¿£ÔáÅ£� SI |�<�ÆÜýË ç|�eÖD+ @$T{ì?

$uó²>·eTT -  II           3×2 =6eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

9. ÿ¿£ �VÕ²ç&Ã¿±sÁÒH� nHû~ H�\T>·T ¿±sÁÒH� eT]jáTT |�~ �VÕ²ç&ÃÈq¢ ¿£\sTT¿£ nsTTÔû

i) � �VÕ²ç&Ã¿±sÁÒH� b�ÍsÁT�ý² çy�jáT+&�.     ii) �|sÁT Ôî\|�+&�.

10. A, B nHû Âs+&�T <ó��¿ù jáÖq¿±\ eç¿¡uó�eq >·TD¿±\T <�<�|�Ú d�eÖqeTT nsTTÔû ¿±+Ü ¿ìsÁD+ jáÖq¿£+

A qT+&� B ¿ì ç|�jáÖDì�dï @eTeÚÔáT+~?

11. �sÃ<ó�+ nHû uó²eqqT nsÁ�+ #ûd�T¿Ãe&��¿ì @yîÕH� Âs+&�T ç|�Xø�\qT ÔájáÖsÁT #ûjáT+&�.
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$uó²>·eTT -  III            3×4=12eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

12. ç¿ì+~ |�{²\ýË ÿ¿£ <��� eÖçÔáyûT ^jáT+&�.

 A) � ¿ì+~ d�+<�s�ÒÛ\ýË Å£�+uó²¿±sÁ ¿£³¿£eTTÅ£� eTT+<�T �+ºq ed�TïeÚ e\q @sÁÎ&û ç|�Ü_+�

kÍ�H�\qT #áÖ�| ¿ìsÁD ºçÔ�\qT^jáT+&�

a) 2F1 ¿ì �e\                                 b) F1 e<�Ý

(ýñ<�)

B) ýËV�² ¿±sÃÒHû³T¢ ýñ<� ýËV�² �VÕ²ç&ÃÈH� ¿±sÃÒHû³T¢ �eÖ¢\ÔÃ #ásÁ« È]|¾q|�Ú&�T $&�T<�\jûT«

¿±sÁÒH� &�jáÖÂ¿Õà&� y�jáTTeÚqT ¿±*üjáT+ �VÕ²ç&�¿ùïà&� ç<�eD+ >·T+&� |�+|�Ú³qT #áÖ�| |�³+

^jáT+&�.

13. �Ôá«J$Ôá+ýË pH nqTesÁïH�\qT çy�jáT+&�.

14. <�sÁÎDeTT jîTT¿£Ø eç¿£Ôá y�«kÍsÁ�eTT <�� H�uó²«+Ôás��¿ì Âs{ì¼+|�Ú nsTTq³¢sTTÔû, ç¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

        f (�d+.MT.\ýË)   R (�d+.MT.\ýË)

  12

  24

   15

   20

$uó²>·eTT -  IV            3×8=24eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

15. A) ç¿ì+~ y�{ì� $e]+#á+&�

a) ¿±+Ü |�]¹¿�|�D+              b) {ì+&�ýÙ ç|�uó²e+

          (ýñ<�)
B) $e]+#á+&�

i) $<�T«ÔY �\TÒ\ |�¾\yîT+{Ù ¿=sÁÅ£� ç|�Ôû«¿£+>± ³+>·d�¼H� qT m+<�TÅ£� y�&�Ô�sÁT?

ii) >·�V�² d�+�+<ó� �|�¿£sÁD²\qT m+<�TÅ£� d�eÖ+ÔásÁ d�+<ó�q+ýË ¿£\|�eýÉqT? çXâDìýË ¿£*|¾Ôû

@eTeÚÔáT+~?

16. A) ç¿ì+~ sÁkÍjáTq#ásÁ«\qT ÿ¿£ �<�V�²sÁDÔÃ $e]+#á+&�

i) sÁkÍjáTq d�+jîÖ>·+     ii) sÁkÍjáTq $jîÖ>·+    iii) sÁkÍjáTq kÍ�qçuó�+Xø+   iv) sÁkÍjáTq <�Ç+<�Ç kÍ�qçuó�+Xø+

(ýñ<�)
B) uó�Ü¿£ eT]jáTT sÁkÍjáTq <ó�s��\ �<ó�sÁ+>± �<̧�HÃýÙ eT]jáTT �<̧�HÃsTT¿ù �eÖ¢\ eT<ó�« uóñ<�\qT

mý² >·T]ï+#áe#áTÌ?

17. A) $<�T«ÔY ç|�eV¾²+#û r>· #áT³Ö¼ njáTkÍØ+Ôá �\¹sK\T @sÁÎ&û ~XøqT d�Öº+#û ¿£�Ô�«�� $e]+#á+&�.

(ýñ<�)
B) �qTeTT ÔáT|�ÚÎ |�fñ¼ |�]d¾�ÔáT\qT |�]XË~ó+#á{²�¿ì ÿ¿£ ç|�jîÖ>±�� s�jáT+&�.
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S.S.C. Public Examinations
General Science Paper - II (Biological Science)

(MODEL PAPER-I, ENGLISH VERSION)

Time: 2 Hours      Max Marks: 50

Instructions:
1. Question paper consists of 4 sections and 17 Questions.
2. Internal Choice is there only for Q.No.12 in Section –III and for all the Questions in Section –IV.
3. In the duration of 2 hours, 15 minutes of time is allotted to read the Question paper.
4. All answers should be written in the answer booklet only.
5. Answer should be written neatly and legibly.

SECTION - I 6×1=6M

Note: 1.   Answer all the questions.
2.  Each question carries 1 Mark

1. Name the acid released in stomach?
2. Write a slogan on environmental protection.
3. Observe the given picture and write the dominant traits in the F1 generation.

4. Expand CFC.
5. What will happen if there are no variations in the organisms?
6 Read the paragraph and answer the following question.

ATP : ATP is the energy currency for most cellular processes. The energy released during the
process of respiration is used to make an ATP molecule from ADP and inorganic phosphate.

In which life process ADP converts into ATP?
SECTION -II           4×2 =8M

Note: 1. Answer all the questions.
2. Each question Carries 2 marks

7. What measures do you suggest to a patient suffering from diabetes to regulate blood
sugar levels?

8. If you have a chance to meet a nephrologist, what questions will you ask about the healthy
maintanance of  kidneys?

9. Read the passage and answer the given questions.
The amount of ozone in the atmosphere began to drop sharply in the 1980s. This decrease has
been linked to synthetic chemicals like chlorofluorocarbons (CFCs) which are used as refrigerants
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and in fire extinguishers. In 1987, the United Nations Environment Programme (UNEP) succeeded
in forging an agreement to freeze CFC production at 1986 levels. It is now mandatory for all the
manufacturing companies to make CFC-free refrigerators throughout the world.

i)  Name the gases that cause ozone depletion.
ii) Expand UNEP.

10. What will happen if we kill all the primary consumers in an ecosystem?

SECTION-III            5×4=20M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks

11. Write the differences between aerobic and anaerobic respiration.

12. A) Draw a neat labelled diagram of ‘Neuron’?

(OR)

B) Draw the diagram of the longitudinal section of a flower.

13. What precautions do you take to reduce the effects of non-biodegradable waste?

14. Write a brief account on contraceptive methods.

15. Observe the table and answer the following questions.

  Sl.No Digestive glands Digestive juice Enzymes
1 Salivary glands Saliva Salivary amylase
2 Gastric glands Gastric Juice Pepsin
3 Liver Bile juice No enzymes
4 Pancreas Pancreatic juice Trypsin

i) Name the enzyme secreted from gastric glands.
ii) What enzyme is secreted by the pancreas?
iii) Name the gland that releases digestive juice with no enzyme.
iv) Which digestive juice is secreted by salivary glands?

SECTION-IV            2×8=16M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice:

16. A) Write the experiment to show that chlorophyll is necessary for photosynthesis.

(OR)

B) Describe the procedure followed by you in your school laboratory to observe the spores
in bread moulds.

17. A) How does chemical coordination occur in plants?

(OR)

B) How is the sex of a child determined in Human beings?
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S.S.C. Public Examinations
General Science Paper - II (Biological Science)

(MODEL PAPER-I, TELUGU VERSION)

Time: 2 Hours      Max Marks: 50

d�Ö#áq\T:
1. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 17 ç|�Xø�\T �+&�TqT.

2. IIIe $uó²>·+ýË� 12e ç|�Xø�Å£� eÖçÔáyûT eT]jáTT IV $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

3. 2 >·+³\ d�eTjáT+ýË, 15 �$TcÍ\ d�eTjáT+ ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

4. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - I 6×1=6eÖ

d�Ö#áq\T: 1.   n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ

1. Js��XøjáT+ýË $&�T<�\jûT« �eT¢+ @~?

2. |�s�«esÁD |�]sÁ¿£�D �|Õ ÿ¿£ �H�<�eTTqT çy�jáT+&�

3. �eÇ�&�q |�³eTTqT |�]o*+º, n+<�* F1 ÔásÁ+ýË� �V¾²sÁZÔá \¿£�D+XøeTTqT >·T]ï+º çy�jáT+&�.

4. CFC qT $XøB¿£]+#á+&�

5. JeÚýË¢ yîÕ$<ó�«\T ýñ¿£bþÔû @eTeÚÔáT+~?

6 �eÇ�&�q �|s�qT #á~$, ç¿ì+~ ç|�Xø�Å£� d�eÖ<ó�qeTTqT çy�jáT+&�.

nHû¿£ ¿£D ç|�ç¿ìjáT\Å£� ATP mq¯̈ ¿£Âsúà>± �+³T+~. XæÇd�ç¿ìjáT ÈsÁT>·TÔáTq�|�ÚÎ&�T $&�T<�\ nsTTq

Xø¿ìï ADP eT]jáTT �¿£sÁÒq b�Í�dÎÛ{Ù qT+&� ATP nDTeÚ\ ÔájáÖ¯¿ì �|�jîÖ>·|�&�TÔáT+~.

@ Je ç¿ìjáTýË ADP, ATP >± eÖsÁTÔáT+~?

$uó²>·eTT - II         4×2 =8eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

7. eT<ó�TyûTV�² y�«~óÔÃ u²<ó� |�&�TÔáTq� e«¿ìï¿ì sÁ¿£ï+ ýË #á¿£ØsÁ kÍ�sTT\ �jáT+çÔáD ¿=sÁÅ£� rd�T¿Ãe\d¾q

C²ç>·Ôáï\qT >·Ö]Ì m³Te+{ì d�Ö#áq\T #ûkÍïeÚ?

8. eTÖçÔá|¾+&�\ y�«~ó �|�ÚDT&�� ¿£*�d ne¿±Xø+ ¿£*Ðq|�ÚÎ&�T úeÚ eTTçÔá|¾+&�\ �sÃ>·« |�]sÁ¿£�DqT >·Ö]Ì

@jûT ç|�Xø�\T n&�T>·TÔ�eÚ?

9. ç¿ì+~ �|s� qT #á~$, �eÇ�&�q ç|�Xø�\Å£� d�eÖ<ó�qeTT\qT çy�jáT+&�.

y�Ô�esÁD+ýË zCËH� |�]eÖD+ 1980\ýË u²>± ÔáÐZbþe&�+ çbÍsÁ+uó�yîT®+~. � Ôá>·TZ<�\ ¿Ã¢sÃ b�þ¢sÃ

¿±sÁÒH�à (CFC\T) e+{ì ¿£�çÜeT sÁkÍjáTH�\ y�&�¿£+ÔÃ eTT&�|�&� �+~, M{ì� oÔá©¿£sÁD jáT+çÔ�\ýË
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eT]jáTT eT+³\qT �¹sÎ jáT+çÔ�\ýË �|�jîÖÐkÍïsÁT. 1987  d�+ööýË, ×¿£«s�È« d�$TÜ |�s�«esÁD

¿±sÁ«ç¿£eT+ (UNEP), 1986 H�{ì kÍ�sTT\T e<�Ý CFC �ÔáÎÜï �\T|�Ú<�\ #û�d+<�TÅ£� d�+�+~ó+ºq ÿ|�Î+<�+

Å£�<�TsÁTÌ¿Ãe&�+ýË d�|��\yîT®q~. �|�ÚÎ&�T ç|�|�+#á y�«|�ï+>± �ÔáÎÜï d�+d��\Å£� CFC sÁV¾²Ôá oÔá©¿£sÁD jáT+çÔ�\T

ÔájáÖ¯, Ôá|�Î�d�] ��+<ó�q>± �q�~.

i) zCËH� bõsÁ ÔásÁT>·T<�\Å£� ¿±sÁD+ nsTTq y�jáTTeÚ\T @$?

ii) UNEP qT $XøB¿£]+#á+&�.

10. �esÁD e«ed��ýË� çbÍ<̧�$T¿£ $�jîÖ>·<�sÁT\��+{ì� #á+|¾Ôû @$T ÈsÁT>·TÔáT+~?

$uó²>·eTT - III            5×4=20eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

11. y�jáTTd�V¾²Ôá XæÇd� ç¿ìjáT, ny�jáTT XæÇd�ç¿ìjáT\ eT<ó�« uóñ<�\qT çy�jáT+&�.

12. A) »H�&� ¿£D+µ jîTT¿£Ø #á¿£Ø� |�³+ ̂ º uó²>±\T >·T]ï+#á+&�.

(ýñ<�)

B) |�Úw�Î+ �\TeÚ¿ÃÔá |�³eTTqT ̂ º, uó²>±\qT >·T]ï+#á+&�.

13. Je$ºÌq�+ ¿±� e«s�Æ\ e\q ¿£*¹> <�Tçw�Îuó²y�\qT ÔáÐZ+#á&��¿ì m³Te+{ì C²ç>·Ôáï\qT rd�TÅ£�+{²eÚ?

14. >·sÁÒÛ�sÃ<ó�¿£ |�<�ÆÔáT\ >·T]+º Å£�¢|�ï+>± s�jáT+&�.

15. |�{ì¼¿£ýË� d�eÖ#�sÁeTTqT |�]o*+º, ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�qeTT\qT çy�jáT+&�.

  ç¿£.d�+ JsÁ� ç>·+<ó�T\T JsÁ� sÁd�+ m+CÉÕeTT\T

1 ý²ý²È\ ç>·+<ó�T\T ý²ý²È\+ ý²ý²È\ nyîT®ýñCÙ

2 ÈsÄÁsÁç>·+<ó�T\T ÈsÄÁsÁsÁd�+ �||¾àH�

3 ¿±ýñjáT+ �|ÕÔá« sÁd�+ m+CÉÕeTT\T ýñeÚ

4 ¿Ã¢eT+ ¿Ã¢eTsÁd�+ ç{ì|¾àH�

i) ÈsÄÁsÁç>·+<ó�T\T çd�$+#û m+CÉÕy�T @$T{ì?

ii) ¿Ã¢eTç>·+~ó @ m+CÉÕeTTqT çd�$d�Tï+~?

iii) m+CÉÕy�T ýñ� JsÁ� sÁkÍ�� çd�$+#û ç>·+~ó @~?

iv) ý²ý²È\ ç>·+<ó�T\T @ JsÁ� sÁkÍ�� çd�$d�TïH��sTT?

$uó²>·eTT - IV            2×8=16eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

16. A) ¿ìsÁDÈq« d�+jîÖ>·ç¿ìjáTÅ£� |�çÔáV�²]Ôá+ ned�sÁeTT n� �sÁT|¾+#û, ç|�jîÖ>±�� çy�jáT+&�.

(ýñ<�)

B) s=fÉ¼eTT¿£Ø �|Õ �|]¹> �ÖE ýË� d¾<�Æ ;C²\qT |�]o*+#á&��¿ì MTsÁT nqTd�]+ºq $<ó�qeTTqT $e]+#á+&�.

17. A) yîTT¿£Ø\ýË sÁkÍjáTq d�eTqÇjáT+ mý² ÈsÁT>·TÔáT+~?

(ýñ<�)

B) eÖqeÚ\ýË *+>· �s�ÝsÁD mý² ÈsÁT>·TÔáT+~.
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S.S.C. Public Examinations
General Science Paper - II (Biological Science)

(MODEL PAPER-II, ENGLISH VERSION)

Time: 2 Hours      Max Marks: 50

Instructions:
1. Question paper consists of 4 sections and 17 Questions.
2. Internal Choice is there only for Q.No.12 in Section –III and for all the Questions in Section –IV.
3. In the duration of 2 hours, 15 minutes of time is allotted to read the Question paper.
4. All answers should be written in the answer booklet only.
5. Answer should be written neatly and legibly.

SECTION - I 6×1=6M

Note: 1.   Answer all the questions.
2.  Each question carries 1 Mark

1. Expand DNA.
2. What will happen if the sperm cell with Y chromosome fertilizes with an ovum?
3. What is the function of the structures given in the picture? Select your answer from the

following options?

A)  Absorption of moisture from the atmosphere
B) Exchange of gases

4. How do the cartilage rings surrounding the trachea help in respiration?
5. What is the genotypic ratio of the given table?

6 Suggest a method to minimise the non-biodegradable waste.
SECTION -II           4×2 =8M

Note: 1. Answer all the questions.
2. Each question Carries 2 marks

7. If you have a chance to meet a cardiologist? what questions will you ask about
cardiovascular diseases

8. What will be the consequences if iodine is deficient in our daily food for a long time?
9. Read the following lines and answer the question.

The length and complexity of food chains vary greatly. Each organism is generally eaten by two
or more other kinds of organisms which in turn are eaten by several other organisms. So instead
of a straight-line food chain, the relationship can be shown as a series of branching lines called
a food web.
What is a food web?

10. Write any two ways in which non-biodegradable substances would affect the environment.

KK   T  t
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SECTION-III            5×4=20M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks

11. Differentiate between the blood vessels that carry blood from the heart and to the heart.
12. A) Draw a labelled diagram showing the germination of pollen on the stigma and Fertilization

(OR)
B) Observe the given picture and answer the following questions.

 i)  Identify the parts A and B in the given picture.

 ii) What is the male reproductive organ in humans?

iii) Name the hormone produced by the testis.

iv) Name the sac in which Testis are located.

13. What precautions will you take to reduce ozone layer depletion?
14. Study the given information and answer the following questions.

TROPIC MOVEMENTS STIMULUS
Phototropism Light

Thigmotropism Touch

Chemotropism Chemical

Hydrotropism Water

Geotropism Gravitation
1) Name the movement occurs in plants towards light?
2) Which plant part shows positive phototropic activity?

(A) Stem    (B) Root   (C) Leaves
3) Tendrils grow towards the support. Which type of tropism is this?
4) Roots grow towards water resources. Which type of tropism is this?

15. Describe the structure of human excretory system in brief.

SECTION-IV            2×8=16M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice:
16. A) How do you demonstrate that carbon dioxide is necessary for photosynthesis?

(OR)
B) Write down the procedure you followed to prove phototropism in plants.

17. A) How does Mendel’s experiment show that traits are inherited independently?
(OR)

B) Describe various asexual modes of  reproduction in organisms.

A

B
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S.S.C. Public Examinations
General Science Paper - II (Biological Science)

(MODEL PAPER-II, TELUGU VERSION)

Time: 2 Hours      Max Marks: 50

d�Ö#áq\T:
1. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 17 ç|�Xø�\T �+&�TqT.

2. IIIe $uó²>·+ýË� 12e ç|�Xø�Å£� eÖçÔáyûT eT]jáTT IV $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

3. 2 >·+³\ d�eTjáT+ýË, 15 �$TcÍ\ d�eTjáT+ ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

4. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - I 6×1=6eÖ

d�Ö#áq\T: 1.   n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ

1. DNAqT $d�ï]+#á+&�.

2. Y ç¿ÃyîÖCËeTTqT ¿£*Ðq Xø�ç¿£¿£D+ n+&�+ÔÃ |��\B¿£sÁD #î+~qfÉ®¢nsTTÔû @$T ÈsÁT>·TÔáT+~?

3. ç¿ì+~ |�³+ýË �eÇ�&�q �s��D²\ $~ó @$T{ì?  MT d�eÖ<ó�H��� ç¿ì+~ ×ºÌÛ¿±\ qT+&� mqT�¿Ã+&�.

A) y�Ô�esÁD+ qT+&� ÔûeTqT ç>·V¾²+#á&�+

B) y�jáTTeÚ\ eÖ]Î&�

4. y�jáTT H�Þø+ýË� eT�<�Tý²d¾� �+>·s�\T XæÇd�ç¿ìjáTýË mý² d�V�äjáT|�&�Ô�sTT?

5. �eÇ�&�q |�{ì¼¿£ýË� ÈqT« sÁÖ|� �w�ÎÜï @$T{ì?

6 Je $ºÌÛq�+ #î+<�� e«s��\qT ÔáÐZ+#á&��¿ì ÿ¿£ |�<�ÆÜ� d�Öº+#á+&�.

$uó²>·eTT - II           4×2 =8eÖ

d�Ö#áq\T: 1.  n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

7. V�²�ç<Ã>· �|�ÚDT&�� ¿£*�| ne¿±Xø+ eºÌq³T¢ nsTTÔû, V�²�<�jáT d�+�+~óÔá sÃ>±\qT >·Ö]Ì �jáTqqT

@jûT ç|�Xø�\T n&�T>·TÔ�eÚ?

8. BsÁé¿±*¿£+>± eTq+ rd�TÅ£�Hû �V�äsÁ+ýË njîÖ&�H� ýË|¾+ºq³¢sTTÔû È]¹> |�]D²eÖ\T @$T{ì?

9. � y�¿±«\qT #á~$, n&�Ðq ç|�Xø�Å£� d�eÖ<ó�q+ çy�jáT+&�.

�V�äsÁ|�Ú >=\Td�T\ �s��DÔá eT]jáTT d�+¿ì¢w�¼Ôá #�ý² _óq�+>± �+{²sTT. ç|�Ü J$ kÍ<ó�sÁD+>± Âs+&�T ýñ<�

n+Ôá¿£H�� mÅ£�Øe $�jîÖ>·<�sÁT\Å£� �V�²sÁ+>· �|�jîÖ>·|�&�TÔáT+~. n$ Ü]Ð eT]¿=�� JeÚ\Å£� �V�äsÁ+

neÚÔáTH��sTT. � d�+�+<ó�\qT d�sÁÞø ¹sU²Ôá�¿£ �V�äsÁ >=\Td�T <�Çs� ¿±Å£�+&� �V�äsÁ C²\¿£+ nHû XæU²jáTTÔá

çXâDì sÁÖ|�+ýË #áÖ|�e#áTÌ.

�V�äsÁ C²\¿£+ n+fñ @$T{ì?

10. Je $ºÌÛq�+ ¿±� e«s�Æ\ e\q |�s�«esÁDeTT �|Õ |�&û ç|�uó²y�\qT Âs+&�+{ì� çy�jáT+&�.
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$uó²>·eTT - III            5×4=20eÖ

d�Ö#áq\T: 1.n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

11. V�²�<�jáÖ�¿ì sÁ¿±ï�� rd�TÅ£� yîÞâß eT]jáTT V�²�<�jáÖ�¿ì sÁ¿±ï�� rd�TÅ£�e#ûÌ sÁ¿£ïH�Þ²\ eT<ó�« uóñ<�\qT çy�jáT+&�.

12. A) ¿¡ý²ç>·+ �|Õ |�s�>· ¹sDTeÚ yîTT\Â¿ÔáTï³ eT]jáTT |��\B¿£sÁD²\qT #áÖ�| |�³eTTqT ̂ d¾ uó²>±\qT

>·T]ï+#á+&�.

(ýñ<�)

B) |�{²�� |�]o*+º ¿ì+~ ç|�Xø�\Å£� d�ÂsÕq d�eÖ<ó�H�\T çy�jáT+&�.

 i)  �eÇ�&�¦ |�³+ýË� A eT]jáTT B uó²>±\qT >·T]ï+#á+&�.

 ii) eÖqeÚ�ýË |�ÚsÁTw� ç|�ÔáT«ÔáÎÜï nejáTe+ @$T{ì?

iii) eTTcÍØ\T �ÔáÎÜï #û�d V�²sÃ�H� �|s=Øq+&�.

iv) eTTcÍØ\T �+&û ¿ÃXæ�� �|s=Øq+&�.

13. zCËH� bõsÁ ÔásÁT>·T<�\qT �jáT+çÜ+#û+<�TÅ£� úeÚ mý²+{ì C²ç>·Ôáï\T rd�TÅ£�+{²eÚ?

14. ç¿ì+~ d�eÖ#�sÁeTTqT #á~$ ç|�Xø�\Å£� d�eÖ<ó�qeTT*eÇ+&�.

nqTesÁïq #á\H�\T �BÝ|�q

¿±+Ü nqTesÁïq+ ¿±+Ü

d�Îs�ôqTesÁïq+ d�ÎsÁô

sÁkÍjáTH�qTesÁïq+ sÁkÍjáTq+

ú{ì nqTesÁïq+ úsÁT

>·TsÁTÔ�ÇqTesÁïq+ >·TsÁTÔ�Ç¿£sÁüD

1) yîTT¿£Ø\ýË ¿±+Ü yîÕ|�ÚÅ£� È]¹> #á\H��� �|s=Øq+&�.

2) yîTT¿£Ø\ýË� @ uó²>·+ <ó�H�Ôá�¿£ ¿±+Ü nqTesÁïq+qT #áÖ|�ÚÔáT+~.

(n) ¿±+&�+   (�) yûsÁT   (�) |�çÔ�\T

3) qT*r>·\T �<ó�sÁ+ yîÕ|�ÚÅ£� �|sÁT>·TÔ�sTT. �~ @ sÁ¿£yîT®q nqTesÁïq+?

4) yûsÁT¢ ú{ì eqsÁT yîÕ|�ÚqÅ£� �|sÁT>·TÔ�sTT. �~ @ sÁ¿£yîT®q nqTesÁïq+?

15. eÖqe $d�sÁ¿̈£ e«ed�� �s��DeTTqT Å£�¢|�ï+>± $e]+#á+&�.

$uó²>·eTT - IV            2×8=16eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

16. A) ¿ìsÁDÈq« d�+jîÖ>·ç¿ìjáTÅ£� ¿±sÁÒH�̀ &îÕ̀ �Â¿Õà&� ned�sÁ+ n� @ $<ó�+>± �sÁT|¾kÍïeÚ?

(ýñ<�)

B) yîTT¿£Ø\ýË ¿±+ÜnqTesÁïqeTTqT �sÁÖ|¾+#á&��¿ì MTsÁT bÍ{ì+ºq $<ó�qeTTqT çy�jáT+&�.

17. A) \¿£�D²+Xæ\T d�ÇÔá+çÔá+>± nqTe+¥¿£Ôá #î+<�TÔ�jáT� yîT+&�ýÙ ç|�jîÖ>±\T mý² �sÁÖ|¾+#�sTT?

(ýñ<�)

B) JeÚ\ýË $$<ó� nýÉÕ+Ð¿£ ç|�ÔáT«ÔáÎÜï $<ó�H�\qT $e]+#á+&�.

A

B
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S.S.C. Public Examinations
General Science Paper - II (Biological Science)

(MODEL PAPER-III, ENGLISH VERSION)

Time: 2 Hours      Max Marks: 50

Instructions:
1. Question paper consists of 4 sections and 17 Questions.
2. Internal Choice is there only for Q.No.12 in Section –III and for all the Questions in Section –IV.
3. In the duration of 2 hours, 15 minutes of time is allotted to read the Question paper.
4. All answers should be written in the answer booklet only.
5. Answer should be written neatly and legibly.

SECTION - I 6×1=6M

Note: 1.   Anewer all the questions.
2.  Each question carries 1 Mark

1. Name the raw materials necessary for photosynthesis.
2. Write a slogan to display on environmental day?
3. Observe the given picture and identify the phenotypic ratio of F2 generation.

4. What is meant by ‘Heredity’?
5. A man with blood group A marries a woman with blood group O and their daughter has blood

group O. Is this information enough to tell which trait is dominant?
6 What will happen if the pancreas does not secrete insulin?

SECTION -II           4×2 =8M
Note: 1. Answer all the questions.

2. Each question Carries 2 marks
7. What measures do you suggest to avoid Goitre?
8. What question will you ask your teacher to know more about ecosystem?
9. Read the paragraph and answer the following questions.

We know that the food we eat acts as a fuel to provide us energy to do work. Thus the
interactions among various components of the environment involves flow of energy from one
component of the system to another. As we have studied, the autotrophs capture the energy
present in sunlight and convert it into chemical energy. This energy supports all the activities of
the living world. From autotrophs, the energy goes to the heterotrophs and decomposers
i) What is the energy source in an ecosystem?
ii) Write the flow of energy in an ecosystem in the form of a flow chart.

10. What will happen if decomposers are absent in an ecosystem?
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SECTION-III            5×4=20M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks

11. Write the differences between autotrophic and heterotrophic nutrition.

12. A) Observe the diagram and answer the following questions

i) Identify the parts A & B.

ii) Which gland secretes growth hormone?

iii) Where is the thyroid gland located?

(OR)

B) Draw the diagram of female reproductive system and label the parts.

13. Write slogans to aware people about organ donation?
14. What are the problems created by Ozone depletion in an ecosystem?
15. Observe the flow chart and answer the following questions.

i) In which organelles does pyruvate break down into carbon dioxide and water?
ii) Where does glucose break down into pyruvate?
iii) What are the end products of aerobic respiration?
iv) In which cells of humans, lactic acid is formed by anaerobic respiration?

A

B
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SECTION-IV            2×8=16M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice:

16. A) Observe the diagram and answer the following questions.

i) What is the aim of this experiment?
ii) Why do we keep KOH in one of the bell jars?
iii) What is the chemical used to test the presence of starch?
iv) What is the purpose of keeping the plants in a dark room before the experiment?

(OR)
B) Describe the procedure followed by you to observe budding in yeast.

17. A) How does phototropism occur in plants?
(OR)

B) How does Mendel explain the dominant and recessive traits with experiment?
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S.S.C. Public Examinations
General Science Paper - II (Biological Science)

(MODEL PAPER-III, TELUGU VERSION)

Time: 2 Hours      Max Marks: 50

d�Ö#áq\T:
1. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 17 ç|�Xø�\T �+&�TqT.

2. IIIe $uó²>·+ýË� 12e ç|�Xø�Å£� eÖçÔáyûT eT]jáTT IV $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

3. 2 >·+³\ d�eTjáT+ýË, 15 �$TcÍ\ d�eTjáT+ ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

4. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - I 6×1=6eÖ

d�Ö#áq\T: 1.  n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ

1. |�s�«esÁD ~HÃÔáàe+ sÃEq ç|�<�]ô+#á&��¿ì ÿ¿£ �H�<�+ s�jáT+&�?

2. e«s��\ �sÁÇV�²D�|Õ ÿ¿£ �H�<�+ s�jáT+&�.

3. |�³eTTqT |�]o*+º, F2 ÔásÁeTT jîTT¿£Ø <��Xø«sÁÖ|� �w�ÎÜï� çy�jáT+&�.

4. »nqTe+¥¿£Ôá » n+fñ @$T{ì?

5. A sÁ¿£ïesÁZ+ �q� |�ÚsÁTw�§&�T O sÁ¿£ïesÁZ+ �q� çdÓï� $y�V�²+ #ûd�T¿Ã>± y�]¿ì |�Ú{ì¼q Å£�eÖÂsï O sÁ¿£ïes�Z��

¿£*Ð�+~. @~ �V¾²sÁZÔá \¿£�D+ n� #î|�Î&��¿ì � d�eÖ#�sÁ+ d�]bþÔáT+<�?

6 ¿Ã¢eT+ �qTà*qT� çd�$+#á¿£bþÔû @$T ÈsÁT>·TÔáT+~?

$uó²>·eTT - II    4×2 =8eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

7. >±sTT³sY y�«~ó �y�sÁDÅ£� úyû$T C²ç>·Ôáï\qT d�ÖºkÍïeÚ?

8. �esÁD e«ed�� >·T]+º eT]+Ôá Ôî\Td�T¿Ãe&�+ ¿=sÁÅ£� MTsÁT MT �bÍ<ó�«jáTT� @ ç|�Xø�\T n&�T>·TÔ�sÁT?

9. ç¿ì+~ �|s�qT #á~$, ç|�Xø�\Å£� d�eÖ<ó�qeTT\�eÇ+&�.

eTq+ ÜHû �V�äsÁ+ eTqÅ£� Xø¿ìï� n+~+º, |�� #ûjáT&��¿ì �+<ó�q+>± �|�jîÖ>·|�&�TÔáT+<�� eTqÅ£�

Ôî\Td�T. |�s�«esÁD+ýË� $$<ó� n+Xæ\ eT<ó�« È]¹> |�sÁd�ÎsÁ #ásÁ«\T, e«ed��ýË� ÿ¿£ n+Xø+ qT+&� eTs=¿£

n+Xæ�¿ì Xø¿ìï ç|�y�V�ä�� ¿£*Ð �+{²sTT. eTq+ n<ó�«jáTq+ #ûd¾q³T¢>±, d�ÇjáT+bþw�¿±\T d�ÖsÁ«¿±+ÜýË�

Xø¿ìï� d�+ç>·V¾²+º <��� sÁkÍjáTq Xø¿ìï>± eÖsÁTkÍïsTT. � Xø¿ìï Je ç|�|�+#á+ jîTT¿£Ø n�� ¿±sÁ«¿£ý²bÍ\Å£�

�|�¿£]d�Tï+~. � Xø¿ìï d�ÇjáT+ bþw�¿±\ qT+&� |�sÁbþw�¿±\Å£� eT]jáTT $ºÌÛq�¿±sÁT\TÅ£� �~© neÚÔáT+~.

i) ÿ¿£ �esÁD e«ed��Å£� ç|�<ó�q Xø¿ìï eqsÁT @$T{ì?

ii) ÿ¿£ �esÁD e«ed�� ýË� Xø¿ìï ç|�y�V�²eTTqT b�þ¢#�sY¼ sÁÖ|�+ýË çy�jáT+&�.

10. ÿ¿£ �esÁD e«ed��ýË $ºÌq�¿±sÁT\T ýñ¿£bþsTTqfÉ®¢sTTÔû @$T ÈsÁT>·TÔáT+~?
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$uó²>·eTT - III            5×4=20eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

11. d�ÇjáT+ bþw�D eT]jáTT |�sÁbþw�D\ eT<ó�« uñ<ó�\qT çy�jáT+&�.

12. A) |�³eTTqT |�]o*+º, ç|�Xø�\Å£� d�eÖ<ó�qeTT\T �eÇ+&�.

i) A eT]jáTT B \qT >·T]ï+#á+&�.

ii) @ ç>·+~ó �|sÁT>·T<�\ V�äsÃ�H�qT çd�$d�Tï+~?

iii) <î̧Õs�sTT&� ç>·+~ó �q� ç|�<ûXø+ @$T{ì?

(ýñ<�)

B) çdÓï ç|�ÔáT«ÔáÎÜï e«ed�� |�³eTTqT ^d¾, uó²>±\qT >·T]ï+#á+&�.

13. nejáTe<�q+�|Õ ç|�È\Å£� ne>±V�²q ¿£*Î+#û+<�TÅ£� �H�<�\T s�jáT+&�?

14. zCËH� bõsÁ ÔásÁT>·T<�\ ¿±sÁD+>± ¿£*¹> |�]D²eÖ\qT çy�jáT+&�.

15. �eÇ�&�q b�þ¢#�sÁT¼ ýË� d�eÖ#�sÁeTTqT |�]o*+º, ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�qeTT\T çy�jáT+&�.

i) @ ¿£D²+>±\ýË �|ÕsÁÖyû{Ù, ¿±sÁÒH� &�jáÖÂ¿Õà&� eT]jáTT úsÁT>± $ºÌÛq�+ neÚÔáT+~?

ii) >·Ö¢¿ÃCÙ, �|ÕsÁÖyû{Ù>± m¿£Ø&� $ºÌq�+ neÚÔáT+~?

iii) y�jáTTd�V¾²Ôá XæÇd�ç¿ìjáT jîTT¿£Ø n+Ôá«�ÔáÎH��\T @$T{ì?

iv) eTq Xø̄ sÁ+ýË� @ ¿£D²\ýË ny�jáTT XæÇd�ç¿ìjáT È]Ð ý²¿ì¼¿ù �eT¢+ �ÔáÎÜï neÚÔáT+~?

A

B
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$uó²>·eTT - IV            2×8=16eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

16. A) |�{²�� |�]o*+º ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T çy�jáT+&�.

i) � ç|�jîÖ>·+ jîTT¿£Ø �<ûÝXø«+ @$T{ì?

ii) ÿ¿£ >·+³ C²&�ýË KOH m+<�TÅ£� �+#áTÔ�eTT?

iii) |¾+&�|�<�sÁÆ+ ��¿ì� |�̄ ¿ì�+#á&��¿ì �|�jîÖÐ+#û sÁkÍjáTq+ @$T{ì?

iv) ç|�jîÖ>±�¿ì eTT+<�T yîTT¿£Ø\qT N¿£{ì >·~ýË m+<�TÅ£� �+#�*?

(ýñ<�)

B) �dt¼ ýË yîTT>·Z Ô=&�>·&��� >·eT�+#á&��¿ì MTsÁT nqTd�]+ºq $<ó�H��� $e]+#á+&�.

17. A) yîTT¿£Ø\ýË ¿±+Ü nqTesÁïq+ mý² ÈsÁT>·TÔáT+~?

(ýñ<�)

B) yîT+&�ýÙ �V¾²sÁZÔá eT]jáTT n+ÔásÁZÔá \¿£�D+Xæ\qT Ôáq ç|�jîÖ>±\ <�Çs� mý² $e]+#�sÁT?
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S.S.C. Public Examinations
Model Paper - I    SOCIAL STUDIES

(ENGLISH VERSION)

Time: 3 Hours 15 Minus.      Max Marks: 100

Instructions:
1. In the duration of 3 hours 15 minutes. 15 minutes of time is allotted to to read the question paper.
2. All answers shall be written in the answer booklet only.
3. Question paper consists of 4 sections and 33 questions.
4. Internal choice is available in section IV only.
5. All answer shall be written neatly and legibly.

SECTION - I 12×1=12M

Note: 1.   Answer all the questions.
2.  Each question carries I Mark

1. Where was the First International Earth Summit held?

2. Which erosion does the given image show?

3. Which of the following is not related to agrobased industries?

(a) sugar      (b). Rubber  ( c ) Cement (d) Coffee.

4. Who hosted the Congress of Vienna In 1815?

5. Expand IMF ?

6 What is “El Dorado” in South America famous for?

7. Agriculture: State List :: Marriage :................................

8. Who Presides over the Meetings of a Municipal Corporation?

9. Give two examples for National parties.

10. What is percapita income?

11. Find out the mismatched pair.

(a) Tata Motors -   Auto-Mobiles
(b) Ran Baxy.   -   IT
(c) Asian Paints-  Paints

12. Arrange the states from the North to south.

Andhra Pradesh,  Kerala ,  West Bengal , Haryana.
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SECTION -II           8×2=16M

Note: 1. Answer all the questions.

2. Each question Carries 2 marks.

13. What are the Agro-Based Industries? Give an example.

14. Write the merits of the road ways.

15. Observe the given map and answer the following questions.

1. Which Sea separates Asia from Afria?

2. Name any two ports on the west coast of India?

16. “Printing Press played a major role in shaping the Indian Society of the 19th Century’
Comment on it.

17. A few subjects in various parts of the Indian Constitution are lists are given here, Group them
under the Union, state and Concurrent lists below. as provide in the table.

(a) Defence (b) Police (c)Agriculture (d) Education (e) Forests
(f) Communications. (g) Banking (h) Marriage (I) Trade

State List :

Central :

Con Current List :

18. Mention any two Constitutional Provisions that make India Secular State.

19. What do you understand by Globalisation? Explain in your own Words?

20. Prepare any two Slogans to alert Consumers.

Surat

Goa
Madras

Masulipatam

Hoogly

Bangkok

Hanoi

Canton

Mal-
acca

Batavia
Bantam

Acheh

Muscat

Bandar Abbas

Basra

Aleppo

Alexandria

Jedda

Macha

Lahore

Bukhara
Yarkand The Great W

all

Mombasa

Mozambique

Sea route
Land route
Volume of trade passing through the port

Red Sea

Persian Gulf

Indian Ocean
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SECTION-III           8×4=32M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks

21. How have Flora and Human activities affect the depletion of  Fauna Explain?

22. Why do we need to conserve mineral resources?

23 Read the following map and answer the questions given below.

1) Write any two African countries that share their boundaries with mediterranean sea.
2) Name any two Empires on the given map?

24. Why did industrial production in India increase during the First World War?

ICELAND
(DENMARK)

NORWAY
(SWEDEN)

SWEDEN

DENMARK

HABOVER
(G.B.)

NETHERLANDS
ENGLAND

WALES

IRELAND GREAT
BRITAIN

SCOTLAND

FRANCE

SPAIN

PO
RT

UG
AL

MOROCCO
ALGERIA

TUNIS

EGYPT

PALESTINE

SYRIA
CYPRUS

MESOPOTAMIA

ARMENIA
OTTOMAN EMPIRE

CRETE

GREECE

BULGARIA

ROMANIA

SERBIA

HUNGARY

AUSTRIAN EMPIRE
AUSTRIA

GALICIA
BAVARIA

SWITZERLAND

PRUSSIA

POLAND

RUSSIAN EMPIRE

SARDINIA

CORSICA

SMALL
STATES

KINGDOM
OF  THE

TWO
SICILIES

GEORGIA

PER
SIA

MEDITERRANEAN SEA

ATLANTIC  SEA
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25. Observe the given Bar Graph.

Critically analyse your observations [any four observations]

26. How does democracy produce an accountable, responsive and legitimate government?

27 List a few examples of environmental degradation that you may have observed around you.

28. Critically examine the progress of Consumer Movements in India?

SECTION-IV           5×8=40M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice.

4. In question no: 33 both A and B (India Map and world Map) should be answered
    seperately.

29. A) Compare the advantages and disadvantages of Multi-Purpose river projects.

(or )
B) Enlist the various institutional reform programmes introduced by the government in the

interest of farmers?

30. A) “The Salt March to make clear way it was an effective Symbol of resistance against
colonialism.” Comment on it

(or )
B) Some people feared that development of print could lead to the growth of dissenting

ideas.” Comment.
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31. A) Convert the Bargraph into tabular form and write your comments, What you observe.

(OR)
(B) Analyse the following pie graph.

32. A) Evaluate the power sharing System in India?
(OR)

B) Describe the functions of Political Parties?
33. A) Locate the following in the given outline map of India.

1) Narmada River  2) Gujarat 3) Paradwip 4) Tamil Nadu
(OR)

5) Kolkata 6) Mahanadi River  7) Bay of Bengal 8) Deccan Plateau
(B) Locate the following in the given outline map of world.

1) China 2) Japan 3) France 4) Mediterranean Sea
(OR)

5) Egypt 6) Black Sea 7) Sicily 8) Britain
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S.S.C. Public Examinations
Model Paper - I   SOCIAL STUDIES

(TELUGU VERSION)

Time: 3 Hours 15 Minus.      Max Marks: 100

d�Ö#áq\T:
1. 3 >·+³\ 15 �$TcÍ\ýË, 15 �$TcÍ\T ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

2. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

3. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 33 ç|�Xø�\T �+&�TqT.

4. H�\T>·e $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - I 12×1=12eÖ

d�Ö#áq\T: 1.   n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ

1. yîTT<�{ì n+Ôás�̈rjáT <ó�]çr ¥Ks�ç>· d�eÖyûXø+ m¿£Ø&� È]Ð+~?

2. � ç¿ì+<� �eÇ �&�q ºçÔáeTT @ ç¿£eT¿£�jáÖ�� Ôî*jáT Cñd�Tï+~?

3. e«ekÍjáT �<ó�]Ôá |�]çXøeTÅ£� #î+<�� <��� >·T]ï+#á+&�.

(m) |�+#á<�sÁ  (_) sÁ�ÒsÁT  (d¾) d¾yîT+{Ù ( &�) ¿±|�Ó

4. 1815 $jáTH�� ¿±+çÂ>dt Å£� ¿£úÇqsY >± e«eV�²]+ºq~ mesÁT?

5. IMF qT $d�ï]+#áTeTT.?

6 »»mýÙ &= Âs&Ãµµ <û�¿ì ç|�d¾~Æ?

7. e«ekÍjáT+ : s�h C²_Ô� :: $y�V�²eTT :................................

8. q>·sÁ bÍ\¿£ d�+d�� d�eÖyûXæ\Å£� mesÁT n<ó�«¿£�Ôá eV¾²kÍïsÁT?

9. C²rjáTbÍ ¼̄\Å£� Âs+&�T �<�V�²sÁD*eÇ+&�.

10. Ôá\d�] �<�jáT+ nq>±Hû$T?

11. d�]>± ÈÔá|�sÁ#á� <��� >·T]ï+#á+&�.

(a) {²{² yîÖ{²sYà ̀  �{ËyîTTuÉÕýÙà

(b) s�«H�u²¿¡à ̀  ×.{ì.

(c) @w¾jáTH� �|sTT+{Ùà ̀  sÁ+>·T\T

12. �eÇ�&�q s�heTT\qT �ÔáïsÁeTT qT+&� <�¿ì�D²�¿ì neTsÁÌ+&�.

�+ç<ó�ç|�<ûXÙ, ¹¿sÁÞø, |�¥ÌeT uÉ+>±ýÙ, V�²s�«H�
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$uó²>·eTT - II 8×2=16eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

13. e«ekÍjáÖ<ó�]Ôá |�]çXøeT\T nq>±Hû$T? ÿ¿£ �<�V�²sÁD �eÇ+&�.

14. sÃ&�T¦ eÖs�Z\ ç|�jîÖÈH�\qT Ôî\|�+&�.

15. �e«�&�q |�{²�� |�]o*+º, ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1. �d¾jáÖ, �ç|�¾¿± K+&�eTT\qT yûsÁT#ûjáTT#áTq� d�eTTç<�eTT �|¹s$T{ì?

2. uó²sÁÔá<ûXø+ |�¥ÌeT rsÁ+ýË �q� @yîÕH� 2 z&�¹seÚ\T �|s=Øq+&�?

16. »»n#áTÌ jáT+çÔá+ 19e XøÔ��Æ+ýË� uó²sÁrjáT d�eÖC²�¿ì ÿ¿£ sÁÖ|�eTTqT �#áTÌ³ýË ç|�<ó�qbÍçÔá

bþw¾+ºq~.µµ y�«U²«�+#á+&�.

17. uó²sÁÔá s�C²«+>·+ýË� $$<ó� C²_Ô�\ýË ¿=�� n+Xæ\T �¿£Ø&� �eÇ�&�¦sTT. M{ì� ¹¿+ç<�, s�h, �eT�&�

C²_Ô�\T>± neTsÁÌ+&�.

m) sÁ¿£�D _) bþ©d�T d¾) e«ekÍjáT+

&�) $<�« �) n&�eÚ\T m|�t) d�eÖ#�sÁ+

�) u²«+¿ì+>́ �V²#Y) $y�V�²+ ×) y�«bÍsÁ+

18. uó²sÁÔá<ûXæ�� ý�¿ì¿£ s�È«+>± #û�d @yîÕH� 2 s�C²«+>· ��+<ó�q\qT �|s=Øq+&�.

19. ç|�|�+N¿£sÁD n+fñ úeÚ @$T nsÁÆ+ #ûd�TÅ£�H��eÚ? ú kõ+Ôá eÖ³ýË¢ $e]+#á+&�.

20. $�jîÖ>·<�sÁT\qT C²>·�Ôá+ #û�d $<ó�+>± @yîÕH� 2 �H�<�\qT ÔájáÖsÁT #ûjáT+&�.

d�ÖsÁÔY

>Ãy�

eTç<�dt

eTd�T©|�³�+

V�Q ¢̂

u²«+¿±¿ù

V�²HÃsTT

¿±+³H�

yîTTý²¿Ã

�{²$jáÖ
u²+³+

mUÉ

eTd�Ø{Ù

�+<�sY nu²Òdt

�çkÍ

nýÉbþÎ

nýÉ>±̈+ç&�jáÖ

CÉ&�¦

eT#á

ý²�VAsY

�TU²s�

jáÖsÁØ+&� <� ç¹>{Ù y
�ý

Ù

eÖ+u²kÍ

yîTTC²+_¿ù

d�eTTç<� eÖsÁZ+
uó �ÖeÖsÁZ+
z&�¹seÚ <�Çs� ÈsÁT>·TÔáTq� esÁï¿£ |�]eÖD+

m
çs
Ád
�e
TTç<

�+

|�]üj
áTH� >·ýÙÎÛ

V¾²+<�Ö

eTV�äd�eTTç<�+
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$uó²>·eTT - III            8×4=32eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

21. eÖqe ¿±sÁ«¿£ý²bÍ\T e�¿£� eT]jáTT È+ÔáT C²ý²\ ¿¡�DÔáqT mý² ç|�uó²$Ôá+ #ûXæsTT? $e]+#á+&�.

22. eTq+ K�È eqsÁT\qT m+<�TÅ£� d�+sÁ¿ì�+#áT¿Ãy�*?

23 �eÇ�&�q |�{²�� |�]o*+º, ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1) eT<ó�«<ó�s� d�eTTç<�+ÔÃ d�]V�²<�TÝ\T |�+#áT¿=+³Tq� @yîÕH� Âs+&�T <ûXæ\ �|sÁ¢qT Ôî\|�+&�.

2) �eÇ�&�q |�³+ýË� @yîÕH� 2 kÍçeÖC²«\ �|sÁT¢ s�jáT+&�.

24. yîTT<�{ì ç|�|�+#á jáTT<�Æ d�eTjáT+ýË uó²sÁÔá<ûXø+ýË bÍ]çXæ$T¿£ �ÔáÎÜï m+<�TÅ£� �|]Ð+~?

×dtý²+&� (&îH��sYØ)

H�¹sÇ

(dÓÇ&�H�)

dÓÇ&�H�

&îH��sYØ

V�äuËesY

(�_)

Hî<�s�¢+&�à

�+>±¢+&�

yûýÙà

×s�¢+&� ç¹>{Ù ç_³H�

 kÍØ{²¢+&�

çb�ÍH�à

�dÎsTTH�

b
þs

ÁTÌ
>
·ý
Ù

yîTTs�¿Ã
n©]̈jáÖ

³Ö�dt

��|�Ú¼

bÍ\dÓïH�

d¾]jáÖ
�dÕç�|dt

+

n¹s��jáÖz{Ë¼eÖH� kÍçeÖÈ«+

ç¿¡{Ù

ç^dt

�ýñZ]jáÖ

sÁTyûT�jáÖ
�d]ÒjáÖ

V�²+¹>]

�çd¾¼jáTH� kÍçeÖÈ«+

�çd¾¼jáÖ

Â>©d¾jáÖ
�yû]jáÖ

d¾&�̈s�¢+&�

ç|�cÍ«

bþýÉ+&�

sÁw�«H� kÍçeÖÈ«+

kÍ ¦̄�jáÖ

¿Ã]à¿±

ºq�

s�çcÍ¼\T
Âs+&�T

d¾d¾©\

s�È«+

C²]̈jáÖ

|
�]
üj

áÖ

eT<ó�«<�s� d�eTTç<�+

n{²¢+{ì¿ù d�eTTç<�+

yîTd�|�{Ë$TjáÖ
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25. �eÇ�&�q u²sYç>±|�t qT |�]o*+#á+&�.

úeÚ >·eT�+ºq @yîÕH� 4 n+Xæ\qT $eTsÁôH�Ôá�¿£+>± $Xâ¢w¾+#áTeTT.

26. ç|�C²kÍÇeT«+ Èy��T<�¯, u²<ó�«Ô�jáTTÔáyîT®q, #á³¼�<�ÆyîT®q ç|�uó�TÔ�Ç�� mý² @s�Î³T#ûd�Tï+~?

27 MT #áT³T¼ç|�¿£Ø\ MTsÁT >·eT�+ºq |�s�«esÁD ¿¡�DÔá >·T]+º ¿=�� �<�V�²sÁD\T �eÇ+&�.

28. uó²sÁÔá<ûXø+ýË� $�jîÖ>·<�sÁT\ �<�«eT ç|�>·Ü� $eTsÁôH�Ôá�¿£+>± �|s=Øq+&�?

$uó²>·eTT - IV            5×8=40eÖ

d�Ö#áq\T: 1.n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

4. ç|�Xø� Hî+. 33 ýË uó²sÁÔá<ûXø eT]jáTT ç|�|�+#á |�³eTT\Å£� yûsÁTyûsÁT>± Èy��T\T >·T]ï+#áTeTT.

29. A) �V�QÞ²sÁ� kÍ<ó�¿£ qB |�<¸�¿±\ jîTT¿£Ø nqTÅ£L\Ôá\T eT]jáTT ç|�ÜÅ£L\Ôá\qT bþ\Ì+&�.

(ýñ<�)

B) ÂsÕÔáT\ ç|�jîÖÈH�\ ¿Ãd�+ ç|�uó�TÔáÇ+ ç|�yûXø�|{ì¼q $$<ó� d�+kÍ�>·Ôá d�+d�ØsÁD\ C²_Ô� ÔájáÖsÁT

#ûjáT+&�.

30. A) »»�|�ðjáÖçÔá e\d� y�<��� ç|�Ü|��T{ì+#á&��¿ì ç|�uó²ee+ÔáyîT®q d�+¹¿Ôá+.µµ y�«U²«�+#á+&�.

(ýñ<�)

B) »»eTTç<�D jîTT¿£Ø n_óe�~Æ _óH��_óçbÍjáÖ\ �|sÁT>·T<�\Å£� <�]rd�Tï+<�� ¿=+<�sÁT uó�jáT|�&�TÔáTH��sÁT.µµ

y�«U²«�+#á+&�.
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31. A) � u²sYç>±|�t qT |�{ì¼¿£ sÁÖ|�+ýË¿ì eÖsÁÌ+&�. úeÚ |�]o*+ºq n+Xæ\qT y�«U²«�+#á+&�.

(ýñ<�)

(B) �eÇ�&�q »�|Õµ ºçÔáeTTqT $Xâ¢w¾+#á+&�.

32. A) uó²sÁÔá<ûXø+ýË� n~ó¿±sÁ $uó�Èq $<ó�H��� eTÖ\«+¿£q+ #ûjáT+&�?

(ýñ<�)

B) s�È¿¡jáT bÍ ¼̄\T �sÁÇV¾²+#û @yîÕH� 5 sÁ¿±\ $<ó�T\qT $e]+#á+&�?

33. A) � ç¿ì+~ y�{ì� �eÇ�&�q uó²sÁÔá<ûXø neÚ{Ù ýÉÕH� |�³+ýË >·T]ï+#á+&�.

1) qsÁ�<� q~ 2) >·TÈs�ÔY 3) bÍs�BÇ|t 4) Ôá$TÞøH�&�T

(ýñ<�)

5) ¿ÃýÙ¿£³ 6) eTV�äq~ 7) �+>±Þ²U²Ôá+ 8) <�¿£ØH� |ÓsÄÁuó�Ö$T

(B) � ç¿ì+~ y�{ì� �eÇ�&�q ç|�|�+#á |�³+ýË >·T]ï+#á+&�.

1) #îÕH� 2) ÈbÍH� 3) çb�ÍH�à 4) eT<ó�«<ó�s� d�eTTç<�+

(ýñ<�)

5) ��|�Ú¼ 6) q\¢ d�eTTç<�+ 7) d¾d¾© 8) ç_³H�
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S.S.C. Public Examinations
Model Paper - II     SOCIAL STUDIES

(ENGLISH VERSION)

Time: 3 Hours 15 Minus.      Max Marks: 100

Instructions:
1. In the duration of 3 hours 15 minutes. 15 minutes of time is allotted to to read the question paper.
2. All answers shall be written in the answer booklet only.
3. Question paper consists of 4 sections and 33 questions.
4. Internal choice is available in section IV only.
5. All answer shall be written neatly and legibly.

SECTION - I 12x1=12M

Note: 1.   Answer all the questions.
2.  Each question carries 1 Mark.

1. Metals : Recyclable : : Fossil fuels :  ___________.

2. Who wrote the book “small is beautiful”?

3. From which raw material is Aluminium extracted?

4. Find out the mismatched pair from the following.
Frederic sorrieu - Artist
Earnest Renan - philosopher
Andreas Rebmann - Historian
Friedrich list - professor of economics

5. Who was the founder of ‘Young Italy’?

6 Arrange the following in the correct chronological order.
i) The first world war
ii) Potato famine in Ireland
iii) The Great Depression
iv) Rinderpest or cattle plague in Africa

7. What is the coalition government?

8. Which of the following countries is an example for “holding together” federation?
a) USA b)  Australia c) Switzerland d) India

9. Define a multi party system.

10. A good way to measure the quality of life in countries across the world is  comparing  by _____.

11. Show on Bar graph. Chinese toys - 70%, Other toys - 30%.

12. Arrange the following countries from east to west  according to their location.

India, USA, Japan, Egypt
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SECTION -II           8x2M =16M

Note: 1. Answer all the questions.

2. Each question Carries 2 marks.

13. Define and give an example for a mineral based industry?

14. Observe the given map and answer the following questions.

1.  Where is Indira Gandhi international airport located?
2.  Which international airport is located in Kolkata?

15. Explain the importance of silk routes.

16. Explain the effects of the great depression of 1929 on the Indian economy.

17. Give examples for Central list and State list.

18. Mention any two constitutional provisions that make India a secular state.

19. What is the impact of globlization on India.

20. Write two slogans on consumer rights.

SECTION-III            8x4M=32M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks.

21. Write a note on good practice towards  conservation of forest and wildlife?

22. Why do you think that solar energy has a bright future in India?

23 Observe the given map and answer the following questions.
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1.  Who was the architect of unification of Germany?
2.  Write two names of seas you have observed in the map?
3.  Write the name of the empire which is on the south of the map?
4.  Who was the first emperor of the German Empire?

24. How did East India company procure regular supply of cotton and silk textiles from Indian
weavers?

25. Analyse the graph.

NORTH SEA
SCHLESWIG-

HOLSTEIN

MECKLENBURG-
SCHWERIN

THURINGIAN
STATES

HANOVER

WESTPHALIA

HESSEN  N
ASSA

RHINELAND

BRUNSWICK

BAVARIABA
D

EN

W
URTTE

MBERG
AUSTRIAN

EMPIRE

SILESIA

POSEN

BRANDENBURG

POMERANIA
WEST PRUSSIA

EAST PRUSSIA

BALTIC SEA

PR USS I A

RUSSIAN
EMPIRE

Prussia before 1866
Conquered by Prussia in Austro-Prussia
War, 1866
Austrian territories excluded from German
Confederation 1867
Joined with Prussia to form German
Confederation, 1867
South German states joining with Prussia to
form German Empire, 1871
Won by Prussia in Franco-Prussia War, 1871
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26. Appreciate democratic government is better than all other forms of governments right.

27 Why do we use averages?  Are there any illustrations to their use?  Iillustrate with your own
examples related to development.

28. Explain how the consumers are exploited?

SECTION-IV            5x8M=40M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice.

4. In question no: 33 both A and B (India Map and world Map) should be answered
    seperately.

29. A) Explain how water becomes a renewable resource
(OR)

B) Explain the importance of Agriculture in India.

30. A) Read the paragraph and comment on it.

‘To the altar of this revolution we have brought our youth as incense’

Many nationalists thought that the struggle against the British could not be won through
non-violence. In 1928, the Hindustan Socialist Republican Army (HSRA) was founded at
a meeting in Ferozeshah Kotla ground in Delhi. Amongst its leaders were Bhagat Singh,
Jatin Das and Ajoy Ghosh. In a series of dramatic actions in different parts of India, the
HSRA targeted some of the symbols of British power. In April 1929, Bhagat Singh and
Batukeswar Dutta threw a bomb in the Legislative Assembly. In the same year there was
an attempt to blow up the train that Lord Irwin was travelling in. Bhagat Singh was 23 when
he was tried and executed by the colonial government. During his trial, Bhagat Singh stated
that he did not wish to glorify ‘the cult of the bomb and pistol’ but wanted a revolution in
society:
‘Revolution is the inalienable right of mankind. Freedom is the imprescriptible birthright of
all. The labourer is the real sustainer of society … To the altar of this revolution we have
brought our youth as incense, for no sacrifice is too
great for so magnificent a cause. We are content. We await the advent of revolution. Inquilab
Zindabad!’

(OR)
B) ‘Print culture would bring enlightenment’ - Do you agree? Justify your opinion.

31. A) Analyse the table.
Year Primary Secondary Tertiary

2000 52,000 48,500 1,33,500

2013 8,00,500 10,74,000 38,68,000

(OR)
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B) Analyse the given graph.

32. A) State one prudential reason and one moral reason for power sharing with an example of
each of these.

(OR)
B) Explain the characteristics of a National party.

33. A) Locate the following in the given outline map of India.

1)  Malwa plateau   2)  Luni river   3)  Eastern Railway headquarter  4) Chilka lake

(OR)

5) Amaravathi 6)  Gujarat 7) Mumbai 8) Lakshadweep

B) Locate the following in the given map of world.

1) South Africa 2) Mediterranean sea 3) Brazil 4) Japan

(OR)

5) Mexico 6) Egypt 7) Russia 8)  ChinaSCERT, A
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S.S.C. Public Examinations
Model Paper - II   SOCIAL STUDIES

(TELUGU VERSION)

Time: 3 Hours 15 Minus.      Max Marks: 100

d�Ö#áq\T:
1. 3 >·+³\ 15 �$TcÍ\ýË, 15 �$TcÍ\T ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

2. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

3. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 33 ç|�Xø�\T �+&�TqT.

4. H�\T>·e $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±qT, #á¿£Ø>±qT s�jáTeýÉqT.

$uó²>·eTT - I 12×1=12eÖ

d�Ö#áq\T: 1.   n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.  ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.

1. ýËV�ä\T : |�Úq'#áç¿¡jáT+ :: ¥ý²È �+<ó�H�\T :  ___________.

2. »kÍ�ýÙ �dt �Ö«{¡|��ÚýÙµ |�Úd�ï¿±�� sÁº+ºq~ mesÁT?

3. n\Ö«$T�jáT+ @ eTT&� |�<�sÁ�+ qT+º ÔájáÖsÁeÚÔáT+~?

4. ç¿ì+~ �ºÌq ÈÔá\ýË Ôá|�ð>± ÈÔá|�]ºq <��� >·T]ï+#á+&�.

�|�ç&�¿ù kõsÁjáTT ̀  ¿£Þ²¿±sÁT&�T

mÂs�dt¼ ÂsH�H� ̀  ÔáÔáÇyûÔáï

�+ç&�jáÖdt Âs��H� ̀  #á]çÔá¿±sÁT&�T

�|�ç&�¿ù *dt¼ ̀  �]�¿£yûÔáï

5. jáT+> ́�³©� kÍ�|¾+ºq~ mesÁT?

6 �eÇ�&�q y�¿±«\qT d�ÂsÕq ¿±\ç¿£eT+ýË neTsÁÌ+&�.

i) yîTT<�{ì ç|�|�+#á jáTT<�Æ+

ii) ×s�¢+&�ýË �+>±Þ²<�T+|�\ ¿£sÁTeÚ

iii) rçe �]�¿£ eÖ+<�«+

iv) fÉ+&�sY �|dt¼ ýñ<� |�Xø�eÚ\ �|¢>·T

7. d�+¿¡sÁ� ç|�uó�TÔáÇ+ nq>±Hû$T?

8. � ç¿ì+~ y��ýË »»¬*¦+>́ ³TÂ><�sYµµ �|�&�¹sw�H� ç|�uó�TÔ�Ç�� ¿£*Ð �q� <ûXø+ @~?

m) jáTT.mdt.m _) ���d¼*jáÖ d¾) d¾Ç³̈s�¢+&� &�) �+&�jáÖ

9. �V�QÞø bÍ ¼̄ e«ed�� qT �sÁÇº+#á+&�.

10. ç|�|�+#á+ýË� $$<ó� <ûXæ\ýË� ç|�È\ Jeq ç|�eÖD²\T ýÉ¿ìØ+#á&��¿ì �|�jîÖ>·|�&û d�Öº¿£ _____.

11. u²sY ç>±|�t�|Õ #áÖ|�+&�. #îÕH� u¤eT�\T ̀ 70%, �ÔásÁ u¤eT�\T ` 30%

12. ç¿ì+<� �eÇ�&�q <ûXæ\qT çbÍ<û¥¿±qTkÍsÁ+ ÔáÖsÁTð qT+&� |�&�eTsÁÅ£� neTsÁÌ+&�.

�+&�jáÖ, jáTT.mdt.m, ÈbÍH�, ��|t¼
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$uó²>·eTT - II           8×2=16eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

13. K�È �<ó�]Ôá |�]çXøeTqT �sÁÇº+º, ÿ¿£ �<�V�²sÁD �eÇ+&�?

14. �ºÌq |�{²�� |�]o*+º, ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1.  �+~s�>±+Bó n+Ôás�̈rjáT $eÖH�çXøjáT+ m¿£Ø&� �+~?

2.  ¿£ý¿£Ô�ï ýË �q� n+Ôás�̈rjáT $eÖH�çXøjáT+ �|sÁT @$T{ì?

15. d¾\TØ eÖs�Z\ çbÍeTTK«ÔáqT $e]+#á+&�.

16. uó²sÁÔá �]�¿£ e«ed�� �|Õ 1929 H�{ì �]�¿£eÖ+<�«+ ç|�uó²y�\qT $e]+#á+&�.

17. ¹¿+ç<� C²_Ô� eT]jáTT s�h C²_Ô�\Å£� �<�V�²sÁD*eÇ+&�.

18. uó²sÁÔá<ûXæ�� ý�¿ì¿£ s�È«+>± #û�d @yîÕH� 2 s�C²«+>· ��+<ó�q\qT �|s=Øq+&�.

19. uó²sÁÔá<ûXø+�|Õ ç|�|�+N¿£sÁD ç|�uó²y��� Ôî\|�+&�.

20. $�jîÖ>·<�sÁT\ V�²Å£�Ø\�|Õ �H�<�\T s�jáT+&�.

$uó²>·eTT - III            8×4=32eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

21. n³M eT]jáTT eq«çbÍDT\qT d�+sÁ¿ì�+#û |�<�ÆÔáT\�|Õ eT+º y�«d�+ s�jáT+&�?

22. uó²sÁÔá<ûXø+ýË kåsÁXø¿ìï¿ì �ÈÇ\ uó�$w�«ÔáTï �+<�� MTsÁT m+<�TÅ£� nqTÅ£�+³TH��sÁT?
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23 �ºÌq |�{²�� |�]o*+º, ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1.  ÈsÁ�ú @¿¡¿£sÁDÅ£� sÁÖ|�¥*Î mesÁT?

2.  �eÇ�&�q |�³+ýË� @yîÕH� Âs+&�T d�eTTç<�\ �|sÁT¢ s�jáT+&�?

3.  |�³eTTýË <�¿ì�D+ yîÕ|�Ú �q� kÍçeÖÈ«+ �|sÁT @$T{ì?

4.  ÈsÁ�H� kÍçeÖÈ«|�Ú yîTT<�{ì #áç¿£e]ï mesÁT?

24. �dt¼ �+&�jáÖ ¿£+�|ú uó²sÁrjáT #ûHûÔá ¿±]�Å£�\ qT+&� �sÁ+Ôás�jáT+>± |�Üï, |�³T¼ e�kÍï\ kÍ<ó�sÁD

d�sÁ|��s�\qT mý² �d¿£]+º+~?

25. ç¿ì+~ ç>±|�tqT $Xâ¢w¾+#á+&�.

�ÔáïsÁ d�eTTç<�+
�d¢wt$>´

�VAýÙ dÓ¼H�

yîT¿ì¢H� �sYØ �dØ ÇsY�H�

ÔáT]+�jáTH�

s�çcÍ¼\T

V�²HÃesY

|�¥ÌeTb�Í*jáÖ

�V
²�d

àH
�qk

Íà

ÂsÕH�ý²+&�

ç�H�à $¿ù

�yû]jáÖ

u
²&

îH
�

eÂs
¼+�

sYZ
�çd¾¼jáTH�

kÍçeÖÈ«+

d¾©d¾jáÖ

bþCÉH�

çu²+&îH� �sYØ

bÍeT¹s�jáÖ |�¥ÌeT ç|�cÍ«

ÔáÖsÁTÎ ç|�cÍ«

u²*¼¿ù d�eTTç<�+

ç|
�cÍ

«

sÁw�«H�

kÍçeÖÈ«+

1866 ¿ì eTTqT|�Ú ç|�cÍ«

�çkþ¼ ` ç�|�cÍ« jáTT<�Æ+ýË 1866ýË �ç¿£$T+ºq$

1867 H�{ì ÈsÁ�H� d�eÖK«ýË ýñ� �çd¾¼jáTH� çbÍ+Ô�\T

1867ýË ÈsÁ�H� d�eÖK« @s�Î³T ¿=sÁÅ£� ç|�cÍ«ýË ¿£*d¾q$

1871ýË ÈsÁ�H� kÍçeÖÈ« @s�Î³T ¿=sÁÅ£� ç|�cÍ«ÔÃ

¿£*d¾q <�¿ì�D ÈsÁ�H� s�çcÍ¼\T.

1871 H�{ì çb�ÍHÃØ ç|�cÍ« jáTT<�Æ+ýË ç�|�cÍ« Â>*ºq$
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26. ç|�C²kÍÇeT« ç|�uó�TÔáÇeTT $T>·Ô� ç|�uó�TÔ�Ç\ ¿£+fñ �ÔáïeTyîT®q~. ç|�Xø+d¾+#á+&�.

27 d�>·³T qT m+<�TÅ£� �|�jîÖÐkÍïeTT? B�� �|�jîÖÐ+#á&�+ýË @yîT®H� |�]$TÔáT\T �H��jáÖ? n_óe�~Æ¿ì

d�+�+~ó+º MT kõ+Ôá �<�V�²sÁD rd�TÅ£�� $e]+#á+&�.

28. $�jîÖ>·<�\T mý² <Ã|¾&�¿ì >·Ts�Ô�sÃ $e]+#á+&�.

$uó²>·eTT - IV            5×8=40eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ �+~.

4. ç|�Xø� Hî+. 33 ýË uó²sÁÔá<ûXø eT]jáTT ç|�|�+#á |�³eTT\Å£� yûsÁTyûsÁT>± Èy��T\T >·T]ï+#áTeTT.

29. A) úsÁT |�ÚqsÁTÔ�Î<�¿£ eqsÁT>± mý² eÖsÁTÔáT+<Ã $e]+#á+&�.

(ýñ<�)

B) uó²sÁÔá<ûXø+ýË e«ekÍjáT+ jîTT¿£Ø çbÍeTTK«ÔáqT $e]+#á+&�.

30. A) �ºÌq �|s� #á~$ y�«U²«�+#á+&�.

� $|�¢e �*|ÓsÄ��¿ì yûTeTT eÖ jáTeÇH��� �V�QÜ#�ÌeTT.

#�ý² eT+~ C²rjáTy�<�T\T ç_{ìwty�]¿ì e«Ü¹s¿£+>± È]¹> bþs�³+ýË nV¾²+d� <�Çs� $ÈjáT+

kÍ~ó+#áýñeT� uó²$+#�sÁT. 1928ýË &ó�©¢ýË� |�¾sÃCÙcÍ ¿Ã³¢ yîT®<�q+ýË È]Ðq ÿ¿£ d�eÖyûXø+ýË

V¾²+<�ÖkÍ�H� kþw�*dt¼ ]|�_¢¿£H� �]� (HSRA) kÍ�|¾+#á�&�+~. <�� H�jáTÅ£�\ýË uó�>·ÔYd¾+>́, ÈÜH�<�dt,

nÈjYT�|�T²wt �H��sÁT. uó²sÁÔá<ûXø+ýË� $$<ó� çbÍ+Ô�\ýË È]Ðq H�³¿¡jáT |�]D²eÖ\ýË HSRA ç_{ìwt

n~ó¿±s��¿ì ç|�r¿£ýÉÕq y�{ì� \¿£�«+>± #ûd�T¿=+~. 1929 @ç|¾ýÙýË uó�>·ÔYd¾+>́, �³T¹¿XøÇsY <�Ô�ï Xæd�qd�uó��|Õ

u²+�T\T $d¾s�sÁT. n<û d�+eÔáàsÁ+ �]ÇH� ç|�uó�TeÚ ç|�jáÖDìd�Tïq� ÂsÕ\TqT �|*Ìyû�d+<�TÅ£� ç|�jáTÔá�+ #ûXæsÁT.

e\d� ç|�uó�TÔáÇ+ uó�>·ÔYd¾+>´qT $#�]+º �]rd¾q|�ð&�T nÔá� ejáTd�T 23 @Þø�ß. nÔá� $#�sÁD d�eTjáT+ýË

uó�>·ÔYd¾+>´ Ô�qT »»u²+�T, ÔáTbÍ¿ì d�+d�Ø�Ü�µµ �s�~ó+#á{²�¿ì �w�¼|�&�fñ¢<�ú ¿±ú d�eÖÈ+ýË $|�¢e+ s�y�\�

¿ÃsÁTÅ£�+³TH��qú �|s=ØH��sÁT.

»»$|�¢e+µµ eÖqy�[ qT+&� $&�BjáTýñ� V�²Å£�Ø. kÍÇÔá+çÔá«+ nHû~ n+<�]¿ì d�V�²ÈyîT®q Èq�V�²Å£�Ø. çXæ$TÅ£�&�T

d�eÖC²�¿ì �ÈyîT®q d�+sÁ¿£�Å£�&�T. � $|�¢e �*|ÓsÄ��¿ì yûTeTT eÖ jáTeÇH��� d�eT]Î+#�+.  �ý²+{ì ÿ¿£

eTV�²ÔáïsÁyîT®q ¿±sÁ«+ ¿Ãd�+ #û�d mý²+{ì Ô�«>·yîT®H� Å£L&� @eT+Ôá >=|�Î~ ¿±<�T. yûTeTT �ý²¢d�+>± �H��+.

$|�¢e+ s�¿£Â¿Õ �¯¿ì�d�TïH��+. �+¿ìÇý²uÙ �+<�u²<�

(ýñ<�)

B) eTTç<�D² d�+d�Ø�Ü #îÕÔáH�«�� rd�TÅ£�ed�Tï+~. ̀  B�ÔÃ MTsÁT @¿¡uó�$kÍïs�? MT n_óçbÍjáÖ�� d�eT]Æ+#áT¿Ã+&�.

31. A) |�{ì¼¿£qT $Xâ¢w¾+#á+&�.

d�+eÔáàsÁ+ çbÍ<̧�$T¿£ ~ÇrjáT Ôá�rjáT

2000 52,000 48,500 1,33,500

2013 8,00,500 10,74,000 38,68,000
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(OR)
B) �eÇ�&�q ç>±|�t qT $Xâ¢w¾+#á+&�.

32. A) uó²sÁÔá<ûXæ�� <��w¾¼ýË �+#áT¿=� n~ó¿±sÁ $uó�ÈqÅ£� d�+�+~ó+ºq ÿ¿£ d�eTTºÔá ¿±sÁD²��, ÿ¿£ HîÕÜ¿£

¿±sÁD²�� �|s=Ø� ç|�Ü<��¿ì ÿ¿£ �<�V�²sÁD �eÇ+&�.

(OR)

B) C²rjáT bÍ ¼̄ jîTT¿£Ø \¿£�D²\qT $e]+#á+&�.

33. A) � ç¿ì+~ y�{ì� �eÇ�&�q uó²sÁÔá<ûXø neÚ{Ù ýÉÕH� |�³+ýË >·T]ï+#á+&�.

1) eÖÞ²Ç |ÓsÄÁuó�Ö$T 2) \Öú q~ 3) ÔáÖsÁTÎ ÂsÕýñÇ ç|�<ó�q ¿±s�«\jáT+  4) ºý²Ø d�sÁd�Tà

(OR)

5) neTs�eÜ 6) >·TÈs�ÔY 7) eTT+u²sTT 8) \¿£�BÇ|t

B) � ç¿ì+~ y�{ì� �eÇ�&�q ç|�|�+#á |�³+ýË >·T]ï+#á+&�.

1) <�¿ì�D²ç|�¾¿± 2) eT<�«<ó�s� d�eTTç<�+ 3) çuÉ�ýÙ 4) ÈbÍH�

(OR)

5) yîT¿ìà¿Ã 6) ��|t¼ 7) sÁcÍ« 8) #îÕH�SCERT, A
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S.S.C. Public Examinations
Model Paper - III   SOCIAL STUDIES

(ENGLISH VERSION)

Time: 3 Hours 15 Minus.      Max Marks: 100

Instructions:
1. In the duration of 3 hours 15 minutes. 15 minutes of time is allotted to to read the question paper.
2. All answers shall be written in the answer booklet only.
3. Question paper consists of 4 sections and 33 questions
4. Internal choice is available in section IV only
5. All answer shall be written neatly and legibly.

SECTION - I 12x1=12M

Note: 1.   Answer all the questions.
2.  Each question carries 1 Mark.

1. Give any one example of renewable resource.

2. Which soil is ideal for growing cotton?

3. Which one of the following industries uses bauxite as a raw material?

a) Alluminium b) Cement c) Paper d) Steel

4. Choose the odd one out.

Mazzini, Cavour, Bismark, Garibaldi

5. Expand  IBRD.

6 Germany : Axis power : : Britain : ____________.

7. What is Federalism?

8. ____________ was the first state created on the basis of language.

9. What is “Manifesto”?

10. A company that owns or controls production in more than one nation is called ____________.

11. Show on a bar graph.

Employment

Primary Sector - 44%

Secondary Sector - 25%

Tertiary Sector - 31%

12. Name the Eastern most country from the given list.

Mexico, USA, China, India
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SECTION -II           8x2M =16M

Note: 1. Answer all the questions.

2. Each question Carries 2 marks.

13. Explain the importance of manufacturing industries.

14. What are the means of transportation and communication called the life line of national
economy?

15. Observe the map and answer the following question.

1. Name the Island in the Indian Ocean?

16. “It is difficult to imagine a world without printed material”. - Comment.

17. Make a table that shows central, state and concurrent lists.

18. Mention the problems faced by the women, today.

19. Give some examples where factors other than income are important aspects of our lives.

20. What precautions should be taken by a consumer before purchasing a product?

SECTION-III            8x4M=32M

Note: 1. Answer all the questions.

2. Each question Carries 4 marks.

21. Why is biodiversity important for human lives?

22. Why do we need to conserve mineral resources?
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23 Observe the map and answer the following questions.

1.  What is the sea between the Europe and Africa?
2.  Name the biggest empire in this map?

24. Explain about "Proto - Industrialisation."

25. Analyse the graph.

26. "Democracy can't reduce inequality of incomes between different citizens." Support or
Oppose your answer.

27 Why is the issue of sustainability important for development?

28. Mention a few factors which cause exploitation of consumers.
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SECTION-IV            5x8M=40M

Note: 1. Answer all the questions.

2. Each question carries 8 Marks.

3. Each question has internal choice.

4. In question no: 33 both A and B (India Map and world Map) should be answered
    seperately.

29. A) Explain the importance of water resources.
(OR)

B) Describe geographical conditions required for the growth of Rice.

30. A) Read the paragraph and comment on it.

Dr B.R. Ambedkar, who organised the dalits into the Depressed Classes Association in
1930, clashed with Mahatma Gandhi at the second Round Table Conference by demanding
separate electorates for dalits. When the British government conceded Ambedkar’s demand,
Gandhiji began a fast unto death. He believed that separate electorates for dalits would
slow down the process of their integration into society. Ambedkar ultimately accepted
Gandhiji’s position and the result was the Poona Pact of September 1932. It gave the
Depressed Classes (later to be known as the Schedule Castes) reserved seats in provincial
and central legislative councils, but they were to be voted in by the general electorate. The
dalit movement, however, continued to be apprehensive of the Congress-led national
movement.

(OR)
B) "Some people in 18th century Europe think that print culture would bring enlightment."

comment.
31. A) What are the different forms of power sharing in modern democracies? Give an example

of each of these.
(OR)

B) What are the various challenges faced by political parties?

32. A) Analyse the graph

(OR)
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B) Observe the pie graph and analyse it?

33. A) Locate the following in the given outline map of India.

1)  Mumbai 2) Jammu 3) Jamshedpur 4) Goa

(OR)

5) Kerala 6) Bihar 7) Delhi 8) Arabian Sea

B). Locate the following in the given map of world.

1) Italy 2) South Africa 3) Belgium 4) Germany

(OR)

5) Nigeria 6) Pacific Ocean 7) Norway 8) Pakistan
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S.S.C. Public Examinations
Model Paper - III   SOCIAL STUDIES

(TELUGU VERSION)

Time: 3 Hours 15 Mins.      Max Marks: 100

d�Ö#áq\T:
1. 3 >·+³\ 15 �$TcÍ\ýË, 15 �$TcÍ\T ç|�Xæ�|�çÔá+ #á<�TeÚ³Â¿Õ ¹¿{²sTT+|��&�q~.

2. n�� d�eÖ<ó�qeTT\T MT¿ìeÇ�&�q d�eÖ<ó�q|�çÔá+ýËHû s�jáTeýÉqT.

3. � ç|�Xæ�|�çÔá+ýË 4 $uó²>±\T eT]jáTT 33 ç|�Xø�\T �+&�TqT.

4. H�\T>·e $uó²>·+ q+<�T >·\ n�� ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ ¿£\<�T.

5. n�� d�eÖ<ó�qeTT\T d�Îw�¼+>±, nsÁ�eTjûT«ý² s�jáTeýÉqT.

$uó²>·eTT - I 12×1=12eÖ

d�Ö#áq\T: 1.   n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2.   ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ.

1. |�ÚqsÁTÔ�Î<�¿£ eqsÁT\Å£� ÿ¿£ �<�V�²sÁD�eTT�.

2. @ Hû\ ç|�Üï kÍ>·TÅ£� nqTÅ£L\yîT®q~?

3. � ç¿ì+~ y�{ìýË @ |�]çXøeT u²Â¿Õà{Ù qT eTT&�d�sÁTÅ£�>± �|�jîÖÐd�Tïq�~?

m) n\Ö«$T�jáT+ _) d¾yîT+{Ù d¾) �||�sY &�) �Å£�Ø

4. _óq�yîT®q <��� >·T]ï+#á+&�.

eÖ�ú, ¿£ePsY, _kÍ�sYØ, >±]u²©¦

5. IBRD qT $d�ï]+#á+&�.

6 ÈsÁ�ú : n¿£�s�È«+ : : ç_³H� :____________.

7. d�eÖK«y�<�+ nq>±Hû$T?

8. uó²cÍ çbÍÜ|�~¿£q @sÁÎ&�q yîTT<�{ì s�h+ ____________.

9. »»eÖ«��|�kþ¼µµ nq>± @$T?

10. ÿ¿£ <ûXø+ ¿£H�� mÅ£�Øe <ûXæ\ýË �ÔáÎÜï� #û|�fñ¼ ýñ<� �jáT+çÜ+#û d�+d��\qT ____________ n+{²sÁT.

11. u²sY ç>±|�t�|Õ #áÖ|�+&�.

    �bÍ~ó

çbÍ<¸�$T¿£ sÁ+>·+ ` 44%

~ÇrjáT sÁ+>·+ ` 25%

Ôá�rjáT sÁ+>·+ ` 31%

12. ç¿ì+<� �eÇ�&�q C²_Ô�ýË @ <ûXø+ n��+{ì ¿£H�� ÔáÖsÁTðq �+~.

yîT¿ìà¿Ã, jáTT.mdt.m, #îÕH�, uó²sÁÔá<ûXø+
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$uó²>·eTT - II 8×2=16eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T.

13. �Ô�Î<�¿£ |�]çXøeT\ çbÍeTTK«ÔáqT $e]+#á+&�.

14. sÁy�D², ç|�kÍsÁ kÍ<ó�H�\qT <ûXø �]�¿£ e«ed��Å£� JeH�&�T\� m+<�TÅ£� |¾\TkÍïsÁT?

15. ç¿ì+~ |�{²�� |�]o*+º, ç|�Xø�Å£� d�eÖ<ó�q+ s�jáT+&�.

1. V¾²+<�Ö eTV�ä d�eTTç<�+ýË >·\ B$ �|sÁT Ôî\|�+&�?

16. »»eTTç~Ôá d�eÖ#�sÁ+ ýñ� ç|�|�+#��� }V¾²+#á&�+ ¿£w�¼+µµ. y�«U²«�+#á+&�.

17. ¹¿+ç<�, s�çw�¼, �eT�&� C²_Ô�\qT d�Öº+#û |�{ì¼¿£qT ÔájáÖsÁT #ûjáT+&�.

18. Hû&�T eTV¾²Þø\T m<�Ts=Ø+³Tq� d�eTd�«\qT �|s=Øq+&�.

19. eTq J$Ôá+ýË �<�jáT+ ¿±¿£ eTTK«yîT®q �ÔásÁ n+Xæ\Å£� �<�V�²sÁD*eÇ+&�.

20. ÿ¿£ ed�TïeÚqT ¿=quËjûT eTT+<�T $�jîÖ>·<�sÁT&�T rd�T¿Ãe\d¾q C²ç>·Ôáï\qT Ôî\|�+&�.

$uó²>·eTT - III            8×4=32eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T.

21. eÖqe J$Ô�\Å£� Je yîÕ$<ó�«+ m+<�TÅ£� eTTK«yîT®q~?

22. eTq+ K�È eqsÁT\qT m+<�TÅ£� d�+sÁ¿ì�+#áT¿Ãy�*?
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23 �ºÌq |�{²�� |�]o*+º, ç¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1.  jáTÖsÁ|t eT]jáTT �ç|�¾¿± K+&�\ eT<ó�« >·\ d�eTTç<�+ @~?

2.  � |�³+ýË� �|<�Ý kÍçeÖÈ«+ �|sÁT Ôî\|�+&�?

24. çbõ{Ë bÍ]çXæ$T¿¡¿£sÁD qT $e]+#á+&�.

25. �ºÌq u²sY ç>±|�tqT $Xâ¢w¾+#á+&�.

26. »»$$<ó� båsÁT\ eT<ó�« �<�jáT nd�eÖqÔá\qT ç|�C²kÍÇeT«+ ÔáÐZ+#áýñ<�T.µµ B�� d�eT]Æd�Öï ýñ<�

e«Ü¹s¿ìd�Öï ú d�eÖ<ó�q+ s�jáT+&�.

27 d�Td¾�sÁÔá nHû n+Xø+ n_óe�~ÆýË m+<�TÅ£� eTTK«yîT®q~?

28. $�jîÖ>·<�sÁT\ <Ã|¾&�¿ì ¿±sÁDeTjûT« ¿=�� n+Xæ\qT �|s=Øq+&�.
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$uó²>·eTT - IV            5×8=40eÖ

d�Ö#áq\T: 1. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

2. ç|�Ü ç|�Xø�Å£� 8 eÖsÁTØ\T.

3. ç|�Ü ç|�Xø�Å£� n+ÔásÁZÔá m+|¾¿£ �+~.

4. ç|�Xø� Hî+. 33 ýË uó²sÁÔá<ûXø eT]jáTT ç|�|�+#á |�³eTT\Å£� yûsÁTyûsÁT>± Èy��T\T >·T]ï+#áTeTT.

29. A) ú{ì eqsÁT\ çbÍeTTK«ÔáqT $e]+#á+&�.

(ýñ<�)

B) e] |�+³ �|sÁT>·T<�\Å£� nqTÅ£L*+#û uó�>Ã[¿£ |�]d¾�ÔáT\qT $e]+#á+&�.

30. A) �ºÌq �|s� #á~$ y�«U²«�+#á+&�.

1930ýË <�[ÔáT\qT  nD>±]q ÔásÁ>·ÔáT\ d�+|��T+>± @s�Î³T #ûd¾q &�. _.�sY n+uñ<�ØsY, Âs+&�e

s�+&� fñ�TýÙ d�eÖyûXø+ýË <�[ÔáT\Å£� ç|�Ôû«¿£ �jîÖÈ¿£ es�Z\T ¿±y�\� >±+BóÔÃ |��TsÁüD |�&�¦sÁT.

n+uñ<�ØsY &�eÖ+&�qT ç_{¡wt ç|�uó�TÔáÇ+ n+^¿£]+#á&�+ÔÃ >±+BóJ �eTsÁD �s�V�äsÁ B¿£� çbÍsÁ+_ó+#�sÁT.

<�[ÔáT\Å£� ç|�Ôû«¿£ �jîÖÈ¿£ es�Z\T ¹¿{²sTT�dï y�sÁT d�eÖÈ+ýË ¿£*d¾bþjûT ç|�ç¿ìjáT HîeT�~>±

ÈsÁT>·TÔáT+<�� �jáTq $XøÇd¾+#�sÁT. ºesÁÅ£� >±+BóJ n_óçbÍjáÖ�� n+uñ<�ØsY n+^¿£]+#�sÁT. <��

|��*ÔáyûT 1932 �d�|¼+�sÁT H�{ì |�PH� ÿ&�+�&�¿£. �~ nD>±]q es�Z\Å£� (ÔásÁTy�Ôá �w&�Ö«ýÙ¦

Å£�ý²\T>± |�]>·Dì+|��&�+~) çbÍ$H�à\ýËqÖ, ¹¿+ç<� Xæd�qd�uó�\ýËqT ç|�Ôû«¿£ dÓ³T¢ ¹¿{²sTT+º+~.

¿±ú y�]¿ì  kÍ<ó�sÁD z³sÁT¢ z³T yûjáÖ*. @~ @yîT®q|�Î{ì¿ì <�[Ôá �<�«eT+ ¿±+çÂ>dt HûÔá�ÔáÇ+ýË�

C²rjîÖ<�«eT+ |�³¢ �+<ÃÞøq #î+<�TÔáÖHû �+~.

(ýñ<�)

B) »»18 e XøÔ��Æ|�Ú ×sÃbÍýË� ¿=+<�sÁT e«Å£�ï\T eTTç<�D² d�+d�Ø�Ü #îÕÔáH�«�� rd�TÅ£�ed�Tï+<��

uó²$+#�sÁT.µµy�«U²«�+#á+&�.

31. A) �<ó�T�¿£ ç|�C²kÍÇeÖ«\ýË n~ó¿±sÁ $uó�Èq jîTT¿£Ø $$<ó� sÁÖbÍýñ$? ÿ¿ÃØ <��¿ì ÿ¿ÃØ �<�V�²sÁD

�eÇ+&�.

(ýñ<�)

B) s�È¿¡jáT bÍ ¼̄\T m<�Ts=Ø+³Tq� $$<ó� sÁ¿±\ d�y�Þø�ß @$T{ì?

32. A) u²sY ç>±|�t qT $Xâ¢w¾+#á+&�.
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(ýñ<�)

B)

�|Õ #ó�sÁT¼qT |�]o*+º $Xâ¢w¾+#á+&�.

33. A) � ç¿ì+~ y�{ì� �eÇ�&�q uó²sÁÔá<ûXø neÚ{Ù ýÉÕH� |�³+ýË >·T]ï+#á+&�.

1) eTT+u²sTT 2) ÈeTÖ� 3) È+�w&�|�PsY 4) >Ãy�

(ýñ<�)

5) ¹¿sÁÞø 6) ;V�äsY 7) &ó�©¢ 8) n¹s_jáÖ d�eTTç<�+

B) � ç¿ì+~ y�{ì� �eÇ�&�q ç|�|�+#á |�³+ýË >·T]ï+#á+&�.

1) �³© 2) <�¿ì�D²ç|�¾¿± 3) uÉ*j̈áT+ 4) ÈsÁ�ú

(OR)

5) HîÕJ]jáÖ 6) |��d¾|�¾¿ù eTV�äd�eTTç<�+ 7) H�¹sÇ 8) bÍ¿ìkÍïH�SCERT, A
P
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